Planetary Gear Reducer
’/f_.l_-’_:-E;JEE \a:_{ *J-L Ver: 09/2019

@ SERLLFIEME  Multiple speed ratio and high efficiency

@ M ZEARFA/N  Compact and small in size

@ ZHEFFAIRE/E  Smooth running, low noise

® FATELEGEK  Reliable use, long service life



NGDA INSTRUMENTS §

HAAR—REWVEFTERRBENNSZAELT, RNABZIEBIZORAK
HP\FIEH N TiIRE, B U BSHRINGETTZRE, NEXMIREREER,
AR BRERARLHESHEBZRBNN R, AR ECECEES
EN. FUREAL. TIBINAL . RITH. IKIB. AL, SR BR R AFED
e, IIREF I

TEEREENERMT. =2, BifE. 88, A+ Kx. ELFERI
BEMER. ZHDBIX, FHR AR ARIEAR R AR, ALY REISKE RN,
BFRERAE!

EMN—RFAM@REAEWRER, FERTARM, BEAD. RNBOTFEENRE
FPAR LR TILABRNME. MREBEZEROEWFEMEN.

O HLOOO

CONTENT

=

e E- Y]

Helical teeth series

8~71

BHiERS
Straight teeth series

72~125

RIEP N R IREN RS

Spiral bevel teeth series

126~152



BER / == 2450 PRODUCTS FEATURES

{o} PR {0} PRSI
{é} PRODUCTS FEATURES @ PRODUCTS FEATURES
RETERRRENERATIBEMEANF—KTANTR, BETERIIMEHNER, BGUT—EEEEA:
1. {EEE: {&F 65db
2 REM: BRONX 3MAA, WKIX 5 [MAA
3. BWME: BRAKE 95% ML, WRITE 92% Ll E

4. SEINEEE: TTiX 8000RPM

5. S —RAIRETERENRES
p—— 6. BRREM: XASREASNY, BERNRAEAMLE, FRBEXEEL, BHEEAESOREBERNESERTNEE
— 7. BRURE : RBEAAIRI, TEEEUAERES, EHOiA 1/1000 AL

FF ANSYS BA R EHTAIRTIN,
B EEFEERRSEEE, DURRERH
BHMEMES, BNELRNERSS

WRMHEARRESN, Sk - FHLB0E,
MRS B LR R BRI i M

Precision planetary gear reduce is a new-generation of product developed by our company,with a compromise of
advanced technology both at home and abroad,its main features are as follows:

1. Low Noise: Under 65db.

ZPB Z51 A%

. Low Backlash: Backlash is under 3 arcmin.Backlash for 2-stage speed reduction is within 5 arcmin.

. High Efficiency: Efficiency for 1-stage model exceeds 95% ,For 2-stage model exceeds 92%.

. High Torque: Higher torque output than that of conventional planetary gear reducers.

2
3
4. High Input Speed: Input speed allows for up to 8000 RPM.
5
6

. High Stability: Employs high tensile strength alloy steel. Gear hardening is made for the entire gear instead of only surface

hardening,which extends gear service life and maintain high accuracy as new after a long period of operation.
RPTERRA—MAI (X)) HEMIRIT,
BIRHAXRBES M THEERN, KRR EN—
BRREE, URERRSHHZERIEREE

7. High Speed Reduction Ratio: The gear reducer is a modular deign.The planetary gear box can be connected.Speed reduction ratio is
over 1/1000.

{o} FERAE
PRECISION USAGE

BETEARBENB ZNATATIRE:
1 MEmX. BEFEL

WESHHRARA AR, RARERR
#, ZRBETE, NTIRERSNENZE,
— ORI RERIEF A NLAR T —REM T
B, SHERARN., XREXFEMBLEFTE
EHEERE

WMANHSH 2R ERA—RERT, RFex
Wofm, XEHFENEE, B RBREE
NG, BRI MERNITE, LHASEHE
EEERNMNEE,

2. BFB&E. BEIEREAT
3. TUHEEA . EFBEE. HIEHURENEF W
4 RFEFNE. R, HR. Bm. BE. FMRIE. SRSl

Precision Planetary Gear Reducer is widely used in the following

domain:

1. Aerospace, military industry.

2. Medical health. electronic information industry.

3. Industrial robots, Production automation, CNC machine tool manufacturing
industry.

4 .Motor, textile, printing, food, metallurgical, environmental protection

engineering, warehouse logistics industr.



¥R / 5585 X0 EAMLS Base concepts of precision planetary gear boxes

TonNm] RRAVSESE GELT/ES]) TJRUNIRAAE (RER) , RENHEAHIGS, Z2RH

Ratio JRELL Input speed/Output speed 4 45 i3 bt _E N\ 553
BIEMARGE BRI ERE, ERENSBNEEREE, WRRESBNERER. APTPHNSERAEREEREREN 20°CH
ni[rpm] FHETUEN., MREEERSNERERE N1
f;?:‘rﬁjlz BWHEERRBTIAEIWALE n, FIENEL i THELER: ny=n,/i
The number of set of planetary gear.Oweing to one set planetary gear can’ t satisfy bigger transmission ratio, two or
Poles three sets can meet Users, equirements of bigger transimission ratio. Since increasing the gear quantity .the length of
BB t/v_vo or three pgles moto wﬂl increase qccgrdlngly, of cgurse,the efficiency will rﬂjuce gﬁ:cordmgly.* ) n
FTEERNEYN., BT ETESRLTERERANENL, GNFERERE=ZEXRHEAFPNRAENLHFZR, B
2, HELEAR REEL ., HFENTITESRNEE, FIUAZRAE=REAENNKESFRIEM, RELSGRTE,
Efficiency If refers to the gearing efficiency of the gearboxes in the case of the largest load.
{ETHM R BESERRERT, RENMNERNE, RELBEX, REES, JEUE,

Average lifetime

Refers to the continuous working time of the gearboxes of the highestinputrev.

FE95Ew BHENEFERAE T, MEBARRIBENHIELTIERE.
In high-speed reciprocating mechanical movement achieve precise positioning is the key to minimizing the movement
Precise through the angular deviation, positioning accuracy depends on the two values, with a load of the deflection angle,
itionin involving a return to space with torsion stiffness ,and the other is control of the movement and rotation angle, involving
9.9?! : g partial synchronization the problem worse.
ERIREE EEENRE SR PHERREANXRETREANETEN - ENARE, BORERATRM, — A R5NES
XWREA, PREERERNARRNE,; B— 1 2EEfEXNRER, PREBDSREDR,
g
BEVAEHSAANRNREARE
Backlash fa, MBECGEREABEEE,
B e REEREMBANENNE—ENE
=HREREER (2%T2N) , ASEAREIENL BT
7B,
@larcmin]
IRTFHA RN 715 HIRUEN BN Co= 2T
B, BiRNBRIRE L, RN a9 a0
SRHENBMAIREEE, AEER 4 (7 | |
HIE BRI NMER 7T D B L N
J\Eﬁﬂgﬁ B T2B R ARMHEE, HmEL EEH, - - — - 50% 100%
BA—RLETHENRER, BEH ™ ' - Tl
&R —RAMAHE, NhTTtE "
HIREMHIEIRZERR (j,) RN
JE (C(21) o .w[arcmi"]
(RitHLR)
Inertia Moment of the rotary inertiain this description refers to that at the input terminal. Said an object strive to maintain their
R rotational state (or a stationary of rotating) characteristics of a value.

KABBPNZEDERAR. RR—TWERRERSECEINRT (HEILHE) FEN—NME.

The proportion of
inertia

Refer to the ration of load inertia and inertia drive system(motor with gearbox). This ratio determines the controllable
of the ) value, the greater is the moment of inertia greater margin, high-dynamic action on zhe more difficult process of
precision control, The values can be control in 5, gearboxes can be used to reduce load 1/i2.

?_’ﬁ‘-‘ﬁ\ﬁq .':]I:.'?HiE S=1,ZPB142 PATHE, EiLF A 20000 /N\EF: zPB180 DA EAHAEIEILES A 10000 /NGT: T, EESF ISODP6336 5%
- Fk 5 1SO281 BRI,
A S TAE ARG/ ST 1000 RETA VG EMAEISHBORANE, TEBRSANAT 1000 XH, AERGEEE,
[Nm] RS A TSR N — AR, SIERAPMENEMINT T, BULEEHENNES.
5 1 44 SRR P A B A IS, A ETEREHS S BN 1000 %, HXIREERIT 1000 K (&5: ZPF160/
[Nm] ZPB142 LN TFHLER Toor=2T,s ZPB180 LA EMAELA T,opor=1.5T,s)
=R HE NS B R L 0 A SRR AL A B 6.
To12[NmM]
.’;f"*mﬂﬂﬂ;ﬁ SRR S R AR SR T RS IR e, BRI ERR B AR,
2B
ﬁ‘ﬁﬂ]ﬁ*ﬂﬁﬁ AT A AR TR, BN ATEIE T, AFA T MIE,
2
}Jr%\’f’nffﬁﬁ AT RENATRAE, TSR EIE T, RS L, B TARES T,aT T,
Cc2
fufiase NIRRT SR L RS A A0S, EHEARN © My [Fa'y,+F*(Xp42,)] /1000
[Nm] 2] 1= B LR AR L1M7 R o HIrEWILY © okmax= LF&TYo+ " (Xo+Z,
wWiEh SIETEFRON—T, EHEESSHEMEE—RORARE (V,) 5, SEA— A SUEEAE, WENBI
Fa[N] AFROTEERN, ARSI S,
& EEEAATHAN—N, EETTFREE, COEAASHSE—SNHAES (%) . EASR—MIHE, BEH
FrIN] WH— S,

. SRR KBS 0 i AR IRARE. WE SRR AT T AR RS,
ggggﬁﬁ 7 SRR DA U 0 B A0 B S B R 6975 0 I 8 i 25 (8D 1/2L 4 ) B0 . S4B TR A, BRI S

SAFERREREA; AR, ERSNHELE, AENERREREN.,

fé’?“ﬁ e RHETRENNTEHANES SHINEYLE.
fERRM ERARSEMRENNNARE, CERNMENNASEAR0EE TANE
f1 A IR FE, BEEE R Es (=3 18},
BRI C,, S ST A 2 B ERE N . Com T/ CRBEE RS KNI SRR s, MR
[Nm/Arcmin] SR, A E EREEEE T28 01 50% 5 100% XAEE, EXAEEN, HATERS—SES,
e HENGAEUR SN SHENEERE (BAREAREENEER) | BEENEER, BUEAABEIRENRE
[Nm] HIE,

=114 REAHBESENRRRE (BHMLEERN) ZENLKE, XNMUERETRZENTEE, MEEX, BHEETED
BEEZEEX, SHSNMESEMBESRIZT, BWRTEEAMERHIE < 5, BRETIERRIRERK 1/i2,

Noise The unit is decibel(dB), The value is measured when the input rev is 1500~3000r/m without load and at the distance of

B one meter from the gearboxes.

= BAEAN (dB) ., LHEZEBAEEN 1500~3000 # / 0, RA#HA, EEREN—KEBMNEN.
_ Operating temp/ T{EIRE°C -10° C~+90° C

Ope(;'_‘"t‘j“ng Degree of protection/ 1P 4% IP65

?Fﬁ;%lﬁs Lubrication/ jigi& Life time lubrication/ 3088, B MLABALERFNDER
Mounting position/ R% 5=, Any/ &

5

Special Notice

BRER

You can only refer to the input terminal dimension given in this book, special dimension is depend on the shaft extension
terminal of chosen motor,practical object ' s dimension will be difference with these in book,the practical is depend on the
finished product, the output terminal dimension is according to these given in this book if not sign.

The weight of reduce motor given in this book is approximation,the practica is depend on the finished product .
ABALHNAERENMAGRTRESE, BERRITEEREBNNBBHERTRE, BEIWINERTSRFREMER,
RIPAITIE S mBE BN, ERBFKRE RS TRETEE Him R UARB R,
ABLEHNMBRENESAELE, IREEUAIYHE, BPERZGEBERIR,




BEiR / %Ra3 800 Coding rules

FmAGIEIR L s ..
ZPB, ZPBR, ZPD, | | | R . Win L mmgs

3,4,5,7,10, S1¥BEH

.
AR I LY  swmme PURREESR Hﬂ'lﬂﬂ' tﬂﬂth
ZPE, ZPER - |

— R S— series

SERT  mmBE
42, 60, 90, 115, 142, .| PLERMR
180, 220, 280, 330 L P2 iR

ikAEH: ZPB90-20-S2-P1-BCH1304N11A
R ZPB BUREANEISMR (ERi0EK) 2 90, &k 20, HEHEE, BENE, BLHMEME BCH1304N11A B ? §IJ
N

HIL

ZPB series
=5

ZPBR series
#5

ZPD series
EX7]

ZPDR series
#5

ZPF series
#5

ZPFR series
£51

ZPE series
EX7]

ZPER series
#5




2

PiE / ZPB X5 / #1R Si5% / ZPB X751 /!

TEES A

Z P B {o} ZPB Z %t #3% / ZPB Series Performance Table
SERIES

%5 ! ##& Model BA{Y Unit T5%# Stage IMELL Ratio ZPB042 ZPB060 ZPB090 ZPB115 ZPB142 ZPB180 ZPB220
m R
o 3 20 35 130 208 342 588 1140
N 4 19 50 140 290 542 1050 1700
5 22 60 160 330 650 1200 2000
1 6 20 55 150 310 600 1100 1900
7 19 50 140 300 550 1100 1800
1 8 17 45 120 260 500 1000 1600
10 14 40 100 230 450 900 1500
12 20 55 160 290 542 1050 1700
15 20 55 140 208 342 588 1140
e 16 20 55 140 208 342 588 1140
Rated output torqueT2N Nm
ated output torque 20 19 50 140 290 542 1050 1700
25 22 60 160 330 650 1200 2000
= 30 20 55 150 310 600 1100 1900
2 35 19 50 140 300 550 1100 1800
40 17 45 120 260 500 1000 1600
50 22 60 160 330 650 1200 2000
60 20 55 150 310 600 1100 1900
70 19 50 140 300 550 1100 1800
17 45 120 260 500 1000 1600
100 14 40 100 230 450 900 1500
aE e )
Emergenc:; Lté%’x’t%rqueTZNOT Nm 12 3-100 ={EFEBE S14E / Triple rated output torque
HE e
FERMAKE 12 3-100 5000 5000 4000 4000 3000 3000 2000
Rated input speed N,y
= N rom
BRBAKE 1,2 3-100 10000 10000 8000 8000 6000 6000 4000
Maximum input speed 1,z
1 3-10 <3 <3 <3 <3 <3 <3 <3
Ay BEER h
Hb!l:""'ﬁ“ FUTURE Precision backlashP1 aremin
2 12-100 <5 <5 <5 <5 <5 <5 <5
I
HERE Nm/aremin 12 3-100 3 7 14 25 50 145 225
Torsional rigidity
(= IS 2T IR
® REHIEIZERR FiFEEN N 1,2 3-100 780 1530 3250 6700 9400 14500 50000
L Allowable radial force F,,q
® SHIHENIME BV S
Allowable axial force F N 1,2 3-100 390 765 1625 3350 4700 7250 25000
® RS
% hrs 12 3-100 20000
® YR Sevice life '
= - 0,
® KB sk y 1 3-10 >97%
N Efficiency ’
® SHEEIEB R4 2 12-100 294%
== 1 3-10 0.6 1.3 37 7.8 145 29 48
=2 kg
Gross weight 2 2-100 0.8 4 9 33 60
1.Extremely low-backlash 21 : 15 = 1rs
2.Highest torsional rigidity '1Eﬁﬁiﬂr§ °c 1,2 3-100 -10° C~90° C
Working temperature
3.Extremely output torque a3
4.High efficiency Lub'ri(;:ﬁng 12 3-100 SR8 A / Synthetic lubricating grease
‘ IR
5.Low noise IP Grade 12 3-100 IP65
6.Maintenance-free grease lubrication AT N o
Installation direction 12 3-100 {FE751E / In any direction
1238 (n1=3000rpm, K% )
Noise level (111=3000rpm,off load) dB 12 3-100 <60 <63 <65 <68 <70 <73 <75




HE¥ / ZPB 27 / MBS

& ®EEE Helical Tooth with Moment of Inertia

M Model

BaiRE J,

BA{S Unit

kg.cm?

T# Stage RMIRLL Ratio ZPB042 ZPB060 ZPB090 ZPB115 ZPB142 ZPB180 ZPB220

3 0.03 0.16 0.61 3.25 9.21 28.98 69.61

4 0.03 0.14 0.48 2.74 7.54 23.67 54.37

5 0.03 0.13 0.47 271 7.42 23.29 53.27

1 6 0.03 0.13 0.45 2.65 7.25 22.75 51.72
7 0.03 0.13 0.45 2.62 7.14 22.48 50.97

8 0.03 0.13 0.44 2.58 7.07 22.59 50.84

10 0.03 0.13 0.44 2,57 7.04 22.51 50.63

12 0.03 0.03 0.13 0.47 271 7.42 23.29

15 0.03 0.03 0.13 0.47 271 7.42 23.29

16 0.03 0.03 0.13 0.47 271 7.42 23.29

20 0.03 0.03 0.13 0.47 271 7.42 23.29

25 0.03 0.03 0.13 0.47 271 7.42 23.29

30 0.03 0.03 0.13 0.47 271 7.42 23.29

2 35 0.03 0.03 0.13 0.44 271 7.42 23.29
40 0.03 0.03 0.13 0.44 271 7.42 23.29

50 0.03 0.03 0.13 0.44 2.57 7.03 22.51

60 0.03 0.03 0.13 0.44 2.57 7.03 22.51

70 0.03 0.03 0.13 0.44 2,57 7.03 22.51

80 0.03 0.03 0.13 0.44 2,57 7.03 22.51

100 0.03 0.03 0.13 0.44 2.57 7.03 22.51

11

P& / ZPB K7 / AMNE SRS

ZPB042-L1 4MEE Profile

D2 26 0.5 042
£ ,.‘\43\6 5.5 4 15 Iy 95

¢ %v 1 - — =

& K T /@/ @\
/ \ f— \\\_

/ § | &= g{ g
\ N / 7 il £ Q
\ /
10 \
g s . S g
40348 \Q“’?? 2 = 4-H4 x5 Y%
430, 7P W4 0. 7P
L 7.
N\ N
T 5 $13j6 fT sz $13]6
i DEABREXNBENRYT, MARRTUIRIEEGBIRTES
ZPBO042-L2 4MiZE Profile
104. 5
o4z
il 785 04z
L a5 S L5
/-x@ Lisi 15 -

F o 5 )
/ \ . . \
@)1 1: TR AN
\ S // ® ? Q

10 \

B ¥s) = NS — £
] 4’4‘?“_/ \<"5 2 = | amaxs \%’7
M43 0. 7R Md 0. 7P

\
= _( (8
\Z \Z
AT 31 4136 AT 52 4136

E MENERENBIRT, BARRITREEABHIR T ES




FES / ZPB EA / AMNE SRS P& / ZPB K7 / AMNE SRS

ZPB060-L1 4MEZE Profile ZPB090-L1 4MiZE Profile
080 ) e 090 o7
/‘4\ = ! 8 © 46: = . & o
P T
@ | \®\ - ]
B 35 2|
/ \ I 1 ;i i
I =) | 3 d F= N g s
| & | = 7 v/ 2 2 al o2 B
\ /
12
¥ gﬁ }8{ 2
— s || ] [
— "\ 15
A-4 5.5 & Rl Co 1] =
[ o5
sho MB % 1. 250 ofE ugs1. 25p
M50 8P M5 0. 8P
] {@ S ! (@
& | 1@ TNE
o w18ib HaIE 52 4188 R 81 £22i8 B 52 D22/6
U EAERRENENRY, BARRTIRIEEABIRTES i DEABREXNBENRYT, MARRTUIRIEEGBIRTES
ZPBO060-L2 4}MZE Profile ZPB090-L2 Mz & Profile
7
060 P oo
48 8 Oeg
5 & 37 z o] .
TN = N
) — 2] = ]
25
*ﬁ——j / ; i
/ L - . f g s ) ik
’ 5) L & s \ I ) 13
| Q | I v 2 @
\ / \
$ 12 20 R
_ /@ = — B cs
— "\, 15 ==
4933 \<-0 == = 2 53 10 o5
ts
R e sxa s B 1. 25P Sh?_ g1, 25p
& . @9 % ; @y
st 51 [e16i wmast 52 Letew _ _
sgst 51 LRER W §2 B
U EAERRENEHRY, BARRTIRIEEABHIR T ER F UEAEARNENRY, BAKRTUREEFBHNRTES
{8 R~ size {8 R~T%& size
R~ C1 (6] C3 C4 C5 C6 (o774 c8 C9 R~ C1 Cc2 C3 C4 C5 C6 (o174 C8 C9
ZPB-060-L1 70 4-M4x10 <14/<16 50 37 8 116 23 65 ZPB-090-L1 90 4-M5x12 <19/<24 70 50 8 150 27.5 80
ZPB-060-L2 70 4-M4x10 <14/<16 50 37 8 139 23 65 ZPB-090-L2 70 4-M4x10 <16 50 37 8 160 23 65

13 14



FES / ZPB EA / AMNE SRS P& / ZPB K7 / AMNE SRS

ZPB115-L1 MiZE Profile ZPB142-L1 M2 E Profile
- Oy
mikEs - 142 = = a5
&5 10 & & . & 2 s
7 —
N I8 Q
5 40 LT—T&
/ o N
) = N { D)l #s =)
R R S /e .
3
2 & /@{ E— ] B
R 4—.1.11\ ’//\i, 2
2 lcg) & 15 cé
K2 o5 cs
W12 1_75P 10HT yea3q. 7P W16 2P o
& " @) " (O
R S1 4326 K s2 9326 gt o p40j6 s 52 $20j6
U EAERRENENRY, BARRTIRIEEABIRTES Er U EAEARNENRY, BARRTUREEEBNR T ES
ZPB115-L2 M2 E Profile ZPB142-L2 M2 E Profile
o115
7 S o7
P x a5 10 Oce I N ¥ = ca
¢ o — 3 . cs o s — T~
— 1 )
g 2 1 . N | g >4 = 1.
| 7N B —
/ 2\ Voo I 9 / A \\ B o H L B
| ©) A== EE LHEEON @ B oroaE
\ | N 2 | Al 3 \ Ve K | i - :\: 1
/ Tk \ 1
28 — \‘F 0 )S( % /®/ * f /T
/®/ - .,/ r ko _L 2 T & T — s
— 1 — 3 o5 e /\% 2.4 Gé
). 20 e 5 cs
499 2 12| o 5
12h8
W12, 75P 10h3 g3, 75p Moz Hiox 2P
o (@
& 1 (@ &
R s ez HR s2 ez LRSS Wt sz LA
U EAERRENEHRY, BARRTIRIEEABHIR T ER F UEAEARNENRY, BAKRTUREEFBHNRTES
{8 R~ size & Rt size
R~ C1 (6] C3 C4 C5 C6 (o774 c8 C9 R~ C1 Cc2 C3 C4 C5 C6 (o174 C8 C9
ZPB-115-L1 145 4-M8x20 <35 110 60 8 198.5 35 130 ZPB-142-L1 200 4-M12x25 <42 114.3 82 8 262.5 39 178
ZPB-115-L2 90 4-M5x12 <24 70 50 8 212.5 27.5 80 ZPB-142-L.2 145 4-M8x20 <35 110 60 8 281 35 130

15 16



FES / ZPB EA / AMNE SRS P& / ZPB K7 / AMNE SRS

ZPB180-L1 4MiZE Profile ZPB220-L1 4MEZE Profile
O1a0 7 Oce D220 o7
o s 105 15 o8 | Iy 2 / _%\ 138 20 & |
B IR [ -
5 7 /®/ \Q 45 ) =
/ \ ]
i \ o e / :'\ \ . —_—
; @ R | @ g
\ k / # \\ \\ / = & &
\ / 40 40 |
b ® |1 o

o

5/
[
|
\

|
|

— T
—— H,\._z,\ 4 ¢
417 &
417 30 5

20h?

“
i
!
i

16h9 20X 2. 5P W20 2. 5P
M20X2 5P M20X 2. 5P
{7
s {{a & SN
9 @
A S1 H55j6 R 52 H55j6 i, St V7hjE A, 82 1758
e U EAERENBEIRYT, MARRTaiREREBEIR T EF F EARRARENEIRY, BARRTIREEABHRTEH
ZPB180-L2 4Mi2 B Profile ZPB220-L2 4MizE Profile
180 7 Ozz0 o7
s \ 105 15 o X X - 2 ) Ooe
4 T \.\ . — T~ \
@ LT—WG 0 | /8{ \®\ 4.5 90 ) —]
/ S\ Voo / N\ VT
| @ | 8 f g | ® L E
\ k / ® i \\ \\ / N =
\ / 40 H [ a0
@ g == 8 38; ) —

e
r
\
\
xw

I B A 120 o5

20h%

186h2 M20X 2. 5P M20X 32 5P
M202 5P M20 %2, 5P
=3 & \V ; r(}
O = & N &
M2 S1 D554 s s2 H 556 s 3 $75]6 MR 52 37516
A U EAERENBIRYT, BARRTURERKRBIR T ES F UEAEARNENRY, BAKRTUREEFBHNRTES

{8 R~T% size & R~T% size

R~ Cl (67] (0X] (o2 C5 C6 (674 Cc8 Cc9 R~ Cl (67 C3 C4 C5 C6 (674 Cc8 C9
ZPB-180-L1 215 4-M12x25 <48 180 82 8 290 35 190 ZPB-220-L1 235 4-M12x25 <55 200 116 8 364.5 40 220
ZPB-180-L2 200 4-M12x25 <42 114.3 82 8 329.5 39 178 ZPB-220-L2 215 4-M12x25 <48 180 82 8 415 35 190

17 18



PiE3 / ZPBR X7l / #EA 53 / ZPBR K71 / MEESH

Z P B R {8 ZPBR &%t aES %% /| ZPBR Series Performance Table
SERIES

##& Model BA{Y Unit T5% Stage Lt Ratio ZPBRO0O42 ZPBR060 ZPBR090 ZPBR115 ZPBR142 ZPBR180
Bl
3 20 35 130 208 342 588
4 19 50 140 290 542 1050
5 22 60 160 330 650 1200
1 6 20 55 150 310 600 1100
7 19 50 140 300 550 1100
8 17 45 120 260 500 1000
10 14 40 100 230 450 900
12 20 55 160 290 542 1050
15 20 55 140 208 342 588
e 16 20 55 140 208 342 588
- Nm
Rated output torqueT2N 20 19 50 140 290 542 1050
25 22 60 160 330 650 1200
30 20 55 150 310 600 1100
2 35 19 50 140 300 550 1100
40 17 45 120 260 500 1000
50 22 60 160 330 650 1200
60 20 55 150 310 600 1100
70 19 50 140 300 550 1100
80 17 45 120 260 500 1000
100 14 40 100 230 450 900
2fEHE R )
B, =121
Emergency stop torqueT por Nm 12 3-100 =EEERH % / Triple rated output torque
e &
FERMAKE 12 3-100 5000 5000 4000 4000 3000 3000
Rated input speed N,y
= N rom
BRBAEE 1,2 3-100 10000 10000 8000 8000 6000 6000
Maximum input speed 1,z
1 3-10 <5 <5 <5 <5 <5 <5
Ay BEER h
Hb!l:""'ﬁ“ FUTURE Precision backlashP1 aremin
2 12-100 <7 <7 <7 <7 <7 <7
I
HERE Nm/aremin 12 3-100 3 7 14 25 50 145
Torsional rigidity
® RIRHIEIRZEFR SIFERT N 12 3-100 780 1530 3250 6700 9400 14500
E’H Fj |‘$ Allowable radial force F,,q !
. r%_ N H NU' 23
Auowak‘; ‘ti?ggce F N 1,2 3-100 390 765 1625 3350 4700 7250
® RS =
. e hrs 12 3-100 20000
® YR Sevice life
o 1 3-10 >95%
® B e y i
N Efficiency ’
® SHEEIEB R4 2 12-100 292%
©® EHZHME N 1 310 09 21 6.4 13 245 51
£ ke
Gross weight
1.Extremely low-backlash 2 12-100 1.2 15 7.8 14.2 27.5 54
2.Highest torsional rigidity Jﬁﬁﬁ;ﬂg °c 12 3-100 -10° C~90° C
Working temperature !
3.Extremely output torque phiy
" A\ BB 938 3t pE i icati
4 High efficiency Lubricating 12 3-100 & FiiiE83HBE / Synthetic lubricating grease
. 4]
5.Low noise Fg*gfa% 12 3-100 1P65
6.Maintenance-free grease lubrication 223
. g Insta"’:;ff dr?recﬁon 12 3-100 7751 / In any direction
7.Transmission diversity
1238 (n1=3000rpm, TfA%; )
Noise level (111=3000rpm,off load) dB 12 3-100 <63 <65 <67 <70 <72 <75

19 20



FiE3k / ZPBR R7I / H5ESH FiE3E / ZPBR BRI / SNE SRS

12 &E#15 Helical Tooth with M t of Inerti
I==N elical Tooth wi oment o1 Inertia " .
ZPBRO042-L1 42 & Profile
##& Model  BAf Unit 75 Stage I ELL Ratio ZPBRO042 ZPBR060 ZPBR090 ZPBR115 ZPBR142 ZPBR180 109
04z
26 [F] 42
3 0.03 0.16 0.61 3.25 9.21 28.98 5 K i = -
4 0.03 0.14 0.48 2.74 7.54 23.67 & ] AN, 2 - e
o2}
5 0.03 0.13 0.47 271 7.42 23.29 / . LTLW /x g \
1 6 0.03 0.13 0.45 2.65 7.25 22.75 ( § } 3o [ : N
Q L] N =7
7 0.03 0.13 0.45 2.62 7.14 22.48 \ \E [ ‘ \K\: /
8 0.03 0.13 0.44 2.58 7.07 22.59 = }8{ L0 w \$ }8/
10 0.03 0.13 0.44 257 7.04 22,51 \\_//¥ i ~—t= k
4434 % ] A-Waxs &
12 0.03 0.03 0.13 0.47 271 7.42
15 0.03 0.03 0.13 0.47 271 7.42 5
16 0.03 0.03 0.13 0.47 271 7.42 ” o
BHiRE J, kg.cm?
20 0.03 0.03 0.13 0.47 2.71 7.42 .
25 0.03 0.03 0.13 0.47 271 742 43007
Sh¥
30 0.03 0.03 0.13 0.47 271 7.42 o Na30. 7P
2 35 0.03 0.03 0.13 0.44 271 7.42 o (77
N\ N\
40 0.03 0.03 0.13 0.44 2.71 7.42
50 0.03 0.03 0.13 0.44 2.57 7.03 i 81 D13jh il 52 D13j6
60 0.03 0.03 0.13 0.44 2.57 7.03 F EARRARENEIRY, BARRTIREEABHRTEH
70 0.03 0.03 0.13 0.44 257 7.03
80 0.03 0.03 0.13 0.44 257 7.03
100 0.03 0.03 0.13 0.44 257 7.03 ZPBR042-L2 9MEZ B Profile
128
04z
24 81 04z

@ 35zh

& T~ @ e T )4 @
ENIR= RPN
\\ N /OTﬁ \Q J

|10 | >$ }8{

.

oy
w
o

i
=
£
e
@

27

15

Sk
N4 %0, 7P W0, 76
|
o (@
\Z N\
Dol $13j6 i 82 4136

E MENERENBIRT, BARRITREEABHIR T ES

21 22



&S / ZPBR 54 / INES RN

ZPBRO060-L1 4MEE Profile

c?

Osn
%—‘K 37 7
2 | 25
/ \ \ . |
4 ) L 9«
\ I\ e 2
\ /
12
‘%‘ . ﬁ 1.5 —
ST 0% B
42353 (NG|
|acarg]
2 C4E7
Shi?
W3x 0. &P W3 X0 &P
= (o
N\
BT 81 Et Ll v R LI
U EABEARNENRYT, BABRTTRELEKEIRTES
ZPBRO060-L2 4M2E Profile
osn 7 oce
/‘& e
)
/ \
[ :\\ - I ===
1 \Q /1 19
\ Lz
A& ~. }g 1.3 =
caa b A A
P4ET
Sh%
W50 &P W30 &P
El (o
&
R S50 $haH g2l 1808
E: UENERRENENRY, BABRITRIEEAEIRTES
{8 R~F% size
R~ c1 c2 c3 ch c5 C6 c7 cs c9 c10
ZPBR-060-L1 70 4-M4x10 <16 50 37 8 116 23 65 155.5
ZPBR-060-L2 70 4-M4x10 <14 50 37 8 139 23 65 178.5

23

FiES / ZPBR A / INEE RS

ZPBRO090-L1 4MEE Profile

&

]

2] = B
EE =
B 7/
20 E
sl N 1
L10] | |
A BIFT
p07
WE X1, 25 S wgst, asp
= (@
a0\
i 81 W 82 S
i DEABREXNBENRYT, MARRTUIRIEEGBIRTES
ZPBR090-L2 4MEE Profile
[mL &7
w 2 18 3 Ooe
\ E.T—_”? /\
r N L 3=
| @ | A >
j .
/®/ 20 s °
& —T ‘ 1| ]
RERTTY U’ZE, KL} 5
4 C3F7
qoicT
Wex 1, 25F S w1, 25p
Y {a
& &\
s 81 D228 e 52 L
F UEAEARNENRY, BAKRTUREEFBHNRTES
& R % size
R~ C1 (0] C3 C4 C5 C6 c7 C8 Cc9 C10
ZPBR-090-L1 90 4-M5x12 <19/<24 70 50 8 206.5 27.5 80 145
ZPBR-090-L2 70 4-M4x10 <16 50 37 8 199.5 23 65 122.5
24




&S / ZPBR 54 / INES RN FiES / ZPBR A / INEE RS

ZPBR115-L1 4MEE Profile ZPBR142-L1 4MEE Profile
e L7 ik} =
o K [} 10 p - o 2
e [ .. [h So~a] [ .
B / o
/ N )| [ ) - D
! ® L2 \ S FE s
\ \S J v \ /
/ /@/ 3
8 E %
& g — [ X 2 {
—— 5 4yt v = [
447 “ﬁé ATE i 12 "
g
= |pcar]
b G3F7| D07
4 G407
12ha
Wiz 1 73R 1 izt 7se Hiexdp Mgxgp
s (@
g " & P QO
R 51 ek kR s2 b2 e s R R L)
U EAERRENENRY, BARRTIRIEEABIRTES i DEABREXNBENRYT, MARRTUIRIEEGBIRTES
ZPBR115-L2 4ME2E Profile ZPBR142-L.2 4Mi2E Profile
s o
[ % o5 10 Otz £
S o " 250 a7 12
ol 2 sl e | [] S 8 = 5
E 63
/ :\ \ - / \ | —
| ) L 2 = | § =
| N [ \\ I Sl
\ S | \& =
/ : \ / :
‘ (B L3 |
@ £ 1 e = ’ —
‘hm\il \sﬁ LT 3 ||| | L-" @H\”/ &, - 3 | ||| |
= a2 3 & ALY e
]3! [l | | I |
I - c GT
W1ax 2P W1GX 2P
W11 75F 10H iz, 75p o @ﬂ
\% e
ik st Ad0ig kT sz LOA00
X St h3Lis iR s2 R
A U EAERENBIRYT, BARRTURERKRBIR T ES F UEAEARNENRY, BAKRTUREEFBHNRTES
{8 R~ size & Rt size
R~ C1 Cc2 C3 C4 C5 C6 (o74 Cc8 C9 C10 R~ C1 (67] C3 C4 C5 C6 (074 Cc8 C9 C10
ZPBR-115-L1 145 4-M8x20 <35 110 60 8 266.5 35 130 185 ZPBR-142-L1 200 4-M12x25 <42 114.3 82 8 350 39 178 230
ZPBR-115-L2 90 4-M5x12 <24 70 50 8 264.5 27.5 80 157.5 ZPBR-142-L2 145 4-M8x20 <35 110 60 8 350 35 130 198.5

25 26



&S / ZPBR 54 / INES RN

ZPBR180-L1 4MEE Profile

Oian

Q
< |
i % /
5 / L?
ot \®\

M 8

o
-
=]

416086
465

40

[

cio

WI0X 2 5P

4353 jé

A 52 $33jb

HEIFT
$0467

W20 X2 3P

a9
N

E M ENERENBIRY, BARRIIRERAEIRTES

ZPBR180-L2 4MEE Profile

i+
u e
il BN
& \ 6| ™ )
// \ \ -
f QQ ~ g I
\ \S ;T
\ / 10
== g
g3 L:.'v |20 ]
ah
f
)
W 2 5P Wz 5
s (g
& &
T 51 4355§0 ST 82 4336
U EAERRENEHNRY, BARRTIRIEEABHIRTES
& RT% size
R~ C1 (67 C3 C4 C5 C6 (o174 C8 Cc9 C10
ZPBR-180-L1 215 4-M12x25 <48 180 82 8 384 35 190 293
ZPBR-180-L2 200 4-M12x25 <42 114.3 82 8 417 39 178 249

27

S5 / 7PD 7 / ik

Z P D SERIES

5

HEEYS S FUTURE

©® XA E 2 BB
® SHHERIM
@ HMIES

@ SWE

o RIEE

© SHAEEB R4
® ZEZ=[E/N

1.Extremely low-backlash

2.Higher torsional rigidity

3.High output torque

4.High efficiency

5.Low noise

6.Maintenance-free grease lubrication
7.Small installation space

28




NIRN Y VA £ 3
S / ZPD K7 / MEES L &2 / ZPD K2 / MEESH
N . — . . .
{sy ZPD ZFIMEEES#3E | ZPD Series Performance Table {oy HETNBER Helical Tooth with Moment of Inertia
4 Model B Unit T# Stage IRUELL Ratio ZPDO047 ZPD064 ZPD090 ZPD110 ZPD140 ZPD200 ZPD255 A& Model Bfi Unit T5# Stage H&ELL Ratio ZPD042 ZPD064 ZPD090 ZPD110 ZPD140 ZPD200 ZPD255
4 19 50 140 290 542 1050 1700 4 0.03 0.14 0.48 2.74 7.54 23.67 54.37
5 22 60 160 330 650 1200 2000 5 0.03 0.13 0.47 2.71 7.42 23.29 53.27
) 6 20 55 150 310 600 1100 1900 6 0.03 0.13 0.45 2.65 7.25 2275 51.72
1
7 19 50 140 300 550 1100 1800 7 0.03 0.13 0.45 2.62 7.14 22.48 50.97
8 17 45 120 260 500 1000 1600 8 0.03 0.13 0.44 2.58 7.07 22.59 50.84
10 14 40 100 230 450 900 1500 10 0.03 0.13 0.44 2.57 7.04 2251 50.63
16 20 55 140 208 342 588 1140 16 0.03 0.03 0.13 0.47 2.71 7.42 23.29
FEE B Nm 20 19 50 140 290 542 1050 1700 i 20 0.03 0.03 0.13 0.47 2.71 7.42 23.29
Rated output torqueT2N iRE J kg.cm?
puttord 25 22 60 160 330 650 1200 2000 ' 25 0.03 0.03 0.13 0.47 2.71 7.42 23.29
35 19 50 140 300 550 1100 1800 35 0.03 0.03 0.13 0.44 2.71 7.42 23.29
5 40 17 45 120 260 500 1000 1600 40 0.03 0.03 0.13 0.44 271 7.42 23.29
2
50 22 60 160 330 650 1200 2000 50 0.03 0.03 0.13 0.44 257 7.03 2251
&y 2 g 1oy — 00 Ly LY 60 0.03 0.03 0.13 0.44 257 7.03 2251
70 9 50 140 800 550 1100 1800 70 0.03 0.03 0.13 0.44 2,57 7.03 2251
80 7 45 120 260 500 1000 1600 80 0.03 0.03 0.13 0.44 2,57 7.03 2251
100 14 40 100 230 450 900 1500
100 0.03 0.03 0.13 0.44 2,57 7.03 2251
BfEmE e .
_ =T
Emergency stop torqueT,yor Nm 12 4-100 ={EEE R H 5158 / Triple rated output torque
R &
TEMAKE 12 4-100 5000 5000 4000 4000 3000 3000 2000
Rated input speed 1,y
= N rom
BRBARR 12 4-100 10000 10000 8000 8000 6000 6000 4000
Maximum input speed 1,5
1 4-10 <3 <3 <3 <3 <3 <3 <3
BEHR arcmin
Precision backlashP1
2 16-100 <5 <5 <5 <5 <5 <5 <5
[
mﬂ:m& i Nm/arcmin 1,2 4-100 7 13 31 82 151 450 1023
Torsional rigidity
ZREIR
GAR N 12 4-100 780 1530 3250 6700 12000 18500 27000
Allowable radial force F,,g
=
BITHE N N 12 4-100 500 765 1625 3350 8100 15000 24000
Allowable axial force F,.g
Py
% hrs 1,2 4-100 20000
Sevice life
- 0,
- ) 1 410 >97%
Efficiency
2 16-100 >94%
_ 1 4-10 0.6 13 3.7 7.8 14.5 29 48
£ ke
Gross weight
2 16-100 0.8 15 4.1 9 17.5 33 60
EHRE R o o
Working temperature ¢ 1.2 4-100 -10°C~90°C
) A e e o
Lubricating 12 4-100 & FREig g / Synthetic lubricating grease
PP &R
1P Grado 12 4-100 IP65
REFME . _—
Installation direction 12 4-100 {EEA 8 / In any direction
1238 (n1=3000rpm, A% )
Noise level (111=3000rmm, off load) dB 12 4-100 <60 <63 <65 <68 <70 <73 <75

29 30



#iE3E / ZPD 41 / INEE RS #iE3E / ZPD 2 / INES RS

ZPD-047-L1 4MiZE Profile ZPD-064-L1 4MiZE Profile

30

o

038

|
;L:J
il
\
, 2
/N

/
/
N
AN

1 o\ AD =
/ \ O

588 (L) 34559 [ R AME
LI / b= e A e [ \\O |

N7 W
/

o (o ’ B o< e

%

/
[ E o ‘“

=l 4N %10 02 &
= 4 i
= HETRATHEIE 150 9409/ R 66X 2
FIWRTAIS0 9409 03I[F Sex2
E: MEAERENENRY, BARRTIRBREEAEIRTES E: MEABERENENRY, BARRTIREEEEIRTES
ZPD-047-L2 9MEZE Profile ZPD-064-L2 42 Profile
8.5
105 4 c
LN - 15 nE] 175 mle]
C I A [i:]
= a oy b %5
B hy > a g B
patill BN —
3; % o\ AD =
/ \ O
g B3 gre g |l Q | g B o OEE By s / o |
I E o \ Q S /' St = [ % [e] I
\
RS o / \ 2 )
— . / g o ¥
Im 1, H '
= L 4-MW4 =10 \!T / Loe | 0z \<C’
* FERMRTEE 150 9409/ OELE 66X 2 o5
FEFTRERTIS0 0407 O S6x2

E U ENERENBIRY, BARRIIREREEIRTES E MENERENBIRT, BARRITREEABHIR T ES

{8 R~F% size

R~ Cl (67 C3 C4 C5 C6 (674 Cc8 C9
ZPD-064-L1 70 4-M4x10 <14/<16 50 37 8 80.5 23 65
ZPD-064-L2 70 4-M4x10 <14/<16 50 37 8 105.5 23 65

31 32



#iE / ZPD R / INEE RS #iE / ZPD K2 / INEE R
ZPD-090-L1 4MiZzE Profile ZPD-110-L1 4MEZE Profile
£z i ocs
30 7 9 8
He L8 19 |10 :g: c8 © 5
Oew i
T ?J - g O = W
= CPSSORN
© 5 [ T 1T T 1 [~ &
FEEEEE N SO Hezy rt [ 8
3 Y FE 1 EE= - ! \ /O I S S
/ | \%\: / /
/ . [
/ = o o 5 / H E
/ £ HEZTARTHE 150 9400 0% 110X3 5
FLTRTREE 1509109 O£ 0 90x3
U EAERRENENRY, BARRTIRIEEABIRTES i DEABREXNBENRYT, MARRTUIRIEEGBIRTES
ZPD-090-L2 M2 Profile ZPD-110-L2 4MEZE Profile
7
c7
W 7
% 8
10 B & . & &HF ﬂ ﬂ
T oes
L = s | & oee
I 3 5. - © 5
Qﬁ? ] BTN
e O " I
5e g N || g degy I HEge | NOY ML
= 28 i =l [ % o I i It = I \ N0 I
O : ©
/ B o< e / - B o)
/ @ \<‘3 // o8 e \@\’c}
I =
= ek = o5
EE TR THM 1509409 Of[E P03 = RERRRM 150 040 Q% 110X3
U EAERRENEHRY, BARRTIRIEEABHIR T ER F UEAEARNENRY, BAKRTUREEFBHNRTES

{8 R~T% size & R~T% size

R~ Cl (67] (0X] (o2 C5 C6 (674 Cc8 Cc9 R~ Cl (67 C3 C4 C5 C6 (674 Cc8 C9
ZPD-090-L1 90 4-M5x12 <19/<24 70 50 8 110.5 27.5 80 ZPD-110-L1 145 4-M8x20 <35 110 60 8 145 35 130
ZPD-090-L2 70 4-M4x10 <16 50 37 8 124.5 23 65 ZPD-110-L2 90 4-M5x12 <24 70 50 8 161.5 275 80

33 34



FES / ZPD A / ANES RN #EE / ZPD E8 / INEE RN

ZPD-140-L1 4MiZE Profile ZPD-200-L1 4MEZE Profile
ce
o Oce 5010
B = 5 a5 4 10H7 15|_|15 Oc
15 12 @ CB
I 2 |
I L B | R —
o & ool Tl 2 [
A il B 3 § R ==
R - £ cd
SREmMRTERE 150 2409 O 143 %3 o5 6]
AR B 150 9408 | OR:FR 200X5
U EAERRENENRY, BARRTIRIEEABIRTES i DEABREXNBENRYT, MARRTUIRIEEGBIRTES
ZPD-140-L2 42 Profile ZPD-200-L2 42 Profile
7 e
B 10 21047 =18
] 12 * 15]_|15,
c8
N £ | A &
o B gl E| g 2 [j:’;% o B ool 2wl e 3{32
/ = & | -
o] = j““
SRERRTHHE 150 9409 O[] 1453 AR 120 9409 | 0R[ 2005 =
A U EAERENBIRYT, BARRTURERKRBIR T ES F UEAEARNENRY, BAKRTUREEFBHNRTES
& R~J% size {8 RF%k size
R~ C1 Cc2 Cc3 C4 C5 Ccé c7 c8 C9 R~ C1 (o7 C3 C4 C5 C6 (e74 c8 Cc9
ZPD-140-L1 200 4-M12x25 <42 114.3 82 8 175 39 178 ZPD-200-L1 215 4-M12x25 <48 180 82 8 210 35 190
ZPD-140-L2 145 4-M8x20 <35 110 60 8 204.5 35 130 ZPD-200-L2 200 4-M12x25 <42 114.3 82 8 259.5 39 178

35 36



FES / ZPD A / ANES RN P53 / ZPDR 7l / #EA

ZPD-255-L1 4MiZ[E Profile Z P D R SERIES

5

(5]

s
2

&)

1300
2555
5 180K7
$0F7
0467
1 255h7

E M ENERENBIRY, BARRIIRERAEIRTES

ZPD-255-L2 4MiZ B Profile

o

[
=

o M EES = FUTURE

[4:3]

® RARHIEIF2 /R

H 2556
23d

® SHHERRIM
@ HIHRES

® SWE
ot e 2 ® RIgE
@ JhpEIEIB R4
@ LI E/)N

® L ZHE

300

63
H 667
H 2T

S U ENEERNEIRT, BABRTIRESEENRTES 1.Extremely low-backlash
2.Higher torsional rigidity
3.High output torque

{8t R~F% size 4 High efficiency
5.Low noise
R ot o2 o8 o &8 &6 of o8 =8 6.Maintenance-free grease lubrication
ZPD-255-L1 235 4-M12x25 <55 200 116 8 364.5 40 270 7.Small installation space
ZPD-255-L.2 215 4-M12x25 <48 180 82 8 415 35 315.5 8.Transmission diversity
37

38



VA £ 3 VH AL £ 3
G / ZPDR F7 / HERESH 5 / ZPDR %7 / MEREESH
N . — . . .
{s} ZPDR Z %4 geS %3k / ZPDR Series Performance Table {oy HETNBERE Helical Tooth with Moment of Inertia
M Model B Unit T# Stage IRELL Ratio ZPDR047 ZPDRO064 ZPDR090 ZPDR110 ZPDR140 ZPDR200 A& Model Bf Unit T5# Stage RELEL Ratio ZPDRO042 ZPDRO064 ZPDR090 ZPDR110 ZPDR140 ZPDR200
4 19 50 140 290 542 1050 4 0.03 0.14 0.48 2.74 7.54 23.67
5 22 60 160 330 650 1200 5 0.03 0.13 0.47 2.71 7.42 23.29
) 6 20 55 150 310 600 1100 6 0.03 0.13 0.45 2.65 7.25 22.75
1
7 19 50 140 300 550 1100 7 0.03 0.13 0.45 2.62 7.14 22.48
8 17 45 120 260 500 1000 8 0.03 0.13 0.44 2.58 7.07 22.59
10 14 40 100 230 450 900 10 0.03 0.13 0.44 257 7.04 2251
16 20 55 140 208 342 588 16 0.03 0.03 0.13 0.47 271 7.42
FEE B Nm 20 19 50 140 290 542 1050 i 20 0.03 0.03 0.13 0.47 2.71 7.42
Rated output torqueT2N iRE J kg.cm?
puttord 25 22 60 160 330 650 1200 ' 25 0.03 0.03 0.13 0.47 2.71 7.42
35 19 50 140 300 550 1100 35 0.03 0.03 0.13 0.44 2.71 7.42
5 40 17 45 120 260 500 1000 40 0.03 0.03 0.13 0.44 271 7.42
2
50 22 60 160 330 650 1200 50 0.03 0.03 0.13 0.44 257 7.03
& 2 g ey sy £00 Ly 60 0.03 0.03 0.13 0.44 257 7.03
70 9 50 140 800 550 1100 70 0.03 0.03 0.13 0.44 2.57 7.03
80 i 4 120 260 500 1000 80 0.03 0.03 0.13 0.44 2.57 7.03
100 14 40 100 230 450 900
100 0.03 0.03 0.13 0.44 2.57 7.03
BfEmE e .
" =35
Emergency stop torqueT oyor Nm 12 4-100 = f&ENE M H 1156 / Triple rated output torque
TEMAKE 1,2 4-100 5000 5000 4000 4000 3000 3000
Rated input speed 1,y
= N rom
BRBARR 12 4-100 10000 10000 8000 8000 6000 6000
Maximum input speed 1,5
1 4-10 <5 <5 <5 <5 <5 <5
BEHR arcmin
Precision backlashP1
2 16-100 <7 <7 <7 <7 <7 <7
|
BERE Nm/aremin 1,2 4-100 7 13 31 82 151 450
Torsional rigidity
CRIT IR
G N 12 4-100 780 1530 3250 6700 12000 18500
Allowable radial force F,,g
=
BITHE N N 1,2 4-100 500 765 1625 3350 8100 15000
Allowable axial force F,.g
Py
% hrs 1,2 4-100 20000
Sevice life
- 0,
- ) 1 4-10 >95%
o (]
Efficiency
2 16-100 >92%
_ 1 4-10 1.1 21 5.9 10.5 21.9 50.9
E<S ke
Gross weight
2 16-100 1.4 1.9 45 9.8 20.1 45.4
EHRE o o o
Working temperature ¢ 1.2 4-100 -10°C~90°C
o) N ...
Lubricating 12 4-100 & FREiE g / Synthetic lubricating grease
PP &R
P Grade 1,2 4-100 IP65
REFE . o
Installation direction 12 4-100 {EEA 8 / In any direction
1238 (n1=3000rpm, A% )
Noise level (11=3000rpm,off foad) dB 1,2 4-100 <63 <65 <67 <70 <72 <75

39 40



fEE / ZPDR 27 / IMEE R FE3E / ZPDR R51 / SMEE R
ZPDR-047-L1 4MiZE Profile ZPDR-064-L1 4MEE Profile
105. 5
195 4 o
7 L=, 048 195 4 O
L | B, /‘K il N s
s Ho L
/7-\\ ~
- \ /; \ \ o AD B
O,
LG J 3258 I / ot |
M \\ Q Y, / 3 2 %3 § | % [6] I
/
\ ®)
| g 7%\\ _ s / g g Nor< o
— . RS 1 "
/ =] | A-max10 \T‘& / é- o | o2 \<o
R LT ATHEE 150 2409 ORI 562 FERMEHEE 150 vam/ ORI 66X 2 |
3 &
- 7]
QEF7 LCACT
4 3007
E: UEABAENBIRY, BARRIIRBEEEBIRTES E: UEABAENBNRY, BARRIIURERFEBHNRTES
ZPDR-047-L2 4Miz & Profile ZPDR-064-L2 4MZE Profile
. : 124 .
R B 048 12 - 4 o
3 b /‘E\ “‘-7—— ¥ -
== N [ —
\ ; ; S OABS =
/ ! | DY
a3 AL ; o} |
E | S/ | | [0} ]
N %
%7\‘/ o g g o e
= AW 10 \’é = ‘ : [ oz o ya
FH=FRAETEI50 9400 ORLE 6% 2 DR 02 - | |
5 . 31
|pir ]
L) 0407
43067
E: UEAERRNENRY, BARRTIREEKENRTES E: MEABRENENRY, MAKRTIREEKRENRT ES
& Rtk size
R~ C1 c2 C3 C4 C5 C6 c7 C8 Cc9 C10
ZPDR-064-L1 70 4-M4x10 <14/<16 50 37 8 127.5 23 65 116
ZPDR-064-L2 70 4-M4x10 <14/<16 50 37 8 152.5 23 65 116

41 42



P52 / ZPDR K3 / INEE RS F5 / ZPDR B2l / IMEE RS
ZPDR-090-L1 4MEE Profile ZPDR-110-L1 4MEE Profile
o7
30 7 " s & oce
1 e ol o
e | K & :45“ b B
= pf @ g
z / y \ o B e zlg| Y
i I i e j DO \ 898233
ERERE DN ‘\EKE\O ! IR
\ & _
// 2 \8( a /\®i / °
/ =1 cz\‘g/ \g / ,Eﬂ( |
I AETRTHS 150 9409 02 110%3
HIWRTHE 1500409 omm s0x3 | h
8 . 4
= |p0573
|#caF7| 40407
< 0407
e U EAERENBEIRYT, MARRTaiREREBEIR T EF F EARRARENEIRY, BARRTIREEABHRTEH
ZPDR-090-L2 4MEE Profile ZPDR-110-L2 4MEE Profile
g7 o
2 z i ]
S 5 4 &7 9 1o
L. 5‘1 o ,é', =N oce
H s - H W A5
Ol \ AE\
(°§ o | EEFES o)
I I b 2% 9o o o 5
° B s / B .\%\i )
] —% | AR
INEE, % ALY
8 " SEMATHE 150 9409 ORF 110X3 - & |
SEFRT M 1509409 OR[E P03 "3 8‘%
o G3F7
« 0407

E U ENERENBIRY, BARRIIREREEIRTES E MENERENBIRT, BARRITREEABHIR T ES

{8 R~T% size & R~T% size

R~ Cl (67 C3 C4 C5 C6 (674 Cc8 C9 C10 R~ Cl (67] (6X] C4 C5 C6 (074 (67:] C9 C10
ZPDR-090-L1 90 4-M5x12 <19/<24 70 50 8 170.5 27.5 80 153.5 ZPDR-110-L1 145 4-M8x20 <35 110 60 8 219 35 130 184
ZPDR-090-L2 70 4-M4x10 <16 50 37 8 160 23 65 127.5 ZPDR-110-L2 90 4-M5x12 <24 70 50 8 214 27.5 80 162

43 44



Fi53 / ZPDR K7l / SNE S R~ #1538 / ZPDR K7l / SNES R~
ZPDR-140-L1 4MEZ B Profile ZPDR-200-L1 4MEZ B Profile

@179
o 140zt
@137
< 10017
< SOHT

B

9247
4 20026
A 15%
< 160hé
4 BOHF
|
T

0

/ =

HEMRTHIE 150 9409 0R[F 1453

[ £ |

HETRJ U 150 9102 | 0w 2005 | |

w
&

)
&

F

e
o8

|
i
¢ C3F7 WC3FF
< 0407
4 CAGF
U EAERRENENRY, BARRTIRIEEABIRTES i DEABREXNBENRYT, MARRTUIRIEEGBIRTES
ZPDR-140-L2 4ME2E Profile ZPDR-200-L2 4ME2E Profile
o7 e
3% 10 010
15] |12 ge? 15_|15
’éf = S | H
gﬁgEEQ \ ol B oo B g e \
/ ] |
SAEFRTHE 150 9409 OAR 145K3 881 T e —— 5 “| | | |
’ ’I 1
2037 Ll
4 G467 4 GACT
A U EAERENBIRYT, BARRTURERKRBIR T ES F UEAEARNENRY, BAKRTUREEFBHNRTES
& R~J% size {8 RF%k size
R~ C1 Cc2 C3 C4 C5 C6 (o74 Cc8 C9 C10 R~ C1 (67] C3 C4 C5 C6 (074 Cc8 C9 C10

ZPDR-140-L1 200 4-M12x25 <42 114.3 82 8 255 39 178 247 ZPDR-200-L1 215 4-M12x25 <48 180 82 8 337 35 190 317
ZPDR-140-L2 145 4-M8x20 <35 110 60 8 275.5 35 130 198.5 ZPDR-200-L2 200 4-M12x25 <42 114.3 82 8 340 39 178 275.5
45

46



PSS / ZPF K51 / #hAR S5 / ZPF X751 /0

TEES A

Z P F {8} ZPF Z5MgeS%(3 /| ZPF Series Performance Table
SERIES

Z 5 #4& Model B{j Unit ¥ Stage EE Ratio ZPF060 ZPF090 ZPF120
N
3 35 130 208
4 50 140 290
5 60 160 330
1 6 55 150 310
7 50 140 300
8 45 120 260
10 40 100 230
12 55 160 290
15 55 140 208
MR NE Nm 16 55 140 208
Rated output torqueT2N 20 50 140 290
25 60 160 330
30 55 150 310
2 35 50 140 300
40 45 120 260
50 60 160 330
60 58] 150 310
70 50 140 300
80 45 120 260
100 40 100 230
2% T )
Emergency stop torqueTor Nm 12 3-100 ={EEIE R H /15 / Triple rated output torque
gm.E@)\%E 1,2 3-100 5000 4000 4000
Rated input speed N,y
= N rom
. Eij(ﬁu‘)\iﬁ& 1,2 3-100 10000 8000 8000
Maximum input speed N,z
1 3-10 <5 <5 <5
M St BEER .
li Hb!l:q'ﬁ“ FUTU R E Precision backlashP1 aremin
2 12-100 <8 <8 <8
l
BRI Nm/arcmin 1,2 3-100 7 14 25
Torsional rigidity
(=l 2R
® REIEEE BIFEET N 12 3-100 1530 3250 6700
? ; j( Allowable radial force F,,g
® HiE e
ﬁﬁ:m 73 N 1,2 3-100 765 1625 3350
PS _él_%zz Allowable axial force F,,g
'E 9 PN
%D hrs 1,2 3-100 20000
([ ] 1&"5‘7‘5% Sevice life
N N 1 3-10 >97%
@ TREHE ﬁﬂg@ % :
N RN Efficiency
©® SHASIEIB R4 2 12-100 294%
- 1 3-10 13 3.7 7.8
1.Low backlash Gros%feight ke
2 High torque 2 12-100 1.5 4.1 9
3.High efficiency SERIRE °C 12 3-100 -10° C~90° C
4 Working temperature
.Low noise —_
b= N : —
5.Easy installation Lubricating 12 3-100 & R HAS / Synthetic lubricating grease
. L 4
6.Maintenance-free grease lubrication F’g*gfﬁ 12 3-100 IP65
RERM . N
Instaliation direction 1,2 3-100 {2751 / In any direction
IEE1E (n1=3000rpm, A% )
Noise level (N1=3000rpm,off load) ds 12 3-100 <63 <65 <68

47 48



FE3E / ZPF 51 / ERESHL #EE / ZPF 25/ SNES R

1B E#1E Helical Tooth with M t of Inerti
5l ER ] Ical 100th wi oment of Inertia .
ZPF-060-L1 4MEE Profile
#M4& Model B Unit 9% Stage IRiELL Ratio ZPF060 ZPF090 ZPF120
&0 7
3 0.16 0.61 3.25 .
= 5. 37 7 s
4 0.14 0.48 2.74 /:\\
_—
5 0.13 0.47 2.71 B -
[2 25
1 6 0.13 0.45 2.65 ~
/ \ \ N | —
7 0.13 0.45 262 { 0 \' 3 e ) Ef &
AY W g ol @
8 0.13 0.44 2.58 \ Y / ° =
12
10 0.13 0.44 2,57
(&) je -
12 0.03 0.13 0.47 X 13
15 0.03 0.13 0.47 4355 ‘ : L.cs |
(&)
16 0.03 0.13 0.47
BHRE J, kg.cm?
20 0.03 0.13 0.47
25 0.03 0.13 0.47 s >:0. 8P T o
30 0.03 0.13 0.47 ® _((a
&/ &/
2 35 0.03 0.13 0.44
40 0.03 013 0.44 HE S L WhAls s LR
50 0.03 0.13 0.44
60 0.03 0.13 0.44 F EARRARENEIRY, BARRTIREEABHRTEH
70 0.03 0.13 0.44
80 0.03 0.13 0.44
100 0.03 013 0.44 ZPF-060-L2 M2 & Profile
Os0 o7 oce
s - a7 7 o] ) N
o~
B
/ \ \
| SRR P =
2| A
\ % /
12
& }85 -
~— - 1.5
A-45.5 & E |co_|
[
She
M5 X0 8P M50 8r
@ (@
& &
st o1 a1 qET sz | Asi
e UEAERBENENRY, SABRTIREEABIR T EH
{8 R~T%& size
R~ C1l Cc2 C3 C4 C5 C6 C7 Cc8 Cc9
ZPF-060-L1 70 4-M4x10 <14/<16 50 37 8 116 23 65
ZPF-060-L2 70 4-M4x10 <14/<16 50 37 8 139 23 65

49 50



;g3 / Z7PF R/ INESRSN s / ZPF 25 / INES RN
ZPF-090-L1 4MiZ B Profile ZPF-120-L1 4MiZE Profile
'y 5. 43 8 & 5 - 5= - 5 12 | o =

LR~ X °

/Q/ }8\ 2 ) ] |
/ \ ] ; o«
[ ) | Ba e | o 5 s
\\ S /} i ~ oA \\ go E -2 I 774%»} 3
\@ — f . - n

Gh?

MB 1. 25P MB X 1. 25P
W21, 750 TOHY izq. 75p
| X b (@
TNE & " (@
iR s Le28) BAfZ3 52 £ 2256 R 1 @32jib R s2 a32j8
Er U EAEBEMNENRYT, BAKRTIRBEAENRTES Er U EAEARNENRY, BARRTUREEEBNR T ES
ZPF-090-L2 4ME B Profile ZPF-120-L2 M2 Profile
o7
o7 015
Oso 5 %5 55 12 ]
© %: P 8 0c9 £ o oo
538{ —— E? i s “ || * 5 :"‘5"
— r 40 | Pl
2| @ ] p 4 © =}
/ N B | 1 1% ﬂ 1
[ N\ [ 58 N |l | &s 5y NN M
| & -1 7 o NYIIR) | E 7 Y ER- Do) ]
\ / O / o |/
el o . g e 2 - oo s
N e ) o 1% c2 & — ) ke Al e &a
448 & \%’ 10 24_-»
12
ME 3 1. 25P Sh?_ ygscq. 25p
M121. 75P 100% 334, 5P
2 (@
w < §9 "y ﬁ
& NN
AR 81 $22i6 A 52 $322)6
HER st e R s2  LeRe
Er U EAEREMNENRY, BAKRTIREERENRTES F UEAEARNENRY, BAKRTUREEFBHNRTES
{8 R~ size {8 R~T%& size
R~ C1l (6] C3 C4 C5 C6 (o74 (07:] (05°] R~ C1 Cc2 C3 C4 C5 C6 (74 Cc8 C9
ZPF-090-L1 90 4-M5x12 <19/<24 70 50 8 148.5 27.5 80 ZPF-120-L1 145 4-M8x20 <35 110 60 8 198.5 35 130
ZPF-090-L2 70 4-M4x10 <16 50 37 8 156.5 23 65 ZPF-120-L2 90 4-M5x12 <24 70 50 8 212.5 27.5 80
51

52



PiE / ZPFR K731 / #EA S5 / ZPFR K71 / MEESH

{8 ZPFR %M RES# 3K | ZPFR Series Performance Table

Z P F R SERIES

##& Model Bf Unit 9% Stage IRIE L Ratio ZPFR060 ZPFR090 ZPFR120
2]
3 35 130 208
4 50 140 290
5 60 160 330
1 6 55 150 310
7 50 140 300
8 45 120 260
10 40 100 230
12 55 160 290
15 55 140 208
MR NE 16 55 140 208
Rated output torqueT2N Nm
a p q 20 50 140 290
25 60 160 330
30 55 150 310
2 35 50 140 300
40 45 120 260
50 60 160 330
60 55 150 310
70 50 140 300
80 45 120 260
100 40 100 230
2EHE . )
Emergency stop torqueTor Nm 12 3-100 ={EEIE R H /15 / Triple rated output torque
i &
TERMAKE 1.2 3-100 5000 4000 4000
Rated input speed N,y
= N rom
BRBARE 1.2 3-100 10000 8000 8000
Maximum input speed N,z
1 3-10 <7 <7 <7
N BEER )
Hb!l:""'ﬁ“ FUTURE Precision backlashP1 aremin
2 12-100 <9 <9 <9
I
HARIE Nm/aremin 12 3-100 7 14 25
Torsional rigidity
® REIEEE BIFEET N 1.2 3-100 1530 3250 6700
? ; j( Allowable radial force F,,g !
@ ik o
I S MW“?P N 1.2 3-100 765 1625 3350
°® %&‘ﬂg Allowable axial force F,g
PN
% hrs 1,2 3-100 20000
[ 1&"5‘7‘5:5 Sevice life
) - 0,
® ﬁ%@ﬁ B . 1 3-10 >95%
. Efficiency °
® SHEEIEB R4 2 12-100 202%
® EHSHFME _ 1 3-10 2.1 5.4
E3 < ke
Gross weight
1.Small backlash 2 LY e =
2.High torque ERIEE °C 12 3-100 -10° C~90° C
h off Working temperature !
3.High efficiency —
k] N . -
4 Low noise Lubricating 12 3-100 SRS / Synthetic lubricating grease
. . 4]
5.Easy installation Fg*giﬁ 12 3-100 P65
6.Maintenance-free grease lubrication 224
g g Instalfatf(:r?dr?ection 1,2 3-100 {2751 / In any direction
7.Transmission diversity
122E (n1=3000rpm, A% )
Noise level (N1=3000rpm,off load) dB 12 3-100 <65 <67 <70

53

54




RESE / ZPFR &5 / HEESEL FEE / ZPFR 251 /AN S R

12 &E#15 Helical Tooth with M t of Inerti
R EE; Ical 1ooth wi oment o1 Inertia .
ZPFR-060-L1 4MEE Profile
#A& Model Hfi Unit T5#{ Stage IRELL Ratio ZPFR060 ZPFRO090 ZPFR120 ZPFR142
asn c7 Ocs
3 0.16 0.61 3.25 9.21 . . \ _ \ “
4 0.14 0.48 2.74 7.54 //;—\\ /Q
w — }&/ 0 \}3\
5 0.13 0.47 271 7.42 b /
/ \ \ ©
1 6 0.13 0.45 2.65 7.25 , ™ | P 5 | No |
7 0.13 0.45 2.62 7.14 ‘\ % ;o [RS\} i\ ° b
12
1R \
8 0.13 0.44 258 7.07 o IS L = o 0 o
10 0.13 0.44 2.57 7.04 T e, T, —=
4-435.5 = oz =
12 0.03 0.13 0.47 271
15 0.03 0.13 0.47 271 E
16 0.03 0.13 0.47 271 8
BHRE J, kg.cm? _
20 0.03 0.13 0.47 2.71 Hpoar
A CdGT
25 0.03 0.13 0.47 271
3h%
30 0.03 0.13 0.47 2.71 %08 4 X0. 80
2 35 0.03 0.13 0.44 271 2 (@
40 0.03 0.13 0.44 271 wrs Lo
50 0.03 0.13 0.44 257
60 0.03 0.13 0.44 2.57 F EARRARENEIRY, BARRTIREEABHRTEH
70 0.03 0.13 0.44 257
80 0.03 0.13 0.44 257
100 0.03 0.13 0.44 257 ZPFR-060-L2 4MEZ B Profile

]

%
— ]

\\ﬁ

~

N e
\
}
/

¢

[

ci0

[:4

Yo ©

i\ %/y D
allet ‘
‘M
|
5 P
J O
%
) 5

4 453 = oz &

C3
C&

Cé,

BT
LYty

W30 &P W30 8P

wl (o
N\
#EA S L EERY) D18j8
F: UEAEARMENRY, AR IREERENR T ES
{oy R~ size
R~ Cl c2 (0X] C4 C5 C6 (74 C8 C9 Cc10
ZPFR-060-L1 70 4-M4x10 <14/<16 50 37 8 155 23 65 183.5
ZPFR-060-L2 70 4-M4x10 <14/<16 50 37 8 177 23 65 163

55 56



& / ZPFR 7 / INEE R~

ZPFR-090-L1 4MEE Profile

aoce
" x 4@ 8 - -
— =\ P
<
128 A . Q
\ | \
©) = : )
& I \ \EY E\ o) L
2n A
b : X
S — 2 2\‘7/ )
cans X ) 1le )
5
Loears|
ey
ME X1 25P WEX 1 25P
T &t Tl 52
E: UEAERENENRY, BARRTIREREEBIRTES
ZPFR-090-L2 4MEZE Profile
)]
) Ll a8 5 O
/Ci( P .s"/‘ a5
z | 3z (%
\ © ©
Qm A= IB\RSS
/ 2 Q ©
0 N \z d B
¥ z T
vere | % o i
AL
40407
Wa 1. 25P o7 wgxi,25p
oA e
\2 SN
AR st $22j6 JamT 52 kL]
E: UEAERRNENRY, BARRTIREEKENRTES
& RT% size
R~ C1 Cc2 (OX] C4 C5 C6 (o74 C8 C9 C10
ZPFR-090-L1 90 4-M5x12 <19/<24 70 50 8 201 275 80 147
ZPFR-090-L2 70 4-M4x10 <16 50 37 8 196 23 65 125

57

5 / ZPFR ¥ / INE S R~F

ZPFR-120-L1 4MEE Profile

7

[mAE]
/,._& 55 12 §
T~
/® \®\ LTLT B
:\ \ -
| D) L gn
\ S I
/
2%
NG g -
Tk 2]l
Og]
40467
W21 750 10 wizxq 7se
o (7
@ @
HWER s1 B2 HWER s2 v 32j8
E: UEABAENBNRY, BARRIIURERFEBHNRTES
ZPFR-120-L2 4MEZE Profile
s =
%-wx & 12 %
T B
/® \®\ )
/ N Voo \
| ) L 29
\ \S N Y
/ 2
) 2
A )g ||
T 2 |
499 % o ) |
1z g |
]|
!
Ll
pears
Wi2x 1 73R 0 wpax1 7R
N7
S &/
Db b32i8
R s1 it s2
E: MEABRENENRY, MAKRTIREEKRENRT ES
& Rtk size
R~ C1 c2 C3 C4 C5 C6 (074 Cc8 C9 C10
ZPFR-120-L1 145 4-M8x20 <35 110 60 8 270 35 130 183.5
ZPFR-120-L2 90 4-M5x12 <24 70 50 8 264.5 27.5 80 163
58




PiE / ZPE E5 / AR L / ZPE 5751 / HRESHEL

Z P E {8} ZPE Z%|I1tES# % | ZPE Series Performance Table
SERIES

#4& Model B{j Unit ¥ Stage EE Ratio ZPE060 ZPE0S0 ZPE120
%
3 35 130 208
. 4 50 140 290
5 5 60 160 330
1 6 55 150 310
7 50 140 300
8 45 120 260
10 40 100 230
12 55 160 290
15 55 140 208
AL 16 55 140 208
Nm
Rated output torqueT2N 20 50 140 290
25 60 160 330
30 55 150 310
2 35 50 140 300
40 45 120 260
50 60 160 330
60 58] 150 310
70 50 140 300
80 45 120 260
100 40 100 230
2% . )
Emergency stop torqueToor Nm 12 3-100 ={EFEMH S4E / Triple rated output torque
NE pES
g)".—'E@)\%E 1,2 3-100 5000 4000 4000
Rated input speed N,y
= N rom
. Eijqﬁ)\ﬁlz 1,2 3-100 10000 8000 8000
Maximum input speed N,z
1 3-10 <5 <5 <5
N BEER )
Hb!l:""'ﬁ“ FUTURE Precision backlashP1 aremin
2 12-100 <8 <8 <8
l
HREAE Nm/arcmin 12 3-100 7 14 25
Torsional rigidity
L {EE (=] *; IEJ B’%E BIFEEN N 1,2 3-100 1530 3250 6700
? ; j( Allowable radial force F,,g !
® HiE e
ﬁlﬂﬂ? 73 N 1,2 3-100 765 1625 3350
PS %&‘ig Allowable axial force F,,g
PN
%D hrs 1,2 3-100 20000
([ ] 1&"5‘7‘5% Sevice life
3 1 3-10 297%
©® LU(ERE e o ’
N wes Efficiency
® SHhfEiER R 4P Ja— 2 12-100 294%
: N 1 310 13 37 7.8
1.Small backlash L ke
i Gross weight
2.High torque 2 12-100 15 4.1 9
.High efficien B
3:Hiigh effioiency Workigiﬂirature °c 12 8-100 -107C~90°C
4.Low noise
. . Ehi] - ' o
5.Easy installation Lubricating 1,2 3-100 S RE8MAE / Synthetic lubricating grease
; i~ ti 4
6.Maintenance-free grease lubrication L 12 3-100 1PE5
IP Grade
RERM . N
Installation direction 12 S0 HER1 / In any direction
I2Z{& (n1=3000rpm, 1A% )
Noise level (N1=3000rpm,off load) ds 1.2 3-100 <63 <65 <68

59 60



RES / ZPE P / HBESEL #iE3E / ZPE 25 / ANE SR

1B E#1E Helical Tooth with M t of Inerti
5l ER ] Ical 100th wi oment of Inertia .
ZPE-060-L1 4}MZE Profile
#A& Model Hfi Unit T5#{ Stage IRELL Ratio ZPE060 ZPE090 ZPE120 .
o7
3 0.16 0.61 3.25 a N » w
4 0.14 0.48 2.74 . %
5 013 0.47 271 - (0) N -
g w / \
1 6 0.13 0.45 2,65 I | — @ N
o M T o
o B o ] L3 [ ™o |
7 0.13 0.45 2.62 S B | g 3 \ S ,
8 0.13 0.44 2.58 - ®
10 0.13 0.44 257 D )@(
12 0.03 0.13 0.47 . === y
T g jerd 51
15 0.03 0.13 0.47 [ &
16 0.03 0.13 0.47
BHRE J, kg.cm?
20 0.03 0.13 0.47
25 0.03 0.13 0.47 N L
30 0.03 0.13 0.47
o (a
2 35 0.03 0.13 0.44 N7 N7
40 0.03 0.13 0.44 Rl 51 |16 imalzt 52 168
50 0.03 0.13 0.44
60 0.03 0.13 0.44 F EARRARENEIRY, BARRTIREEABHRTEH
70 0.03 0.13 0.44
80 0.03 0.13 0.44
100 0.03 013 0.44 ZPE-060-L2 4MiZ & Profile
c7 oo
34 o] S :‘{‘r
] 2\ AO~ &
2z 1 /
i | ® !
o e | S Doy |l
E i) 1 tE o) ]
12 O
N1
L |ce | o B \g
&5 s -
She
M50, 8P M5 0. 8P
= (c
& &
st 51 | a6l T 52 | aieid
A UEAERENENRYT, MARRTIRIEEAEIRTES
{8 R~T%& size
R~ C1l Cc2 C3 C4 C5 C6 (74 Cc8 C9
ZPE-060-L1 70 4-M4x10 <14/<16 50 37 8 116 23 65
ZPE-060-L2 70 4-M4x10 <14/<16 50 37 8 139 23 65

61 62



FE3 / ZPE BT / INES RS FES / ZPE 27 / INES R~

ZPE-090-L1 4MEZE Profile ZPE-120-L1 4MEZE Profile
o7 oo
o7
O 0 cg8
dé = e e
— — A ;2 5 40
@ Q =
2 | a2 /q
19 \ g 3 . i o5
g 8« = MOV 5 %S 93
Fon® % } E 2| \\ % O /f
O 2
20 ] b/ 2 /\g
1.5 |es| oz I \c;, L‘P Cé
8.5 &5 . <]
M8 1. 25P H ME =1, 25P
- W21 758 TP gz se
& " (@
AT $1 B 22b AT 52 228
R s 3t WmR s2 ik
U EAERRENENRY, BARRTIRIEEABIRTES i DEABREXNBENRYT, MARRTUIRIEEGBIRTES
ZPE-090-L2 4MZE Profile ZPE-120-L2 4}MEZE Profile
7
o7 70 &
2 oce g oce
o8 o 5. L) o a5
2l (% ;TLT — ' < ;;zf
—; @ o : ' _—
- I g ¥ = g [ MOV M|
2 & a &g ; (o] -l & 5 g 3
A 2 ?i g f \\O \: 5 Y/ —J et \ e /‘
N N
20 \d\ d - 25 | 8 @ )a/
. ks Ale T %
=1 o £ ] \%} 2 | L4
8.3 L7 ]
M8 3 1. 25 Sh% g1, 95p
0 7 Mi231. 75P 1003 2. 75e
> & &/
& 1 @
HZ 81 $22)6 g 82 $22)6
R st — R 52 et
A U EAERENBIRYT, BARRTURERKRBIR T ES F UEAEARNENRY, BAKRTUREEFBHNRTES
{8 R~ size {8 R~T%& size
R~ C1 c2 Cc3 C4 C5 C6 (e74 (01:] Cc9 R~ Cc1 c2 Cc3 C4 C5 C6 (674 cs Cc9
ZPE-090-L1 90 4-M5x12 <19/<24 70 50 8 148.5 27.5 80 ZPE-120-L1 145 4-M8x20 <35 110 60 8 198.5 35 130
ZPE-090-L2 70 4-M4x10 <16 50 37 8 156.5 23 65 ZPE-120-L2 90 4-M5x12 <24 70 50 8 212.5 27.5 80

63 64



PiE / ZPER &5 / #Ek S5 / ZPER K7l /¢

TEES AN

{8 ZPER %5t #eS#% | ZPER Series Performance Table

Z P E R SERIES

##& Model Bf Unit 9% Stage IR L Ratio ZPERO060 ZPER090 ZPER120
E]]
3 35 130 208
4 50 140 290
5 60 160 330
1 6 55 150 310
7 50 140 300
8 45 120 260
10 40 100 230
12 55 160 290
15 55 140 208
HFEB e Nm 16 55 140 208
Rated output torqueT2N 20 50 140 290
25 60 160 330
5-5"?: 30 55 150 310
:i;j’.;g! 2 35 50 140 300
L
i 40 45 120 260
eI
#e g 50 60 160 330
g
= 60 55 150 310
70 50 140 300
80 45 120 260
100 40 100 230
af= . )
Emergenc:;/ {stgﬂp%’t%rqueT Nm 12 3-100 ={EFEMH S4E / Triple rated output torque
2NOT
i &
Ratfgﬁﬁt)\fe’f an 1.2 3-100 5000 4000 4000
1N
= N rom
Maximfnfﬁ)ﬁ\ffie an 1.2 3-100 10000 8000 8000
1B
1 3-10 <7 <7 <7
ok gt FEEER .
ﬁb#‘]‘ﬁi\\ FUTURE Precision backlashP1 aremin
2 12-100 <9 <9 <9
HEERIME )
Torsional rigidity Nm/arcmin 1,2 3-100 7 14 25
® (KL B A N 1.2 3-100 1530 3250 6700
Allowable radial force F,,g !
© HEX BT N 12 3-100 765 1625 3350
° _é._;&z Allowable axial force F,,g !
'E 9 PN
® = éfffﬁ?e hrs 12 3-100 20000
=]
) - 0,
@ RERE M= . 1 3-10 >95%
. oy Efficiency °
® JHfsiEBREF 2 12-100 >929%
® EHSHFME == 1 3-10 21 5.4 115
=
Gross weight ke 5 2155 2 . ;
1.Small backlash 12-1 -7 5 12.5
2.High torque iR o ' -10° C~90°
.g q Working temperature c 12 8-100 10°C~80°C
3.High efficiency B
L O\ 3 36 3rh B i it
4.Low noise Lubricating 12 3-100 & R HAS / Synthetic lubricating grease
. . 4]
5.Easy installation Fg?gfcﬁ 12 3-100 P65
6.Maintenance-free grease lubrication 223 .
issi i ) i Instalitifr?d?ection 1,2 3-100 {EZ75[E / In any direction
7.Transmission diversity = ah
125& (n1=3000rpm, % ) _
Noise level (N1=3000rpm,off load) ds 1.2 8-100 <65 =67 70

65

66




MESE / ZPER Z71 / HRESH FESE / ZPER 1 / INEE RS

1B E#1E Helical Tooth with M t of Inerti
5l ER ] Ical 100th wi oment of Inertia .
ZPER-060-L1 4}ME2E Profile
#A& Model Hfi Unit T5#{ Stage IRELL Ratio ZPERO060 ZPER090 ZPER120
[ oce
3 0.16 0.61 3.25 B , ]
o g5
4 0.14 0.48 2.74 ,,%
| e
5 0.13 0.47 271 - Kb R
i - \ = \
1 6 0.13 0.45 2.65 44 > ‘ No |
7 0.13 0.45 262 N IS\ :\ OO
12
8 0.13 0.44 2.58 | s \@/\ F< o
10 0.13 0.44 2,57 I ===
| 2 o,
12 0.03 0.13 0.47 22
15 0.03 0.13 0.47 NP | R
16 0.03 0.13 0.47 il
BaiRE J, kg.cm? | o3|
20 0.03 0.13 0.47 seiss
25 0.03 0.13 0.47
30 0.03 0.13 0.47 o0 oo P e
2 35 0.03 0.13 0.44 g @
40 0.03 0.13 0.44 . e
50 0.03 0.13 0.44
60 0.03 0.13 0.44 F EARRARENEIRY, BARRTIREEABHRTEH
70 0.03 0.13 0.44
80 0.03 0.13 0.44
100 0.03 0.13 0.44 ZPER-060-L2 4MZ B Profile
C: acs
3% o :0‘5~
] I 8 A&
R — \ /& \
R | \O |
ik D) i % 9 ]
®
12
MEN \
|| g g g &
L o2 o
.5
0457
She
W30 8P
= (o
©
L 82 AL
e UEAERBENENRY, SABRTIREEABIR T EH
{8 R~T%& size
R~ C1 c2 C3 C4 C5 C6 (o74 Cc8 C9 C10
ZPER-060-L1 70 4-M4x10 <14/<16 50 37 8 155 23 65 111
ZPER-060-L2 70 4-M4x10 <14/<16 50 37 8 177 23 65 111

67 68



&S / ZPER R / INE SRS FiES / ZPER B / INE SR
ZPER-090-L1 4MiZ & Profile ZPER-120-L1 4MiZE Profile

46

32
\ .
o [
2
20

P

:

D éGed
a2

4120
D90g6
B 38

,?5
ﬁ

il

&
B
it
bl T — g
g
os pears
HCArF 2L
. she .
Wi 1 25P WEX 1. 250 Wi2x1, T3P 100 Wizt 7Ee
. A {(@
N & Y
3t 51 e 52 12206 W o1 L3 R s2 i

E M ENERENBIRY, BARRIIREREEIRTES E UEAEREMBEIRY, MARRIIRIERFEIRTER

ZPER-090-L2 4MZE Profile ZPER-120-L2 9MEZE Profile

[

oy
A

=
2122

«»
Y ]
Al

5 40
@ O) =
2 &= o\ |l \
L [ \[\//O g B oa
s © IR
n ° 0 B g

pri]

w
tn
5

1

E A-HE¥ 18 12 8 | |
E ! = Ll
i )
$ 0407 2 OEF
2 4F
WE X 1. 25P sh? wex1. 25 WiZX1 TER W wiaxr TSk
W ; @y 1 + 8 @ﬂ
s 51 L0%Rie e 52 2 R s1 LA MR s2 s
A U EAERENBIRYT, BARRTURERKRBIR T ES F UEAEARNENRY, BAKRTUREEFBHNRTES
& R % size & Rtk size
R~ C1 (67 C3 C4 C5 C6 (o174 C8 Cc9 C10 R~ C1 c2 C3 C4 C5 C6 c7 C8 Cc9 C10
ZPER-090-L1 90 4-M5x12 <19/<24 70 50 8 201 27.5 80 147 ZPER-120-L1 145 4-M8x20 <35 110 60 8 270 35 130 183.5
ZPER-090-L2 70 4-M4x10 <16 50 37 8 196 23 65 125 ZPER-120-L2 90 4-M5x12 <24 70 50 8 264.5 27.5 80 163
69

70



FHES / 2RISR Assembly Guide

B5 Bl EEXE

2 B ARBA DRI R B el S B AR AE R D B A T

4. R TR A5

5. hEFF SRR RLL AR A NTRMANILERBERRE,
RSB EET M ERER R B SR AT 5.

Bl4 Bl EEXE

2 B NI RIEN R B TSl S SRR (AR D iE A T3

4B =R R

=

5. BEFFRRIRLL AR NT AL EREEREE,
AEBEEET SR LS EEAIREIL SRR RETe 5.

120/115 142/160

17

Straight teeth
series

B

5

HIL]

Z B series
EX7]

ZBR series
EX7)

ZBD series
#5

ZBS series
#5

ZF series
EX7]

ZFR series
E47]

ZFS series
#5

ZE series
#51

ZER series
EX7]

ZES series
EX7)



B3 / 7B &5 / A Bk / 7B 5% / 1aESH

{8t ZB ZF4RES ¥ 3% / ZB Series Performance Table

ZB SERIES

I ##& Model B Unit T# Stage IRELE Ratio ZB042 ZB060 ZB090 ZB115 ZB142 ZB190 ZB240 ZB280 ZB330
’%51 3 - 20 50 140 310 1050 | 1600 - -
4 18 35 90 240 605 | 11780 | 3500 | 5800 | 10190
) 5 16 32 70 240 605 1345 | 2640 | 4400 | 7180
7 - - 50 100 320 - - - -
8 9 20 50 90 300 750 1480 | 2595 | 4080
10 7 15 35 90 250 500 - - -
9 - 25 50 140 340 1050 | 1840 - -
12 25 50 140 340 2030 | 1840 | 4400 | 10000
15 - 25 50 140 340 1485 | 1840 | 5200 | 8800
16 20 40 100 260 680 2035 | 3710 | 6400 | 10800
) 20 20 40 100 260 680 2035 | 3710 | 6400 | 10800
25 20 35 80 260 680 1485 | 2805 | 4710 | 7550
32 20 40 100 260 680 2035 | 3710 | 6400 | 10800
40 20 35 80 260 680 2035 | 2805 | 4710 | 7550
50 20 35 80 260 680 1485 | 2805 = 5
64 20 20 41 - - - 1500 | 2650 | 4500
kit se Nm 60 - 35 60 260 450 2590 | 1950 | 6400 | 10800
Rated output torqueT2N
64 25 m 110 260 680 2590 | 3950 | 8130 | 13700
80 25 44 110 260 680 | 2590 | 3950 | 8130 | 13700
100 25 44 110 260 680 2590 | 3950 | 8130 | 13700
120 : 25 60 260 450 1450 | 1950 | 5800 | 9800
125 25 30 90 260 680 1850 | 3000 | 6030 | 9800
160 25 44 110 260 680 | 2590 | 3950 | 8130 | 13700
200 25 40 90 260 680 1855 | 3950 | 6030 | 9800
3 250 25 - - 260 680 1600 | 3000 | 6030 | 8800
256 20 44 110 - - - - - -
280 : 5 : 260 680 - - - -
320 20 40 60 - - 2590 | 3950 | 6030 | 9800
350 - - - 260 680 - - - -
400 20 - - 260 680 2590 | 3950 - -
500 - - - 260 680 1600 | 3000 - -
512 - 25 52 - - - - 2700 | 5230
1000 : : : 100 275 1070 : : :
RAZHIE Nm 12,3 3-1000 = {EEUE I S4B / Triple rated output torque
Emergency stop torqueT ,yor " -
ot ERAIE 12,3 3-1000 4500 | 4500 | 4000 | 3000 | 3000 | 2000 | 1500 | 1500 | 1500
ﬁbq:\'.l'm\ FUTURE Rated input speed 1, <
= s rpm
BRBARE 1,2,3 3-1000 6000 | 6000 | 6000 | 6000 | 4000 | 3500 | 3000 | 3000 | 3000
Maximum input speed N,z
e ;
. Py - o arcmin - < < < < < < < < <
® TIRXERME Precision backlashP1 3 60-1000 <18 <18 <18 <18 <18 <18 <18 <22 <22
® HNE =SB ERAT A HERIE Nm/arcmin 12,3 3-1000 0.9 18 44 92 | 267 | 667 | 1233 | 2133 | 339
Torsional rigidity
© hifEiiB R 4P SIFEEN N 12,3 3-1000 170 265 440 1240 | 3700 | 6500 | 10500 | 15000 | 17000
Allowable radial force F,.g
® fiets S EIRE I "ifmﬂf rljfjj N 123 3-1000 140 200 400 1000 | 3000 | 5000 | 8000 | 12000 | 15000
AHjEH]7f¥it§$$ Allowable amaAorce Foag
® fi S%\Tf ﬁ?e hrs 12,3 3-1000 20000
® BHIEE _— 1 3-10 >97%
— | o % 2 9-64 >94%
® SHYHAENIME Efficiency 3 501000 1%
- 1 3-10 0.6 1.2 2.7 9.8 20 36 50 110 160
1.For any mounting position Gmfiigm kg 2 9-64 0.8 15 3.4 12.1 25 48 65 135 180
2.Individual adaptation of the input flange to the motor . s S0 L LE 2ol e EY £ 7= i L2
- o : : ERRE °C 1,23 3-1000 -10° C~90° C
3.Lifetime lubrication for maintenance-free operation Working temperature e
4.Equidirectional rotation Lut;'ffﬁng 12,3 3-1000 & EBHAE / Synthetic lubricating grease
5.Wide range of output shaft designs GERET 123 31000 Pes
. . IP Grade
6.Precise gearing EEA = —
7.Higher torsional rigidity Installation direction 123 3-1000 fEE A8 / In any direction
Ngﬁf\/gﬁ;igggg‘p’ fﬁfg; " dB 12 3-1000 <57 | <62 | <65 | <65 | <67 | <68 | <70 | <73 | <5
73 74




BHiE3E /2B X5 /!

TEES A

o EFIBEH Y Straight Tooth with Moment of Inertia

M Model

HBEiRE J,

BA{S Unit

kg.cm?

T# Stage RIELL Ratio ZB042 ZB060 ZB090 ZB115 ZB142 ZB190 ZB240 ZB280 ZB330
3 = 0.135 0.77 2.63 12.14 15.6 15.6 = =
4 0.022 0.093 0.52 1.79 7.78 16.3 16.3 40.2 75.1
5 0.019 0.078 0.45 1.63 6.07 15.4 15.4 39.9 73.4
' 7 - - 0.40 1.32 4.63 - - - -
8 0.017 0.065 0.39 1.32 4.63 16.10 16.1 34.5 62.5
10 0.016 0.065 0.39 1.32 4.63 15.20 - - -
9 0.015 0.131 0.74 2.62 12.14 15.9 15.9 - -
12 0.007 0.127 0.72 2.62 12.37 15.9 15.9 18.8 24.0
15 0.007 0.077 0.71 2.62 12.35 15.9 15.9 18.8 23.0
16 0.005 0.088 0.50 2.62 7.47 15.0 15.0 18.8 23.8
20 0.007 0.075 0.44 2.53 6.65 15.0 15.0 18.8 23.8
2 25 0.007 0.075 0.44 1.50 5.81 15.7 15.0 18.3 23.3
32 0.007 0.064 0.39 1.50 5.81 15.3 15.7 16.8 24.0
40 0.005 0.064 0.39 1.30 5.28 16.10 16.1 16.6 21.6
50 0.005 0.064 0.39 1.30 5.28 15.20 15.2 - 21.6
64 0.015 0.064 0.39 1.30 5.28 7.50 14.3 15.2 18.2
60 0.007 0.076 0.51 112 7.50 7.50 7.50 17.7 19.7
64 0.007 0.076 0.50 112 7.50 7.50 7.50 17.8 19.8
80 0.007 0.075 0.50 112 7.50 7.50 7.50 14.8 19.8
100 0.007 0.075 0.44 1.50 7.40 7.40 7.40 14.8 18.8
120 0.005 0.064 0.70 1.50 7.30 7.30 7.30 14.8 18.8
125 0.007 0.064 0.65 1.50 7.20 7.20 7.20 13.54 18.5
160 0.013 0.064 0.39 1.30 6.50 6.50 6.50 13.54 17.5
200 0.007 0.064 0.39 1.30 6.20 6.20 6.20 13.54 16.5
¢ 250 - - - 1.30 5.40 5.40 5.40 13.50 16.5
280 - - - 1.30 5.70 - - - -
320 0.007 0.064 0.39 1.30 5.40 5.70 5.70 13.3 15.3
350 - - - 1.30 5.40 - - - -
400 - - - 1.30 5.20 5.20 5.20 - -
500 - - - 1.30 5.10 5.10 5.10 - -
512 0.007 0.064 0.39 - - - - 10.5 155
1000 - - - 1.30 4.90 4.90 - -M2 -

75

BHif3 / 7B 25| / NSRS

ZB-L1 4MzE Profile

o

Lz L7 cg oc?
e oo - e
T >%
Lé Ls L(:j‘ /e( \é\
= g Q }
i
L L /
L4 S$’\ /)xi
L] 0z \fc;
[«
i :
Bl // BZhe
= (B £ /
~ 3 /
| /
HigtHt, s1 Higdt, s2 L Hi, 83 7
< D3hds .:E
L8
E: MEABERENENRY, BARRTIREEEEIRTES
& RT% size

R~ ZB042 ZB060 ZB090 ZB115 ZB142 ZB190 ZB240 ZB280 ZB330
D1 50 70 100 130 165 215 265 315 370
D2 3.4 5.5 6.5 9 11 13 18 22 22
D3 13 14/16 20/22 25/32 40 50/55 65 70 80
D4 35 50 80 110 130 160 225 250 290
D5 17 17 25 40 60 65 75 85 95
D6 M4x0.7P M5x0.8P M8x1.25P M10x1.5P M16x2P M20x2.5P M20x2.5P M20x2.5P M20x2.5P
D7 - 10 15 25 35 50 55 65 70
L1 42 65 85 115 142 190 240 285 330
L2 26 32 40 57 86 88 108 132 150
L3 5.5 3 3 4 5 6 6 20 25
L4 19 28 36 52 80 80 100 110 120
L5 16 25 30 45 65 70 90 100 100
L6 2 2 3 5 7 5 5 5 10
L7 8 10 15 20 20 25 25 30
L8 - <24 <30 <52 <60 <75 <78 <90 <120
L9 10 12 16 25 35 42 42 42 42
C1 46 70 90 145 200 215 265 265 265
c2 M4x0.7P M4x0.7P M5x0.8P M8x1.25P M12x1.75P M12x1.75P M12x1.75P M12x1.75P M12x1.75P
C3 <11 <12/<16 <19/s24 <35 <42 <65 <60 <65 <65
C4 27 33 45 60 82 82 120 120 120
C5 30 50 70 110 114.3 180 230 230 230
c6 5 5 6 8 8 8 8 8 8
c7 42 65 85 128 178 198 250 250 250
c8 15 20 26 43 50 54 54 54 54
C9 86.5 112 140 193.5 263 308 352 456 520

C10 10 16 16.5 25 34 35 35 35 35
Bl 5 5 6 8/10 12 14/16 18 20 22
B2 - 3 5 8 10 14 16 18 20
H1 15 16/18 22.5/24.5 28/35 43 53.5/59 69 74.5 85
H2 - 114 17.3 28.3 38.3 53.8 59.3 69.4 74.9

76




Hif3 / 7B %5 / SNE SRS BHif3 / 7B 25| / NSRS

ZB-L2 Mz Profile ZB-L3 4MEE Profile
0P o
Lz Lz & oez OL1 L2 L7 4] acT
L o10_| e A ¥ & L3 oo o %
T _ T~ A “%
Le Ls | F:f / « N)g\ Lo | L5 ‘ ‘{’j /Qf ﬁ%\
-0 1 r -0 - —— ! . o
i \
|2 L / Lte | L /
L4 ¥\ /)8[ L4 X /\&
[<5] oz ¥(} Cér [4r] \Yf}
04 o4
I 7 I 7
Elke // B2h9 | // S
N7 3 - / iRC) g )/
& 3 — N C s //
il s T 82 LI T 83 :&‘/ T 51 T, 52 __pa T, 53 :E'
030 | 4 D3hes i
s Lg
Fr UEAERARNBIRY, BAKRIIREEEBHNRTES Er U EAEARNENRY, BARRTUREEEBNR T ES
& R~J% size 8 R¥F% size
R~ ZB042 yA={o[10] ZB090 ZB115 ZB142 ZB190 ZB240 ZB280 ZB330 R~ ZB042 ZB060 ZB090 ZB115 ZB142 ZB190 ZB240 ZB280 ZB330
D1 50 70 100 130 165 215 265 315 370 D1 50 70 100 130 165 215 265 315 370
D2 3.4 55 6.5 9 11 13 18 22 22 D2 3.4 55 6.5 9 11 13 18 22 22
D3 13 14/16 20/22 25/32 40 50/55 65 70 80 D3 13 14/16 20/22 25/32 40 50/55 65 70 80
D4 35 50 80 110 130 160 225 250 290 D4 35 50 80 110 130 160 225 250 290
D5 17 17 25 40 60 65 75 85 95 D5 17 17 25 40 60 65 75 85 95
D6 M4x0.7P M5x0.8P M8x1.25P M10x1.5P M16x2P M20x2.5P M20x2.5P M20x2.5P M20x2.5P D6 M4x0.7P M5x0.8P M8x1.25P M10x1.5P M16x2P M20x2.5P M20x2.5P M20x2.5P M20x2.5P
D7 - 10 15 25 35 50 55 65 70 D7 - 10 15 25 35 50 55 65 70
L1 42 65 85 115 142 190 240 285 330 L1 42 65 85 115 142 190 240 285 330
L2 26 32 40 57 86 88 108 132 150 L2 26 32 40 57 86 88 108 132 150
L3 55 3 3 4 5 6 6 20 25 L3 5.5 3 3 4 5 6 6 20 25
L4 19 28 36 52 80 80 100 110 120 L4 19 28 36 52 80 80 100 110 120
L5 16 25 30 45 65 70 90 100 100 L5 16 25 30 45 65 70 90 100 100
L6 2 3 5 7 5 5 5 10 L6 2 2 & 5 7 5 5 5 10
L7 8 10 15 20 20 25 25 30 L7 4 8 10 15 20 20 25 25 30
L8 - <24 <30 <52 <60 <75 <78 <90 <120 L8 - <24 <30 <52 <60 <75 <78 <90 <120
L9 10 12 16 25 35 42 42 42 42 L9 10 12 16 25 35 42 42 42 42
C1 46 70 90 145 145 200 215 265 265 C1 46 70 90 145 145 200 215 265 265
c2 M4x0.7P M4x0.7P M5x0.8P M8x1.25P M8x1.25P M12x1.75P M12x1.75P M12x1.75P M12x1.75P c2 M4x0.7P M4x0.7P M5x0.8P M8x1.25P M8x1.25P M12x1.75P M12x1.75P M12x1.75P M12x1.75P
C3 <11 <12/<16 <19/<22 <24 <35 <42 <b5 <60 <60 C3 <11 <12/<16 <19/<22 <24 <35 <42 <65 <60 <60
C4 27 33 45 60 60 82 82 120 120 C4 27 33 45 60 60 82 82 120 120
C5 30 50 70 110 110 114.3 180 230 230 C5 30 50 70 110 110 114.3 180 230 230
C6 5 5 6 8 8 8 8 8 8 C6 5 5 6 8 8 8 8 8 8
(074 42 65 85 128 128 178 198 250 250 C7 42 65 85 128 128 178 198 250 250
C8 15 20 26 43 43 50 54 54 54 c8 15 20 26 43 43 50 54 54 54
(e:¢] 102 129.5 159.5 222.5 283 343 450 524 600 C9 117.5 147 179 251 333 417 510 585 625
C10 10 16 16.5 25 34 35 35 35 35 C10 10 16 16.5 25 34 35 35 35 35
B1 5 5 6 8/10 12 14/16 18 20 22 Bl 5 5 6 8/10 12 14/16 18 20 22
B2 - 3 5 8 10 14 16 18 20 B2 - 3 5 8 10 14 16 18 20
H1 15 16/18 22.5/24.5 28/35 43 53.5/59 69 74.5 85 H1 15 16/18 22.5/24.5 28/35 43 53.5/59 69 74.5 85
H2 - 11.4 17.3 28.3 38.3 53.8 59.3 69.4 74.9 H2 - 114 17.3 28.3 38.3 53.8 59.3 69.4 74.9
78

77




BHiE% / ZBR K75 / fiA

Z B R SERIES

51

79

&)
|

E4: 5 FUTURE

@ TILKRETNE

® MNEZ TSR FHRI B

@ hfEiE B R ES

® [E: 75 (8] [E (5]

©® HHHFENSHE

@ BHIGE

® SHHENIM

® EEZHM

1.For any mounting position

2.Individual adaptation of the input flange to the motor
3.Lifetime lubrication for maintenance-free operation
4 Equidirectional rotation

5.Wide range of output shaft designs

6.Precise gearing

7.Higher torsional rigidity
8.Transmission diversity

Bi53 / 7BR &5 /

{8t ZBR Z514aES#3% / ZBR Series Performance Table

#4& Model Bf Unit ¥ Stage IRIELL Ratio ZBR042 ZBR060 ZBR090 ZBR115 ZBR142 ZBR190 ZBR240
3 - 20 50 140 310 1050 1600
4 18 35 90 240 605 11780 3500
1 5 16 32 70 240 605 1345 2640
7 - - 50 100 320 - -
8 9 20 50 90 300 750 1480
10 7 15 35 90 250 500 -
9 - 25 50 140 340 1050 1840
12 - 25 50 140 340 2030 1840
15 - 25 50 140 340 1485 1840
16 20 40 100 260 680 2035 3710
9 20 20 40 100 260 680 2035 3710
25 20 35 80 260 680 1485 2805
32 20 40 100 260 680 2035 3710
40 20 35 80 260 680 2035 2805
50 20 & 80 260 680 1485 2805
64 20 20 41 90 300 750 1500
g7 o
ki se Nm 60 - 85 60 260 450 2590 1950
Rated output torqueT2N
64 25 44 110 260 680 2590 3950
80 25 44 110 260 680 2590 3950
100 25 44 110 260 680 2590 3950
120 - 25 60 260 450 1450 1950
125 25 30 90 260 680 1850 3000
160 25 44 110 260 680 2590 3950
200 25 40 90 260 680 1855 3950
3 250 25 - - 260 680 1600 3000
256 20 44 110 - - - -
280 - - - 260 680 - -
320 20 40 60 - - 2590 3950
350 - - - 260 680 - -
400 20 - - 260 680 2590 3950
500 - - - 260 680 1600 3000
512 - 25 52 - - - -
1000 - - - 260 275 1070 -
RZHE Nm 12,3 3-1000 = fEEE R L S4B / Triple rated output torque
Emergency stop torqueTyor e -
P =
ﬁ)".—‘E%A%E 1,2,3 3-1000 4500 4500 4000 3000 3000 2000 1500
Rated input speed 1y
BARNER em
B - 1,2,3 3-1000 6000 6000 6000 6000 4000 3500 3000
Maximum input speed N5
, e 1 3-10 <15 <15 <15 <15 <15 <15 <15
BEER )
o arcmin 2 9-64 <18 <18 <18 <18 <18 <18 <18
Precision backlashP1
3 60-1000 <22 <22 <22 <22 <22 <22 <22
I
}_HK%NJ'_E_ . Nm/arcmin 1,2,3 3-1000 0.9 1.8 4.4 9.2 26.7 66.7 123.3
Torsional rigidity
CRIT IR
el¢{;ﬁ]7} N 1,23 3-1000 170 265 440 1240 3700 6500 10500
Allowable radial force F,,g
§1¢E$mj} N 1,2,3 3-1000 140 200 400 1000 3000 5000 8000
Allowable axial force F,,g
O
% hrs 1,2,3 3-1000 20000
Sevice life
1 3-10 294%
Se % 2 9-64 >91°/°
. . 0 = = (]
Efficiency
3 60-1000 289%
- 1 3-10 1 2.2 518 13.9 25.5 42.5
= kg 2 9-64 1.2 2.5 6.1 16.5 30.5 53.5 715
Gross weight
3 60-1000 1.4 2.9 6.7 19.3 35.5 60.5 78.5
ERRE o o o
Working temperature c 123 8-1000 -10°C~90°C
g A S ER . o
Lubricating 12,3 3-1000 & FE BB / Synthetic lubricating grease
FriP &R
IP Grade 1,2,3 3-1000 IP65
ZERM e R
Installation direction 12,3 3-1000 {EE 75 / In any direction
I2E{E (n1=3000rpm, £5%k )
Noise level (1=3000rpm.off load) dB 1,2 3-1000 <60 <62 <65 <65 <68 <70 <72
80




———— I ————
H53¢ / ZBR 2751 / £RESHL B3 / ZBR 251 / SME SRS

= . - -
{or ®EIBEHE Straight Tooth with Moment of Inertia - .
ZBR-L1 4MEE Profile
##& Model  BAfi Unit T5# Stage IMELL Ratio ZBR042 ZBR060 ZBR090 ZBR115 ZBR142 ZBR190 ZBR240 .
oL ocy
3 - 0.135 0.77 2,63 12.14 15.6 15.6 Ho W %
4 0.022 0.093 0.52 1.79 7.78 16.3 16.3 » T -
L& L3
5 0.019 0.078 0.45 1.53 6.07 15.4 15.4 | — / w\
1 E
7 - - 0.40 1.32 4.63 - - 2 E] 2y ‘\ Q |
8 0.017 0.065 0.39 1.32 463 16.10 16.1 Lo z é@& /
La X
10 0.016 0.065 0.39 1.32 463 15.20 - i i
| 02 )
9 0.015 0.131 0.74 2.62 12.14 15.9 15.9 3 =T A
L | [V O = I
12 0.007 0.127 0.72 2.62 12.37 15.9 15.9 °3 q1 8
15 0.007 0.077 0.71 2.62 12.35 15.9 15.9 30901
$ 3504
16 0.005 0.088 0.50 2.62 7.47 15.0 15.0
7
20 0.007 0.075 0.44 253 6.65 15.0 15.0 / -
2 ]
25 0.007 0.075 0.44 1.50 5.81 15.7 15.0 k' /
3 jl
32 0.007 0.064 0.39 1.50 5.81 15.3 15.7 ¥ ]
FhEtw & st sz pif=toc) i
40 0.005 0.064 0.39 1.30 5.28 16.10 16.1 l
50 0.005 0.064 0.39 1.30 5.28 15.20 15.2 s
- 64 0.015 0.064 0.39 1.30 5.28 7.50 14.3
HigE J kg.cm? N N o —
BRE . - 60 0.007 0.076 051 1.12 7.50 7.50 7.50 E: MEABRENENRY, MARRTIREEEENRTES
64 0.007 0.076 0.50 112 7.50 7.50 7.50 {8y R~F3 size
80 0.007 0.075 0.50 1.12 7.50 7.50 7.50
100 0.007 0.075 0.44 1.50 7.40 7.40 7.40 R~ ZBR042 ZBR060 ZBR090 ZBR115 ZBR142 ZBR190
120 0.005 0.064 0.70 1.50 7.30 7.30 7.30 D1 50 70 100 130 165 215
125 0.007 0.064 0.65 1.50 7.20 7.20 7.20 D2 sS4 55 65 9 1 13
D3 13 14/16 20/22 25/32 40 50/55
160 0.013 0.064 0.39 1.30 6.50 6.50 6.50 oL v 0 2 110 130 160
200 0.007 0.064 0.39 1.30 6.20 6.20 6.20 D5 17 17 25 40 60 65
250 o a o 1.30 5.40 5.40 5.40 D6 M4x0.7P M5x0.8P M8x1.26P M10x1.5P M16x2P M20x2.5P
280 _ _ i 130 570 i i D7 - 10 15 25 35 50
L1 42 65 85 115 142 190
320 0.007 0.064 0.39 1.30 5.40 5.70 5.70 T FE & s B e 5
350 - - - 1.30 5.40 - - L3 55 3 3 4 5 6
400 - - - 1.30 5.20 5.20 5.20 L4 19 28 36 52 80 80
500 - - - 1.30 5.10 5.10 5.10 L5 16 25 30 45 65 70
L6 2 2 3 5 7 5
512 0.007 0.064 0.39 - - - - 7 8 0 15 20 20
1000 - - - 1.30 4.90 4.90 - L8 - <24 <30 <52 <60 <75
L9 10 12 16 25 35 42
c1 46 70 90 145 200 215
c2 M4x0.7P M4x0.7P M5x0.8P M8x1.25P M12x1.75P M12x1.75P
c3 <11 <12/<16 <19/<24 <35 <42 <55
cu 27 33 45 60 82 82
C5 30 50 70 110 114.3 180
c6 5 5 6 8 8 8
c7 42 65 85 128 178 198
cs8 15 20 26 43 50 54
c9 99.5 143.3 181 253 3525 397
c10 10 16 16.5 25 34 35
ci11 67 98 129 184 240 256.5
B1 5 5 6 8/10 12 14/16
B2 - 3 5 8 10 14
H1 15 16/18 22.5/24.5 28/35 43 53.5/59
H2 - 11.4 17.3 28.3 38.3 53.8

81

82




BiE3% / ZBR X / INES RS

ZBR-L2 4MIZE Profile

[m]

7

Lo LS /8\/ &é\
17 ! |
L -1
| e %
3 r* R
| [ [V N =t =
q,‘ H
DO3FT
ERENTS
i
EB1hD // -
- (€ 3 )/
N JI
ST, 51 Fhat sz Jhad 53 L&j
La
F: UEABARNSENRY, BAGBRTIREEEBIRTER
{8 R~ size
R~ ZBR042 ZBR060 ZBR090 ZBR115 ZBR142 ZBR190 ZBR240
D1 50 70 100 130 165 215 265
D2 3.4 5.5 6.5 9 11 13 18
D3 13 14/16 20/22 25/32 40 50/55 65
D4 35 50 80 110 130 160 225
D5 17 17 25 40 60 65 75
D6 M4x0.7P M5x0.8P M8x1.25P M10x1.5P M16x2P M20x2.5P M20x2.5P
D7 - 10 15 25 35 50 55
L1 42 65 85 115 142 190 240
L2 26 32 40 55 86 88 108
L3 5.5 3 3 4 5 6 6
L4 19 28 36 52 80 80 100
L5 16 25 30 45 65 70 90
L6 2 3 5 7 5 5
L7 8 10 15 20 20 25
L8 - <24 <30 <52 <60 <75 <78
L9 10 12 16 25 35 42 42
C1 46 70 90 145 145 200 215
c2 M4x0.7P M4x0.7P M5x0.8P M8x1.25P M8x1.25P M12x1.75P M12x1.75P
C3 <11 <12/<16 <19/<22 <24 <35 <42 <55
C4 27 33 45 60 60 82 82
C5 30 50 70 110 110 114.3 180
Cc6 5 5 6 8 8 8 8
Cc7 42 65 85 128 128 178 198
c8 15 20 26 43 43 50 54
c9 103 161 201 300 400 306.5 512
C10 10 16 16.5 25 34 35 35
Cl1 67 98 129 184 240 256.5 315
B1 5 5 6 8/10 12 14/16 18
B2 - 3 5 8 10 14 16
H1 15 16/18 22.5/24.5 28/35 43 53.5/59 69
H2 - 11.4 17.3 28.3 38.3 53.8 59.3

83

BiE¥E / ZBREA / INEERYT

ZBR-L3 4MZE Profile

o

2 0dgb

abd

Gd

(A}

7

al

B2k

Fhatw, 51 st 52 st 53
La
A UEABARENBNRY, BARRITIURERFEBNRTES
{8 R~T%& size
R~ ZBR042 ZBR060 ZBR090 ZBR115 ZBR142 ZBR190 ZBR240

D1 50 70 100 130 165 215 265
D2 3.4 5.5 6.5 9 11 13 18
D3 13 14/16 20/22 25/32 40 50/55 65
D4 35 50 80 110 130 160 225
D5 17 17 25 40 60 65 75
D6 M4x0.7P M5x0.8P M8x1.25P M10x1.5P M16x2P M20x2.5P M20x2.5P
D7 - 10 15 25 35 50 65
L1 42 65 85 115 142 190 240
L2 26 32 40 55 86 88 108
L3 5.5 3 3 4 5 6 6
L4 19 28 36 52 80 80 100
L5 16 25 30 45 65 70 90
L6 3 5 7 5 5
L7 4 10 15 20 20 25
L8 - <24 <30 <52 <60 <75 <78
L9 10 12 16 25 35 42 42
C1 46 70 90 145 145 200 215
c2 M4x0.7P M4x0.7P M5x0.8P M8x1.25P M8x1.26P M12x1.75P M12x1.75P
C3 <11 <12/<16 <19/<22 <24 <35 <42 <55
C4 27 33 45 60 60 82 82
C5 30 50 70 110 110 114.3 180
C6 5 5 6 8 8 8 8
Cc7 42 65 85 128 128 178 198
c8 15 20 26 43 43 50 54
C9 119.5 180.5 220.5 329 432 356.5 562

C10 10 16 16.5 25 34 35 35

Cl1 67 98 131.5 179 192 256 314
Bl 5 5 6 8/10 12 14/16 18
B2 - 3 5 8 10 14 16
H1 15 16/18 22.5/24.5 28/35 43 53.5/59 69
H2 - 11.4 17.3 28.3 38.3 53.8 59.3

84




Bi5% / 7BD X7l / A Bi53 / 7BD 55 /!

TEES A

{8t ZBD Z514ES#3% / ZBD Series Performance Table

Z B D SERIES

? Ij ##& Model B{7 Unit T# Stage IRIELL Ratio zZBD042 ZBD060 ZBD090 ZBD115 ZBD142 ZBD190 ZBD240 ZBD280 ZBD330
EX 3 = 20 50 140 310 | 1050 | 1600 . 5
4 18 35 90 240 605 | 11780 | 3500 | 5800 | 10190
) 5 16 32 70 240 605 | 1345 | 2640 | 4400 | 7180
7 - - 50 100 320 - - - -
8 9 20 50 90 300 750 1480 | 2595 | 4080
10 7 15 35 90 250 500 - - -
9 - 25 50 140 340 | 1050 | 1840 - -
12 25 50 140 340 | 2030 | 1840 | 4400 | 10000
15 - 25 50 140 340 | 1485 | 1840 | 5200 | 8800
16 20 40 100 260 680 | 2035 | 3710 | 6400 | 10800
) 20 20 40 100 260 680 | 2035 | 3710 | 6400 | 10800
25 20 35 80 260 680 | 1485 | 2805 | 4710 | 7550
32 20 40 100 260 680 | 2035 | 3710 | 6400 | 10800
40 20 35 80 260 680 | 2035 | 2805 | 4710 | 7550
50 20 35 80 260 680 | 1485 | 2805 : 5
64 20 20 41 - - - 1500 | 2650 | 4500
—
ki 5E Nm 60 - 35 60 260 450 | 2590 | 1950 | 6400 | 10800
Rated output torqueT2N
64 25 44 110 260 680 | 2590 | 3950 | 8130 | 18700
80 25 44 110 260 680 | 2590 | 3950 | 8130 | 13700
100 25 4 110 260 680 | 2590 | 3950 | 8130 | 13700
120 = 25 60 260 450 | 1450 | 1950 | 5800 | 9800
125 25 30 90 260 680 | 1850 | 3000 | 6030 | 9800
160 25 A 110 260 680 | 2590 | 3950 | 8130 | 13700
200 25 40 90 260 680 1855 | 3950 | 6030 | 9800
3 250 25 - - 260 680 | 1600 | 3000 | 6030 | 8800
256 20 m 110 - - - - - -
280 : 5 : 260 680 : : : :
320 20 40 60 - - 2500 | 3950 | 6030 | 9800
350 - - - 260 680 - - - -
400 20 - - 260 680 | 2590 | 3950 - -
500 - - - 260 680 1600 | 3000 - -
512 - 25 52 - - - - 2700 | 5230
1000 : - - 100 275 1070 = 5 =
RiEsE Nm 1,2,3 3-1000 ==EE S H 1% / Triple rated output torque
Emergency stop torqueT ,yor o -
ab it ERAIE 12,3 3-1000 4500 | 4500 | 4000 | 3000 | 3000 | 2000 | 1500 | 1500 | 1500
ﬁbq:\'.l'm\ FUTURE Rated input speed 1, om <
BRBARE 1,2,3 3-1000 6000 | 6000 | 6000 | 6000 | 4000 | 3500 | 3000 | 3000 | 3000
Maximum input speed N,z
I 1 3-10 <12 <12 <12 <12 <12 <12 <12 <15 <15
BB PR .
N - ] 2 9-64 <15 <15 <15 <15 <15 <15 <15 <18 <18
o] LEEAEEZAN Precision backlashP1 aremin
® TIRXERME 3 60-1000 <18 <18 <18 <18 <18 <18 <18 <22 <22
A ~. 4 |
® HNE =SB ERAT A HERIE Nm/arcmin 12,3 3-1000 0.9 18 44 92 | 267 | 66.7 | 1233 | 2133 | 339
Torsional rigidity
i RE S S/
© hifEiiB R 4P SIFEEN N 12,3 3-1000 170 265 440 | 1240 | 3700 | 6500 | 10500 | 15000 | 17000
Allowable radial force F,.g
® fiets S EIRE BIFHE N N 12,3 3-1000 140 200 400 | 1000 | 3000 | 5000 | 8000 | 12000 | 15000
KA{:I:',EHH¥_§§$$ Allowable axial force F,.g
@ i T PN
W éff?f ﬁ?e hrs 12,3 3-1000 20000
y=E= AN
® BIHNE s 1 3-10 >97%
= o % 2 9-64 >94%
@ SN Efficienc
= E RN Y 3 60-1000 >91%
=5 1 3-10 0.6 12 2.7 9.8 20 36 50 110 160
1.For any mounting position Gross ii aht kg 2 9-64 0.8 15 3.4 12.1 25 48 65 135 180
2.Individual adaptation of the input flange to the motor . s S0 L LE 2ol e EY £ 7= i L2
- o : : SRR °C 1,23 3-1000 -10° C~90° C
3.Lifetime lubrication for maintenance-free operation Working temperature -
4 . Equidirectional rotation Lut;'f(fﬁng 123 3-1000 AR EHAE / Synthetic lubricating grease
i i 4
5.Wide range of output shaft designs HIPZR 123 31000 P65
. . IP Grade
6.Precise gearing EEA
7.Higher torsional rigidity Installation direction 123 3-1000 fEE A8 / In any direction
1238 (n1=3000rpm, Tf% )
Noise level (11=3000rpm,off load) dB 12 3-1000 <57 <62 <65 <65 <67 <68 <70 <73 <75
85 86




Bi5% / 7BD K7l /!

TRESH

BiE3% / ZBD 541 / INEE RS

{oy ®EIBEBHY Straight Tooth with Moment of Inertia . .
ZBD 4MEE Profile
A Model BAfi Unit Ti#{ Stage IR&ELL Ratio ZBD042 ZBD060 ZBD090 ZBD115 ZBD142 ZBD190 ZBD240 ZBD280 ZBD330 oD
3 - 0.135 0.77 2.63 12.14 15.6 15.6 - - — |—|
4 0.022 0.093 0.52 1.79 7.78 16.3 16.3 40.2 75.1 = @ ED
5 0.019 0.078 0.45 1.53 6.07 15.4 15.4 39.9 73.4 /O O Inm
! 7 - - 0.40 1.32 4,63 - - - -
8 0.017 0.065 0.39 1.32 4,63 16.10 16.1 34.5 62.5 ———
10 0.016 0.065 0.39 1.32 463 15.20 - - - — & B +—— ——1+—— - ——T—— —
9 0.015 0.131 0.74 2.62 12.14 15.9 15.9 - - I
12 0.007 0.127 0.72 2.62 12.37 15.9 15.9 18.8 24.0
15 0.007 0.077 071 2.62 12.35 15.9 15.9 18.8 23.0 O i
16 0.005 0.088 0.50 2.62 7.47 15.0 15.0 18.8 23.8 _: ED ED
20 0.007 0.075 0.44 253 6.65 15.0 15.0 18.8 23.8
2 25 0.007 0.075 0.44 1.50 5.81 15.7 15.0 18.3 23.3 m L1 L2
32 0.007 0.064 0.39 1.50 5.81 15.3 15.7 16.8 24.0 L7 13
40 0.005 0.064 0.39 1.30 5.28 16.10 16.1 16.6 21.6
50 0.005 0.064 0.39 1.30 5.28 15.20 15.2 - 21.6 i HER<T28 7B %5
64 0.015 0.064 0.39 1.30 5.28 7.50 14.3 15.2 18.2
BHiRE J, kg.cm?
60 0.007 0.076 0.51 1.12 7.50 7.50 7.50 17.7 19.7
64 0.007 0.076 0.50 1.12 7.50 7.50 7.50 17.8 19.8
80 0.007 0.075 0.50 1.12 7.50 7.50 7.50 14.8 19.8
100 0.007 0.075 0.44 1.50 7.40 7.40 7.40 14.8 18.8
120 0.005 0.064 0.70 1.50 7.30 7.30 7.30 14.8 18.8 ZBD060 ZBD0%0 ZBD115 ZBD142
125 0.007 0.064 0.65 1.50 7.20 7.20 7.20 13.54 18.5 2 2 2 2
160 0.013 0.064 0.39 1.30 6.50 6.50 6.50 13.54 17.5 b1 e 47 e 449 49 449 449 409 449 449 409 449
. 200 0.007 0.064 0.39 1.30 6.20 6.20 6.20 13.54 16.5 1 B B e e O e = . . 0 9 9
=l ) ) ) i 2y 220 2y Eiy L L2 28 45 63 51 70 90 71 110 130 109 154 200
280 . - . 1.30 570 - i} . - L3 45 62 80 70 90 110 105 137 169 130 175 222
320 0.007 0.064 0.39 1.30 5.40 5.70 5.70 13.3 15.3 La 78 78 78 101 101 101 135 135 135 165 165 165
350 . . i} 1.30 5.40 - . . . L5 90 90 90 115 115 115 150 150 150 185 185 185
400 . - . 1.30 520 520 520 . i} L6 10 10 10 10 10 10 16 16 16 18 18 18
500 . - . 1.30 510 510 510 . . L7 425 425 425 52.5 52.5 52.5 75 75 75 93 93 93
512 0.007 0.064 0.39 - - - - 10.5 15.5
1000 - - - 1.30 4.90 4.90 - -M2 -
ZBD190 ZBD240 ZBD280 ZBD330
P 2 P 2
D1 4-p11 4-dp11 4-dp11 4913 4-413 4-$13 4913 4-413 4-$13 4918 4-418 4-$18
L1 10 10 10 30 30 30 35 35 35 40 40 40
L2 100 100 150 110 110 180 150 150 200 180 230 230
L3 148 148 200 180 180 240 220 220 270 260 310 310
L4 216 216 216 260 260 260 310 310 310 360 360 360
L5 240 240 240 300 300 300 350 350 350 420 420 420
L6 18 18 18 30 30 30 30 30 30 35 35 35
L7 113 113 113 150 150 150 1725 172.5 1725 200 200 200
87 88




BiE53% / 7BS 71 / Ak B3 / 7BS 271 / Hae=48

Z B S {oy ZBS ZFlEBES#E | ZBS Series Performance Table
SERIES

? I] #4& Model By Unit 9 Stage IRELL Ratio ZBS042 zZBS060 ZBS090 ZBS115 ZBS142 ZBS190 ZBS240 ZBS280 ZBS330
EX 3 = 20 50 140 310 | 1050 | 1600 = 5
4 18 35 90 240 605 | 11780 | 3500 | 5800 | 10190
) 5 16 32 70 240 605 | 1345 | 2640 | 4400 | 7180
7 - - 50 100 320 - - - -
8 9 20 50 90 300 750 1480 | 2595 | 4080
10 7 15 35 90 250 500 - - -
9 - 25 50 140 340 | 1050 | 1840 - -
12 - 25 50 140 340 | 2030 | 1840 | 4400 | 10000
15 - 25 50 140 340 | 1485 | 1840 | 5200 | 8800
16 20 40 100 260 680 | 2035 | 3710 | 6400 | 10800
) 20 20 40 100 260 680 | 2035 | 3710 | 6400 | 10800
25 20 35 80 260 680 | 1485 | 2805 | 4710 | 7550
32 20 40 100 260 680 | 2035 | 3710 | 6400 | 10800
40 20 35 80 260 680 | 2035 | 2805 | 4710 | 7550
50 20 35 80 260 680 | 1485 | 2805 : :
64 20 20 41 - - - 1500 | 2650 | 4500
—
Rate fgﬁfz ﬁgﬂéEeTZN Nm 60 - 35 60 260 450 | 2590 | 1950 | 6400 | 10800
64 25 44 110 260 680 | 2590 | 3950 | 8130 | 13700
80 25 44 110 260 680 | 2590 | 3950 | 8130 | 13700
100 25 4 110 260 680 | 2590 | 3950 | 8130 | 13700
120 - 25 60 260 450 1450 | 1950 | 5800 | 9800
125 25 30 90 260 680 1850 | 3000 | 6030 | 9800
160 25 m 110 260 680 | 2590 | 3950 | 8130 | 13700
200 25 40 90 260 680 1855 | 3950 | 6030 | 9800
3 250 25 - - 260 680 1600 | 3000 | 6030 | 8800
256 20 m 110 - - - - - -
280 : : : 260 680 s : : :
320 20 40 60 - - 2500 | 3950 | 6030 | 9800
350 - - - 260 680 - - - -
400 20 - - 260 680 | 2590 | 3950 - -
500 - - - 260 680 1600 | 3000 - -
512 - 25 52 - - - - 2700 | 5230
1000 : : s 100 275 1070 - = =
SizmE e i
i = [E5R
Emergency stop torqueTuor Nm 1,23 3-1000 ={EFEH M A%E / Triple rated output torque
FEMALIR
b gt L
Hb#\:r ,ﬁ“ FUTURE Rated input speed 1., o 1,2,3 3-1000 4500 | 4500 | 4000 | 3000 | 3000 | 2000 | 1500 | 1500 | 1500
BRBARE 1,2,3 3-1000 6000 | 6000 | 6000 | 6000 | 4000 | 3500 | 3000 | 3000 | 3000
Maximum input speed N,z
I 1 3-10 <12 <12 <12 <12 <12 <12 <12 <15 <15
BB PR .
[ ] arcmin 2 9-64 <15 <15 <15 <15 <15 <15 <15 <18 <18
® TIRXERME Precision backlashP1 3 60-1000 <18 <18 <18 <18 <18 <18 <18 <22 <22
A »: 4 |
® HNE =SB ERAT A HERIE Nm/arcmin 12,3 3-1000 0.9 18 44 92 | 267 | 66.7 | 1233 | 2133 | 339
Torsional rigidity
i RE S oYy
© hifEiiB R 4P SIFEEN N 12,3 3-1000 170 265 440 | 1240 | 3700 | 6500 | 10500 | 15000 | 17000
Allowable radial force F,.g
® fiets S EIRE BIFHE N N 12,3 3-1000 140 200 400 | 1000 | 3000 | 5000 | 8000 | 12000 | 15000
$‘°‘Hj$ﬂ]$¥‘t§$$ Allowable axial force F,.g
. [ I PN
W éfffl"l?e hrs 12,3 3-1000 20000
W= AN
® BIHNE s 1 3-10 >97%
= o % 2 9-64 >94%
S It
® SHIAINIE Efficiency 3 60-1000 >91%
=5 1 3-10 0.6 12 2.7 9.8 20 36 50 110 160
1.For any mounting position Gross ii aht kg 2 9-64 0.8 15 3.4 12.1 25 48 65 135 180
2.Individual adaptation of the input flange to the motor T s S0 L LE 2ol e EY £ 7= i L2
. . . . . . m o _ _10° C~90°
3.Lifetime lubrication for maintenance-free operation Working temperature c 123 8-1000 10°C~907C
4 . Equidirectional rotation Lutjﬁ’fﬁng 123 3-1000 AR EHAE / Synthetic lubricating grease
i i 4
5.Wide range of output shaft designs HIPZR 123 31000 P65
. . IP Grade
6.Precise gearing EEA
7.Higher torsional rigidity Installation direction 123 3-1000 fEE A8 / In any direction
1238 (n1=3000rpm, Tf% )
Noise level (11=3000rpm,off load) dB 12 3-1000 <57 <62 <65 <65 <67 <68 <70 <73 <75

89 90



B3 / 7BS 71 /

e

UNZEAN
Be=

Wk
e

o EFIBEH Y Straight Tooth with Moment of Inertia

A& Model

BEiRE J,

BA{S Unit

kg.cm?

¥ Stage IFELL Ratio ZBS042 ZBS060 ZBS090 ZBS115 ZBS142 ZBS190 ZBS240 ZBS280 ZBS330
3 = 0.135 0.77 2.63 12.14 15.6 15.6 = =
4 0.022 0.093 0.52 1.79 7.78 16.3 16.3 40.2 75.1
5 0.019 0.078 0.45 163 6.07 15.4 15.4 39.9 73.4
' 7 - - 0.40 1.32 4.63 - - - -
8 0.017 0.065 0.39 1.32 4.63 16.10 16.1 34.5 62.5
10 0.016 0.065 0.39 1.32 4.63 15.20 - - -
9 0.015 0.131 0.74 2.62 12.14 15.9 15.9 - -
12 0.007 0.127 0.72 2.62 12.37 15.9 15.9 18.8 24.0
15 0.007 0.077 0.71 2.62 12.35 15.9 15.9 18.8 23.0
16 0.005 0.088 0.50 2.62 7.47 15.0 15.0 18.8 23.8
20 0.007 0.075 0.44 2.53 6.65 15.0 15.0 18.8 23.8
2 25 0.007 0.075 0.44 1.50 5.81 15.7 15.0 18.3 23.3
32 0.007 0.064 0.39 1.50 5.81 15.3 15.7 16.8 24.0
40 0.005 0.064 0.39 1.30 5.28 16.10 16.1 16.6 21.6
50 0.005 0.064 0.39 1.30 5.28 15.20 15.2 - 21.6
64 0.015 0.064 0.39 1.30 5.28 7.50 14.3 15.2 18.2
60 0.007 0.076 0.51 112 7.50 7.50 7.50 17.7 19.7
64 0.007 0.076 0.50 112 7.50 7.50 7.50 17.8 19.8
80 0.007 0.075 0.50 112 7.50 7.50 7.50 14.8 19.8
100 0.007 0.075 0.44 1.50 7.40 7.40 7.40 14.8 18.8
120 0.005 0.064 0.70 1.50 7.30 7.30 7.30 14.8 18.8
125 0.007 0.064 0.65 1.50 7.20 7.20 7.20 13.54 18.5
160 0.013 0.064 0.39 1.30 6.50 6.50 6.50 13.54 17.5
200 0.007 0.064 0.39 1.30 6.20 6.20 6.20 13.54 16.5
¢ 250 - - - 1.30 5.40 5.40 5.40 13.50 16.5
280 - - - 1.30 5.70 - - - -
320 0.007 0.064 0.39 1.30 5.40 5.70 5.70 13.3 15.3
350 - - - 1.30 5.40 - - - -
400 - - - 1.30 5.20 5.20 5.20 - -
500 - - - 1.30 5.10 5.10 5.10 - -
512 0.007 0.064 0.39 - - - - 10.5 155
1000 - - - 1.30 4.90 4.90 - -M2 -

91

BiE3 / 7BS 25 / INE SR

ZBS 4MEE Profile

*: HERYSR 7B 27

L&

P O1hé
D2
i D3gds

L3

Bh%

oLg

& R~T% size

ZBS060 ZBS090 ZBS115 ZBS142
2 2 2 2

D3 50 50 50 80 80 80 110 110 110 130 110 110
D4 70 70 70 100 100 100 130 130 130 165 130 130
L1 3 3 3 3 3 3 4 4 4 5 4 4
L2 16 16 16 20 20 20 30 30 30 50 30 30
L3 21 21 21 26 26 26 40 40 40 58 40 40
L4 3 3 3 3 3 3 4 4 4 5 4 4

L5 25 25 25 30 30 30 45 45 45 65 45 45
L6 129 146.5 164 156 175.5 195 232 264 296 326 327.5 374.5
C 4-M5 4-M5 4-M5 4-M6 4-M6 4-M6 4-M8 4-M8 4-M8 4-M10 4-M8 4-M8
B 3 3 3 5 5 5 6 6 6 10 6 6

H 11.2 11.2 11.2 18 18 18 22.5 22.5 22.5 38 22.5 22.5
z M3x6 M3x6 M3x6 M6x15 M6x15 M6x15 M6x15 M6x15 M6x15 M10x25 M6x15 M6x15
LC 65x65 65%65 65%65 85x85 85x85 85x85 118x118 118x118 118x118 150x150 118x118 118x118

ZBS190 ZBS240 ZBS280 ZBS330
2 2 2 2

D3 160 130 130 225 160 130 250 225 160 290 225 160
D4 215 165 165 265 215 165 315 265 215 370 265 215
L1 5 4 4 5 5 4 4 5 5 5 5 5

L2 50 50 50 60 50 50 70 60 50 80 60 50

L3 63 58 58 73 63 58 80 73 63 90 73 63

L4 5 5 5 8 5 4 8 8 5 8 8 5

L5 70 65 65 83 70 65 90 83 70 100 83 70

L6 352 410 457 413 458 515 444 549 594 526 625 670

C 4-M12 4-M10 4-M10 4-M16 4-M12 4-M10 4-M16 4-M16 4-M12 4-M16 4-M16 4-M12

B 12 10 10 14 12 10 18 18 12 20 14 12

H 43 38 38 53.5 43 38 64 64 43 74.5 53.5 43

V4 M10x25 M10x25 M10x25 M12x20 M10x25 M10x25 M10x25 M10x25 M10x25 M10x35 M10x25 M10x25
LC 190x190 | 165x165 | 165x165 | 240x240 | 190x190 | 165x165 | 285x285 | 240x240 | 190x190 | 330x330 | 240x240 | 190x190

92




B3 / ZF A5 / #hA BiE¥E / ZF 221 / £8ESH

{8t ZF ZFI1EseS ¥k | ZF Series Performance Table

Z F SERIES

=5 i #4& Model Bf Unit ¥ Stage IR Ratio ZF60 ZF80 ZF120 ZF160
- 3 20 50 140 310
4 35 90 240 605
) 5 32 70 240 605
7 - 50 100 320
8 20 50 90 300
10 15 35 90 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 - -
40 35 80 260 680
64 20 41 B _
MERENE Nm 60 35 60 260 450
Rated output torqueT2N 64 41 110 260 680
80 44 110 260 680
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 m 110 260 680
200 40 90 260 680
3 250 - - 260 680
256 44 110 - -
280 - - 260 680
320 40 60 = 5
350 - - 260 680
400 - - 260 680
500 - - 260 680
512 25 52 - -
1000 - - 100 275
RIGHSE N 123 3-1000 ={S5E4H HNE / Triple rated output t
Emergency stop torqueT,yor m 16 i =faEER riple rated output torque
T )\ LR
Ratfgﬁf&t)\fe% an 12,3 3-1000 4500 4000 3000 3000
abjt = — rpm
Hb#"’"“ FUTURE Maximffiﬁiﬁfﬁe dn 1,2,3 3-1000 6000 6000 6000 4000
1B
I 1 3-10 <12 <12 <12 <12
Precisi:nmb’:cﬂ,kiashPl arcmin 2 9-64 <15 <15 <15 <15
§ - 3 60-1000 <18 <18 <18 <18
® TREERME e
o — o Torsional rigidit Nm/arcmin 1,2,3 3-1000 1.7 4.2 8.7 25.4
® i\ k2 ETIEEAS TREY BB o el
BYFRE
- N 12,3 3-1000 265 440 1240 3700
® S IHIE R Alowatle racal orce s
BYFHE
® S HER Allowable axial force .., N 1,2,3 3-1000 200 400 1000 3000
ERE®
® K@Hjim¢¥itg$$ Sevice life hrs 1,2,3 3-1000 20000
1 3-10 297%
Y= |] Pa sz
® HHRE Eﬁ?ﬁi o % 2 9-64 294%
3 60-1000 >91%
1 3-10 0.95 2.3 7.6 20
1.For any mounting position Gross weight kg 2 9-64 12 29 97 26
. . . 3 60-1000 15 36 11.3 32
2.Individual adaptation of the input flange to the motor FREE
i . . . BErRmE °C 1,2,3 3-1000 -10°C~90° C
3.Lifetime lubrication for maintenance-free operation Working temperature
4 Equidirectional rotation Lub"ffﬁn . 123 3-1000 ERIZBMAS / Synthetic lubricating grease
5.Wide range of output shaft designs BiP SR 1923 3-1000 P65
IP Grade "
6.Precise gearing g
mstalf;;ff dr"i’]recﬂon 12,3 3-1000 7751 / In any direction
12548 (n1=3000rpm, T )
Noise level (N1=3000rpm,off load) dB 1.2 Sy sz =60 Eoo te

93

94




BiE3E / ZF X5 /7

TEES A BHif3 / ZF 25 / NP SRS

= . . .
{or ®EIBEHE Straight Tooth with Moment of Inertia e .
ZF-L1 9MEBE Profile
#& Model  EAfi Unit T3 Stage IMiELL Ratio ZF060 ZF080 ZF120 ZF160 o
3 0.135 0.77 2.63 12.14 oL i = oo
5 - L3 10 8 &
4 0.093 0.52 1.79 7.78 = =t ] 1
— T T K S~ .
5 0.078 0.45 1.53 6.07 i) & T g %
1 / LTL—ST F’l / N\
7 - 0.40 1.32 4.63 i Q \~ . | . m
g D r 3 5 B o560 | g 2 f }
8 0.065 0.39 1.32 4.63 \ % | 5 E | ﬁ
|
10 0.065 0.39 1.32 4.63 L2 — h ¢/
L4 N .
9 0.131 0.74 2.62 12.14 2 — }8{ = =
12 0.127 0.72 2.62 12.37 ez )\f"i ke = k}i
Cd
15 0.077 0.71 2.62 12.35
16 0.088 0.50 2.62 7.47
E1h®
20 0.075 0.44 2.53 6.65 / E2he
2 "
25 0.075 0.44 1.50 5.81 1 D) 5 /
32 0.064 0.39 1.50 5.81 s st o o s e o /
40 0.064 0.39 1.30 5.28 aD3he
50 0.064 0.39 1.30 5.28 s
- 64 0.064 0.39 1.30 5.28
HigE J kg.cm? N N o —
BRE . - 60 0.076 051 1.12 7.50 E: MEABRENENRY, MARRTIREEEENRTES
64 0.076 0.50 112 7.50 {é} Rqﬁ size
80 0.075 0.50 1.12 7.50
100 0.075 0.44 1.50 7.40 R~ ZF60 ZF80 ZF120 ZF160
120 0.064 0.70 1.50 7.30 D1 70 100 130 185
125 0.064 0.65 1.50 7.20 D2 55 6.5 9 1
D3 14/16 20/22 25/32 40
160 0.064 0.39 1.30 6.50 o4 = 0 10 130
5 200 0.064 0.39 1.30 6.20 D5 17 25 40 60
250 - - 1.30 5.40 D6 M5x0.8P M8x1.26P M10x1.56P M16x2P
280 _ i 130 570 D7 10 15 20 35
D8 60 82 118 162
320 0.064 0.39 1.30 5.40 =) e o s o
350 - - 1.30 5.40 L2 32 40 54 86
400 - - 1.30 5.20 L3 3 3 3 5
500 - - 1.30 5.10 L4 28 36 50 80
L5 25 30 40 65
512 0.064 0.39 - - 6 5 3 5 =
1000 - - 1.30 4.90 L7 8 10 13 18
L8 <24 <30 <52 <60
L9 12 16 25 35
c1 70 90 145 200
c2 M4x0.7P M5x0.8P M8x1.25P M12x1.75P
c3 <12/<16 <19/<24 <35 <42
cu 33 45 60 82
cs 50 70 110 1143
c6 5 8 8 8
c7 60 85 128 178
cs 20 26 43 50
c9 112 140 193.5 252
C10 16 16 25 35
B1 5 6 8/10 12
B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3

95 96



Hif3 / ZF 24 / INES RS Bif3 / ZF 25/ INES R

ZF-L2 SMEE Profile ZF-L3 4MEE Profile
L o
oLt Lz L a8 06z oL L2 L7 oz oer
Iy ”K | o1 Iy 250 w e s et . 5
/®, — — — 1T - >% P e Q 4»‘: T _\_~ - >Q
[ & RN i - -
S el I Sl T
) N i \ R ¥ s = L ey = i 8 N \
& E = E ol o \ ﬁ | k 2o = 2| g 2 |
- L k / K Lo | L @ Y,
~ /®/ L4 | & — © ~ /®/ L4 | o8 - flc!
gz )\s‘a o « \fg a2 T /\%3 ea 2 k’e
o4 o4
=/
Elhe // B2ho e / BZhE
= (@D i / S & )/ @
TNG R iz j
2 T U 52 s Lﬂ_/ / AT S = 82 el /
2 D3kt 4D3he =L/
i L8
(T 1 D EAERENSERYT, MARRTIRIEEMBHIRTES A UEABARENBNRY, BARRITIURERFEBNRTES
{8 R~T%& size {8y R~T%& size
R~ ZF60 ZF80 ZF120 ZF160 R~ ZF60 ZF80 ZF120 ZF160
D1 70 100 130 185 D1 70 100 130 185
D2 5.5 6.5 9 11 D2 55 6.5 9 11
D3 14/16 20/22 25/32 40 D3 14/16 20/22 25/32 40
D4 50 80 110 130 D4 50 80 110 130
D5 17 25 40 60 D5 17 25 40 60
D6 M5x0.8P M8x1.25P M10x1.5P M16x2P D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
D7 10 15 20 35 D7 10 15 20 35
D8 60 82 118 162 D8 60 82 118 162
L1 60 85 115 165 L1 60 85 115 165
L2 32 40 54 86 L2 32 40 54 86
L3 3 3 3 5 L3 3 3 3 5
L4 28 36 50 80 L4 28 36 50 80
L5 25 30 40 65 L5 25 30 40 65
L6 3 5 7 L6 2 3 5 7
L7 10 13 18 L7 8 10 13 18
L8 <24 <30 <52 <60 L8 <24 <30 <52 <60
L9 12 16 25 85 L9 12 16 25 35
Cl 70 90 145 145 C1l 70 90 145 145
c2 M4x0.7P M5x0.8P M8x1.25P M8x1.25P Cc2 M4x0.7P M5x0.8P M8x1.25P M8x1.25P
C3 <12/<16 <19/<22 <35 <24 C3 <12/<16 <19/<22 <35 <24
C4 33 45 60 60 C4 33 45 60 60
Cb5 50 70 110 110 C5 50 70 110 110
Cc6 5 8 8 8 C6 5 8 8 8
Cc7 60 85 128 128 Cc7 60 85 128 128
c8 20 26 43 43 C8 20 26 43 43
Cc9 129.5 159.5 2225 291 Cc9 147 179 251.5 331
C10 16 16 25 25 C10 16 16 25 25
B1 5 6 8/10 12 B1 5 6 8/10 12
B2 & 5 6 10 B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43 H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3 H2 11.4 17.3 22.8 38.3

97

98




BiEd / ZFR 5 / #hA

Z F R SERIES

51

99

&)
|

E4: 5 FUTURE

® TRRERMNE

® BNE=TEEAFHRAV B
© HAE B RS

® [iEHE 75 [a)[E )

o MmN SH

©® HBRIE

©® EHZHME

1.For any mounting position

2.Individual adaptation of the input flange to the motor
3.Lifetime lubrication for maintenance-free operation
4 Equidirectional rotation

5.Wide range of output shaft designs

6.Precise gearing

7.Transmission diversity

BiE3% / ZFR 2701 / £8ESH

{8t ZFR ZFI 1t seS ¥k | ZFR Series Performance Table

#4& Model B{j Unit ¥ Stage A& Ratio ZFR60 ZFR80 ZFR120 ZFR160
3 20 50 140 310
4 35 90 240 605
1 5 32 70 240 605
7 - 50 100 320
8 20 50 90 300
10 15 35 90 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 260 680
40 35 80 260 680
64 20 41 - -
RSN Nm 60 35 60 260 450
Rated output torqueT2N 64 4y 110 260 680
80 44 110 260 680
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 44 110 260 680
200 40 90 260 680
3 250 - - 260 680
256 44 110 240 605
280 - - 260 680
320 40 60 - -
350 - - 260 680
400 - - 260 680
500 - - 260 680
512 25 52 100 250
1000 - - 100 275
Emergenfj{:tiﬂpﬁ%rquﬂmm Nm 123 3-1000 ={BEER 1148 / Triple rated output torque
g)ﬁiiﬁ)\%iﬁ 1,2,3 3-1000 4500 4000 3000 3000
Rated input speed N,y
= ey B rom
BREBAR 12,3 3-1000 6000 6000 6000 4000
Maximum input speed Nn;g
s - 1 3-10 <15 <15 <15 <15
Precision backlashP1 arcmin 2 609-160400 i;g i;g i;g i;g
HEAE Nm/arcmin 12,3 3-1000 17 42 87 25.4
Torsional rigidity
E‘ﬁ&_ﬁﬂj} N 1,2,3 3-1000 265 440 1240 3700
Allowable radial force F,,g
Eﬂzm 37 N 1,2,3 3-1000 200 400 1000 3000
Allowable axial force F,,g
ﬁﬁaﬁﬁ hrs 1,2,3 3-1000 20000
Sevice life
N 1 3-10 >94%
Eﬁ?ﬁi o % 2 9-64 >91%
3 60-1000 >89%
_ 1 3-10 1.95 4.95 125 26.5
Gros%feight kg 2 9-64 2.25 5.55 15.7 32.5
3 60-1000 2.56 6.25 173 38.5
ERRE R o o
Working temperature c 123 € LY AP E
Lut;;lriijc;iing 123 3-1000 AR HES / Synthetic lubricating grease
PP ER
IP Grade 1,23 3-1000 IP65
T —
Instalit?fr?driaection 123 3-1000 {EE7E / In any direction
12318 (n1=3000rpm, T2
Nogfs E‘ E/ él " 1:300%rp fgfﬁ; d) dB 1,2 3-1000 <62 <65 <65 <68
100




HiE¥% / ZFR 27| / tEEez

o EFIBEH Y Straight Tooth with Moment of Inertia

#4& Model

BEiRE J,

BA{S Unit

kg.cm?

£

¥ Stage IRIELL Ratio ZFR060 ZFR080 ZFR120 ZFR160
3 0.135 0.77 2.63 12.14
4 0.093 0.52 1.79 7.78
5 0.078 0.45 1.53 6.07
! 7 - 0.40 1.32 4.63
8 0.065 0.39 1.32 4.63
10 0.065 0.39 1.32 4.63
9 0.131 0.74 2.62 12.14
12 0.127 0.72 2.62 12.37
15 0.077 0.71 2.62 12.35
16 0.088 0.50 2.62 7.47
20 0.075 0.44 2.53 6.65
z 25 0.075 0.44 1.50 5.81
32 0.064 0.39 1.50 5.81
40 0.064 0.39 1.30 5.28
50 0.064 0.39 1.30 5.28
64 0.064 0.39 1.30 5.28
60 0.076 0.51 1.12 7.50
64 0.076 0.50 1.12 7.50
80 0.075 0.50 1.12 7.50
100 0.075 0.44 1.50 7.40
120 0.064 0.70 1.50 7.30
125 0.064 0.65 1.50 7.20
160 0.064 0.39 1.30 6.50
200 0.064 0.39 1.30 6.20
® 250 - - 1.30 5.40
280 - - 1.30 5.70
320 0.064 0.39 1.30 5.40
350 - - 1.30 5.40
400 - - 1.30 5.20
500 - - 1.30 5.10
512 0.064 0.39 - -
1000 - - 1.30 4.90

101

BiE¥E / ZFR R/ SNE SRS

ZFR-L1 4MEE Profile

e

[s]R} L2 L7, ocF
. % s “ a5
4 S iR ;
& @ AR o 2
/ N ﬁ@%
| &7\ - E= E !
NN\ . e\
/®/ ¢ 7] || 8 é\ N/
sz T % ! o2 e
3 i A
et g -
’-_DC_TIZ
pises
G1he | / .
= (@ gl 4//
At 1 At sz _Jms|_ | Al 53 ]:Il_//
|:p03hs |
L&
i DEABREXNBENRYT, MARRTUIRIEEGBIRTES
& R~F% size
R~ ZFR60 ZFR80 ZFR120 ZFR160
D1 70 100 130 185
D2 55 6.5 9 11
D3 14/16 20/22 25/32 40
D4 50 80 110 130
D5 17 25 40 60
D6 M5x0.8P M8x1.256P M10x1.5P M16x2P
D7 10 15 20 35
D8 60 82 118 162
L1 60 85 115 165
L2 32 40 54 86
L3 3 3 3 5
L4 28 36 50 80
E35) 25 30 40 65
L6 2 3 5 7
L7 10 13 18
L8 <24 <30 <52 <60
L9 12 16 25 35
C1 70 90 145 200
Cc2 M4x0.7P M5x0.8P M8x1.25P M12x1.75P
C3 <12/<16 <19/<24 <35 <42
C4 33 45 60 82
Cb 50 70 110 114.3
C6 5 8 8 8
Cc7 60 85 128 178
C8 20 26 43 50
(e:¢] 143.3 181 253 352.5
C10 16 16 25 B85
Cl1 95.5 1315 183 263
Bl 5 6 8/10 12
B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3

102




BiE3 / ZFR I/ INES RS BiE¥E / ZFR R/ SNE SRS

ZFR-L2 Mz Profile ZFR-L3 4MEE Profile
o8 oy
oLt L2 L7 oty oLt L2 L7 ocs?
[ %: 13 [ - [ N L3 L2 %
e o i e u i
o @ REE /> ‘« N & N el || o 2
NE= S N~ N
1 14 B : | ( SREREE EIR= : |
N2 IS NG 18
|t ] 5 / L9 5 /
/®/ L4 L p:] /®/ L4 L -1
o ] B [ =
2 r g - 2 o R
03 N O G VA0 O g[ o[ °3 | 4 EI 8
E368 D506
Eihy | // .. bing I / LZhy
- (@ SR - {© g Y
st st i sz | jms|_ | Al 53 ]:Il_// mat ¢ st sz _|o&]_| fhate 53 ]:ﬂ_//
03k |0 D3he |
L& L&
E: UEAERENBIRY, BAKRTIREEABIRTES E: UEABAENBNRY, BARRIIURERFEBHNRTES
8 R~ size {8 R~F% size
R~ ZFR60 ZFR80 ZFR120 ZFR160 R~ ZFR60 ZFR80 ZFR120 ZFR160
D1 70 100 130 185 D1 70 100 130 185
D2 5.5 6.5 9 11 D2 5.5 6.5 9 11
D3 14/16 20/22 25/32 40 D3 14/16 20/22 25/32 40
D4 50 80 110 130 D4 50 80 110 130
D5 17 25 40 60 D5 17 25 40 60
D6 M5x0.8P M8x1.26P M10x1.5P M16x2P D6 M5x0.8P M8x1.26P M10x1.5P M16x2P
D7 10 15 20 35 D7 10 15 20 35
D8 60 82 118 162 D8 60 82 118 162
L1 60 85 115 165 L1 60 85 115 165
L2 32 40 54 86 L2 32 40 54 86
L3 3 3 3 5 L3 3 3 3 5
L4 28 36 50 80 L4 28 36 50 80
LS 25 30 40 65 LS 25 30 40 65
L6 2 3 5 7 L6 2 3 5 7
L7 8 10 13 18 L7 8 10 13 18
L8 <24 <30 <52 <60 L8 <24 <30 <52 <60
L9 12 16 25 35 L9 12 16 25 35
C1 70 90 145 145 C1 70 90 145 145
c2 M4x0.7P M5x0.8P M8x1.25P M8x1.26P Cc2 M4x0.7P M5x0.8P M8x1.26P M8x1.26P
C3 <12/<16 <19/s24 <35 <35 C3 <12/<16 <19/<24 <35 <35
C4 33 45 60 60 C4 33 45 60 60
C5 50 70 110 110 C5 50 70 110 110
Cc6 5 8 8 8 C6 5 8 8 8
c7 60 85 128 128 c7 60 85 128 128
c8 20 26 43 43 Cc8 20 26 43 43
C9 160.8 200.5 285 399.5 C9 178.3 240 317 408.7
C10 16 16 25 25 C10 16 16 25 25
c1 95.5 1315 183 260.5 C11 95.5 1315 183 260.5
B1 5 6 8/10 12 Bl 5 6 8/10 12
B2 3 5 6 10 B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43 H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3 H2 114 17.3 22.8 38.3

103

104




B3 / ZFS 271 / A Bi53 / ZFS 551 / H5ESH

{8t ZFS Z5|MRES#FE | ZFS Series Performance Table

Z F S SERIES

= 5 IJ ##& Model BA{ Unit T5% Stage IRELL Ratio ZFS60 ZFS80 ZFS120 ZFS160
- 3 20 50 140 310
4 35 90 240 605
) 5 32 70 240 605
7 - 50 100 320
8 20 50 90 300
10 15 35 90 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 - -
40 35 80 260 680
64 20 41 = 5
MERENE Nm 60 35 60 260 450
Rated output torqueT2N 64 41 110 260 680
80 44 110 260 680
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 44 110 260 680
200 40 90 260 680
3 250 - - 260 680
256 m 110 - -
280 - - 260 680
320 40 60 = 5
350 - - 260 680
400 - - 260 680
500 - - 260 680
512 25 52 - -
1000 - - 100 275
2EmE . .
. = {55
Emergency stop torqueTaor Nm 123 3-1000 =fESRE I J1%E / Triple rated output torque
P T
Ratfgﬁf&t)\fe% an 12,3 3-1000 4500 4000 3000 3000
== s rpm
Hb#"‘r"“ FUTURE BRBARKER 1,23 3-1000 6000 6000 6000 4000
Maximum input speed Nn;g
I 1 3-10 <12 <12 <12 <12
BE B PR .
Precision backlashP1 aremin 2 609'160400 ig ig ig ig
® TREEIEME s - = <
Torsional riidi Nm/arcmin 1,2,3 3-1000 1.7 4.2 8.7 25.4
® HANEZ o IEEISERAT AL °rs'°;a [[']gj'j ity
BFREE
© S IEE G Ak Allowable radial force F,. N 12,3 3-1000 265 440 1240 3700
BFHE A
® iEE S EEH Allowable axial force .., N 12,3 3-1000 200 400 1000 3000
ERE®
® WM SHE Sevice life hrs 123 8-1000 20000
1 3-10 297%
ey e
® BHINE e % 2 9-64 204%
_ Efficiency
® EHZ M 3 60-1000 291%
1 3-10 0.95 2.3 7.6 20
1.For any mounting position Gross weight ke 2 9-64 12 2.9 9.7 26
. . . 3 60-1000 15 36 11.3 32
2.Individual adaptation of the input flange to the motor EREE
. L . . Berimi= °C 1,2,3 3-1000 -10°C~90° C
3.Lifetime lubrication for maintenance-free operation Working temperature
T . EEe) P o
4 Equidirectional rotation Lubricating 1,2,3 3-1000 &8 S / Synthetic lubricating grease
. . s
5.Wide range of output shaft designs F?gr:i 123 31000 6
6.Precise gearing ey
. . . ITI?’EE@ ) 1,23 3-1000 {E& 7518 / In any direction
7.Transmission diversity Installation direction
IRE1E (n1=8000rpm, 5% )
Noise level (n1=3000rpm,off load) ds 1.2 Sy sz =60 <65 =68
105 106




MEEESH Bif3 / ZFS 251 / AN SRS

B3/ 7FS =751 /

= " - -
{o¢ BEBEHEY Straight Tooth with Moment of Inertia - .
ZFS 4MZ B Profile
#4& Model  B{y Unit T5% Stage IRiEEL Ratio ZFS060 ZFS080 ZFS120 ZFS160
L&
g 0.135 077 263 12.14
4 0.093 0.52 1.79 7.78 LS
L4
5 0.078 0.45 153 6.07
1 W
7 - 0.40 1.32 463
8 0.065 0.39 1.32 463 maE W]
10 0.065 0.39 132 463 =l o | o .
9 0.131 0.74 262 12.14 J o 2 e
12 0.127 072 262 12.37
15 0.077 0.71 262 12.35
16 0.088 0.50 262 7.47 =
20 0.075 0.44 253 6.65
’ Bh9
25 0.075 0.44 1.50 5.81
32 0.064 0.39 1.50 5.81 & -
40 0.064 0.39 1.30 5.28 ,
50 0.064 0.39 1.30 5.28 i HE RTS8 ZF %51
i 64 0.064 0.39 1.30 5.28
BHiRE J, kg.cm?
60 0.076 051 112 7.50
64 0.076 0.50 112 7.50
80 0.075 0.50 112 7.50
100 0.075 0.44 1.50 7.40 % R<Esi
Slze
120 0.064 0.70 1.50 7.30
125 0.064 0.65 1.50 7.20 ZFS060 ZFS080 ZFS120 ZFS160
160 0.064 0.39 1.30 6.50 5
200 0.064 0.39 1.30 6.20
3
250 - - 1.30 5.40
D2 20 20 20 30 30 30 40 40 40 50 40 40
280 - . 130 5.70
D3 40 40 40 60 60 60 80 80 80 130 80 80
320 0.064 0.39 1.30 5.40
D4 60 60 60 82 82 82 118 118 118 165 118 118
350 - - 1.30 5.40
D5 52 52 52 70 70 70 100 100 100 145 100 100
400 - - 1.30 5.20
L1 3 3 3 3 3 3 5 5 5 4 5 5
500 . . 1.30 5.10
L2 16 16 16 20 20 20 30 30 30 50 30 30
512 0.064 0.39 . .
L3 21 21 21 26 26 26 40 40 40 58 40 40
1000 . . 1.30 4.90
L4 3 3 3 3 3 3 4 4 4 5 4 4
L5 25 25 25 30 30 30 45 45 45 65 45 45
L6 129 146.5 164 156 175.5 195 222 251 280 326 327.5 374.5
c 4-M5 4-M5 4-M5 4-M6 4-M6 4-M6 4-M10 | 4-M10 4-M10 4-M12 4-M10 4-M10
B 3 3 3 5 5 5 6 6 6 10 6 6
H 112 112 11.2 18 18 18 225 225 225 38 225 225
z M3x6 M3x6 M3x6 M6x15 | M6x15 | M6x15 | M6ex15 | Mex15 | M6x15 | M10x25 | Mex15 | M6xis

107 108



B3 / ZE R/ BEA BHiE3E / ZE 551 /

{8t ZE Z5MRES# 3K | ZE Series Performance Table

ZE SERIES

=5 i #4& Model Bf Unit ¥ Stage IR Ratio ZE60 ZES80 ZE120 ZE160
- 3 20 50 140 310
4 35 90 240 605
) 5 32 70 240 605
7 - 50 100 320
8 20 50 90 300
10 15 35 90 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 260 680
40 35 80 260 680
64 20 41 - =
MERENE Nm 60 35 60 260 450
Rated output torqueT2N 64 41 110 260 680
80 44 110 260 680
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 m 110 260 680
200 40 90 260 680
3 250 - - 260 680
256 44 110 - -
280 - - 260 680
320 40 60 = 5
350 - - 260 680
400 - - 260 680
500 - - 260 680
512 25 52 - -
1000 - - 100 275
RIGHSE N 123 3-1000 ={S5E4H HNE / Triple rated output t
Emergency stop torqueT,yor m 16 i =faEER riple rated output torque
T )\ LR
Ratjgﬁf&{\fe% an 12,3 3-1000 4500 4000 3000 3000
abjt = — rpm
H""#‘T"“ FUTURE Maximffiﬁijﬁt%ﬁe dn 1,2,3 3-1000 6000 6000 6000 4000
1B
I 1 3-10 <12 <12 <12 <12
Precisi:nmbjcﬂ,kiashPl arcmin 2 9-64 <15 <15 <15 <15
§ - 3 60-1000 <18 <18 <18 <18
® TREERME e
s o Torsional rigidit Nm/arcmin 1,2,3 3-1000 1.7 4.2 8.7 25.4
® BMNGEZ o iEEAF BRI s Y
BYFRE
- N 12,3 3-1000 265 440 1240 3700
@ SHASH B R4 AIIowabFIS‘;Fa;c;;?; ;c])rce Frus
A
® S HER Allowable axial force .., N 1,2,3 3-1000 200 400 1000 3000
ERE®
® ﬁtﬂiﬂiﬁiﬁ%ﬁ Sevice life hrs 1,2,3 3-1000 20000
1 3-10 297%
Y= n Pa sz
® HHRE Eﬁ%i o % 2 9-64 294%
3 60-1000 >91%
1 3-10 0.95 2.3 7.6 20
1.For any mounting position Gross weight kg 2 9-64 12 29 97 26
. . . 3 60-1000 15 36 11.3 32
2.Individual adaptation of the input flange to the motor FREE
I L . . ) = °C 1,2,3 3-1000 -10° C~90° C
3.Lifetime lubrication for maintenance-free operation Working temperature
4 Equidirectional rotation Lub"fftm . 123 3-1000 ERIZBMAS / Synthetic lubricating grease
5.Wide range of output shaft designs BiP SR 1923 3-1000 P65
IP Grade "
6.Precise gearing g
mstalf;;ff dr"i’]recﬂon 12,3 3-1000 7751 / In any direction
12548 (n1=3000rpm, T )
Noise level (N1=3000rpm,off load) dB 1.2 Sy sz =60 Eoo te

109

110




I ——— .
BHiE3 / 78 25/ MERESEL B2 / ZE 25 ) INE SR

= . - -
{or ®EIBEHE Straight Tooth with Moment of Inertia - .
ZE-L1 4MEZ B Profile
#& Model  EAfi Unit T3 Stage IMiELL Ratio ZE060 ZE080 ZE120 ZE160 @
3 0.135 0.77 2.63 12.14 e & ooz
L3 1o 8 &-
4 0.093 0.52 1.79 7.78 ] 1 >
T T . S~ .
5 0.078 0.45 153 6.07 s ) -
Le Ls t:j /& ﬁ\
' j— i
7 - 0.40 1.32 4.63 . ! . { ]\\
= R = & B
8 0.065 0.39 1.32 4.63 ERE i ~® %{ E | @
|
10 0.065 0.39 1.32 4.63 Lt | L
iy 3
9 0.131 0.74 2.62 12.14 L4 —
12 0.127 072 2.62 12.37 & “ %
G4
15 0.077 071 2.62 12.35
16 0.088 0.50 2.62 7.47 ]
B1k% I /
20 0.075 0.44 253 6.65 / B2k
2 e—F /
25 0.075 0.44 1.50 5.81 3 @D 5 /
32 0.064 0.39 1.50 5.81 st s st 5 s st 5 /
40 0.064 0.39 1.30 5.28 4D3hé /
50 0.064 0.39 1.30 5.28 L7
64 0.064 0.39 1.30 5.28
®HiRE J, kg.cm?
60 0.076 0.51 1.12 7.50 i DEABREXNBENRYT, MARRTUIRIEEGBIRTES
64 0.076 0.50 1.12 7.50
80 0.075 0.50 1.12 7.50 @ qu size
100 0.075 0.44 1.50 7.40
R~ ZE60 ZES80 ZE120 ZE160
120 0.064 0.70 1.50 7.30
125 0.064 0.65 1.50 7.20 D1 52 70 100 145
D2 M5x0.8P M6x1P M10x1.5P M12x1.75P
160 0.064 0.39 1.30 6.50 % e e i i
5 200 0.064 0.39 1.30 6.20 D4 40 60 80 130
250 - - 1.30 5.40 D5 17 25 40 60
280 _ i 130 570 D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
g g D7 10 15 20 35
320 0.084 0.39 1.30 5.40 D8 0 o 118 162
350 - - 1.30 5.40 L1 13 12 18 23
400 8 - 1.30 5.20 L2 32 40 54 86
500 - - 1.30 5.10 = 2 2 2 5
L4 28 36 50 80
512 0.064 0.39 - S 5 T 0 i S
1000 - - 1.30 4.90 L6 2 3 5 7
L7 <24 <30 <52 <60
L8 12 16 25 35
c1 70 90 145 200
c2 M4x0.7P M5x0.8P M8x1.25P M12x1.75P
c3 <12/<16 <19/<24 <35 <42
cu 33 45 60 82
c5 50 70 110 114.3
c6 5 8 8 8
c7 60 85 128 178
c8 20 26 43 50
c9 112 140 193.5 252
c10 16 16 25 35
B1 5 6 8/10 12
B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43
H2 114 17.3 22.8 38.3

111

112




Hif3 / ZE 25/ SNE SR BHif3 / ZE 25/ SNE SR

ZE-L2 4MizE Profile ZE-L3 YMEE Profile
o ol
L2 L1 8 ac? Lz L1 3] oc?
E oo 2 :“" [ENN oo 2 %
am AT~ m, : *‘Q\ ;
TRNT 5 by S TRRET < Vor’ S
[ = i 7as = SIS
|
L8 L L
. e ~ i
[ i) \fg [ [ \f@
Cd c4
] ]
il : / B e : // EZh9
| LB E [ = (@ £ )/
= 3 ) 2 L |
ST, 51 Al a2 Dé $hiT, 83 / SHEIT 81 Sl 82 |08 | $hiT, 83 /
|3 Dahe| J 03kt J
L L7
M ENEARNEARY, BABRYTTRIBLAEARTEH s U EREARNEARY, BARRTTRBLASARTEH
{8 R~F% size {8 R~F3% size
R~ ZE60 ZE80 ZE120 ZE160 R~ ZE60 ZE80 ZE120 ZE160
D1 52 70 100 145 D1 52 70 100 145
D2 M5x0.8P M6x1P M10x1.5P M12x1.75P D2 M5x0.8P M6x1P M10x1.5P M12x1.75P
D3 14/16 20/22 25/32 40 D3 14/16 20/22 25/32 40
D4 40 60 80 130 D4 40 60 80 130
D5 17 25 40 60 D5 17 25 40 60
D6 M5x0.8P M8x1.25P M10x1.5P M16x2P D6 M5x0.8P M8x1.25P M10x1.5P M16x2P
D7 10 15 20 15) D7 10 15 20 35
D8 60 82 118 162 D8 60 82 118 162
L1 13 12 18 23 L1 13 12 18 23
L2 32 40 54 86 L2 32 40 54 86
L3 3 3 3 (5} L3 3 3 3 5
L4 28 36 50 80 L4 28 36 50 80
L5 25 30 40 65 L5 25 30 40 65
L6 2 3 5 7 L6 2 3 5 7
L7 <24 <30 <52 <60 L7 <24 <30 <52 <60
L8 12 16 25 35 L8 12 16 25 35
C1l 70 90 145 145 C1 70 90 145 145
Cc2 M4x0.7P M5x0.8P M8x1.25P M8x1.25P Cc2 M4x0.7P M5x0.8P M8x1.25P M8x1.25P
G3 <12/<16 <19/<24 <35 <35 C3 <12/<16 <19/<24 <35 <35
C4 33 45 60 60 C4 33 45 60 60
(015) 50 70 110 110 Cb 50 70 110 110
C6 5 8 8 8 C6 5 8 8 8
Cc7 60 85 128 128 C7 60 85 128 128
C8 20 26 43 43 Cc8 20 26 43 43
C9 129.5 159.5 222.5 291 C9 147 179 251.5 391
C10 16 16 25 25 C10 16 16 25 25
Bl 5] 6 8/10 12 Bl 5 6 8/10 12
B2 3 5 6 10 B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43 H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3 H2 11.4 17.3 22.8 38.3

113

114




BEiE¥ / ZER K7 / #EA

Z E R SERIES

51

115

&)
|

E4: 5 FUTURE

® TRRERMNE

® BNE=TEEAFHRAV B
© A58 R 4P

® [iEHE 75 [a)[E )

o MmN SH

©® HBRIE

©® EHZHME

1.For any mounting position

2.Individual adaptation of the input flange to the motor
3.Lifetime lubrication for maintenance-free operation
4 Equidirectional rotation

5.Wide range of output shaft designs

6.Precise gearing

7.Transmission diversity

BEi53 / ZER X5 / MRESH

{8 ZER Z5|MES#ZE | ZER Series Performance Table

#4& Model B{] Unit T5# Stage &L Ratio ZER60 ZERS0 ZER120 ZER160
3 20 50 140 310
4 35 90 240 605
1 5 32 70 240 605
7 - 50 100 320
8 20 50 90 300
10 15 35 90 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 260 680
40 35 80 260 680
64 20 41 = -
RSN Nm 60 35 60 260 450
Rated output torqueT2N 64 44 110 260 680
80 44 110 260 680
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 44 110 260 680
200 40 90 260 680
3 250 - - 260 680
256 44 110 - -
280 - - 260 680
320 40 60 - -
350 - - 260 680
400 - - 260 680
500 - - 260 680
512 25 52 - -
1000 - - 100 275
2fFHsE Sy )
- ={ZZR
Emergency stop torqueTaor Nm 123 3-1000 =fESRE I J1%E / Triple rated output torque
presserv =
FEBNER 12,3 3-1000 4500 4000 3000 3000
Rated input speed N,y pm
. Hik.%”)\%g 1,2,3 3-1000 6000 6000 6000 4000
Maximum input speed Nn;g
S 1 3-10 <15 <15 <15 <15
BE B PR .
Precision backlashP1 aremin 2 609-160400 i;g i;g i;g i;g
I
HEAE Nm/arcmin 12,3 3-1000 17 42 87 25.4
Torsional rigidity
oI IR
ﬁltHI.mjj N 1,2,3 3-1000 265 440 1240 3700
Allowable radial force F,,g
ﬁﬁm? 37 N 1,2,3 3-1000 200 400 1000 3000
Allowable axial force F,,g
e
%D hrs 1,23 3-1000 20000
Sevice life
N 1 3-10 294%
Eﬁ%icy % 2 9-64 291%
3 60-1000 >89%
1 3-10 1.95 4.95 125 26.5
Gros%feight kg 2 9-64 2.25 5.55 15.7 325
3 60-1000 2.56 6.25 17.3 385
ERRE o o o
Working temperature c 123 SHloY -l @=E0r e
N A b 3 3,3k RS ; -
Lubricating 1,23 3-1000 A RL3E8 MBS / Synthetic lubricating grease
PP ER
|P Grade 1,23 3-1000 IP65
REF0 . -
Installation direction 1,2,3 3-1000 {EE 5@ / In any direction
12548 (n1=3000rpm, T )
Noise level (N1=3000rpm,off load) dB 1.2 Sy sz =60 Eoo te
116




Bi53 / ZER &5l /!

TRESAN Bi&3 / ZER R / SNE S R

= . - -
{or ®EIBEHE Straight Tooth with Moment of Inertia - .
ZER-L1 4MEE Profile
#AE Model B Unit 5% Stage RELL Ratio ZER060 ZERO080 ZER120 ZER160
[
3 0.135 0.77 2.63 12.14 2 otz
o 50
4 0.093 0.52 1.79 7.78 £ 1 :
S
) 5 0.078 0.45 153 6.07 sl = /> & B
7 - 0.40 1.32 4.63 o . = . i l\\ ~
= 1) H I 1
8 0.065 0.39 1.32 4.63 5@
ER 5 /|
10 0.065 0.39 1.32 4.63 " X
9 0.131 0.74 2.62 12.14 P o &
2 ENRER
12 0.127 0.72 2.62 12.37 X [N S v b gI 8
i
15 0.077 0.71 2.62 12.35 ey
16 0.088 0.50 2.62 7.47 I8
20 0.075 0.44 253 6.65 ke /7
2 B2hy
25 0.075 0.44 1.50 5.81 T A L' /
32 0.064 0.39 1.50 5.81 1 NT = 7
st o1 s, 52 _|ps|_] fi =]
40 0.064 0.39 1.30 5.28 o
50 0.064 0.39 1.30 5.28 5
- 64 0.064 0.39 1.30 5.28
HigE J kg.cm? N N o —
BE - 60 0.076 051 1.12 7.50 E: MEABRENENRY, MARRTIREEEENRTES
64 0.076 0.50 112 7.50 @ Rqﬁ size
80 0.075 0.50 1.12 7.50
100 0.075 0.44 1.50 7.40 R~ ZER60 ZERS80 ZER120 ZER160
120 0.064 0.70 1.50 7.30 D1 52 70 100 145
125 0.064 0.65 150 720 D2 M5x0.8P MBx1P M10x1.5P M12x1.75P
D3 14/16 20/22 25/32 40
160 0.064 0.39 1.30 6.50 Dn 0 50 30 130
5 200 0.064 0.39 1.30 6.20 D5 17 25 40 60
250 - - 1.30 5.40 D6 M5x0.8P M8x1.26P M10x1.56P M16x2P
280 - - 1.30 5.70 D7 10 15 20 35
D8 60 82 118 162
320 0.064 0.39 1.30 5.40 ] = = s =3
350 - - 1.30 5.40 L2 32 40 54 86
400 - - 1.30 5.20 L3 3 3 3 5
500 - - 1.30 5.10 L4 28 36 50 80
L5 25 30 40 65
512 0.064 0.39 - - 6 5 3 s p
1000 - - 1.30 4.90 L7 <24 <30 <52 <60
L8 12 16 25 35
c1 70 90 145 200
c2 M4x0.7P M5x0.8P M8x1.25P M12x1.75P
c3 <12/<16 <19/<24 <35 <42
c4 33 45 60 82
C5 50 70 110 114.3
cé 5 8 8 8
c7 60 85 128 178
c8 20 26 43 50
c9 143.3 181 253 352.5
c10 16 16 25 35
c11 95.5 1315 183 263
B1 5 6 8/10 12
B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3

117

118




BiE3 / ZER 25/ SNE SRS BiE3E / ZER 25/ SNE SRS

ZER-L2 MEE Profile ZER-L3 4MiZE Profile
o =
Lz L1 ocy Lz L acy
Bl W% = - e
g -+ o~ g =+ o~
LTLT /> / « Ng\ Ls TL_:1 /> / <« Né\
ER= : { i B 2 { !
L B m -1
i = | ir
3 — = (v = 3 — = (v =
°3 O N G v EI 8 3 N N G v EI 8
DLICF HEICF
0368 D A6
B1h3 / . bk / E2he
/ i /
= {8 g )’ = {® g )
st st i sz | jms|_ | Al 53 L / a1 sl sz & | el 53 LL//
 I5hé || | 4 05hs |
L7 L7
E UEAERENENRYT, BARRITIREEEKENRTES E UEARREMSEIRY, BARRIIRIEEEEIRTER
{8 R~T%& size {8y R~T%& size

R ZER60 ZERS80 ZER120 ZER160 Rt ZER60 ZERS80 ZER120 ZER160
D1 52 70 100 145 D1 52 70 100 145
D2 M5x0.8P M6x1P M10x1.6P M12x1.75P D2 M5x0.8P M6x1P M10x1.56P M12x1.75P
D3 14/16 20/22 25/32 40 D3 14/16 20/22 25/32 40
D4 40 60 80 130 D4 40 60 80 130
D5 17 25 40 60 D5 17 25 40 60
D6 M5x0.8P M8x1.256P M10x1.56P M16x2P D6 M5x0.8P M8x1.26P M10x1.56P M16x2P
D7 10 15 20 35 D7 10 15 20 35
D8 60 82 118 162 D8 60 82 118 162
L1 13 12 18 23 L1 13 12 18 23
L2 32 40 54 86 L2 32 40 54 86
L3 3 3 3 5 L3 3 3 3 5
L4 28 36 50 80 L4 28 36 50 80
L5 25 30 40 65 L5 25 30 40 65
L6 2 3 5 7 L6 2 3 5 7
L7 <24 <30 <52 <60 L7 <24 <30 <562 <60
L8 12 16 25 35 L8 12 16 25 35
C1 70 90 145 145 C1 70 90 145 145
c2 M4x0.7P M5x0.8P M8x1.26P M8x1.26P Cc2 M4x0.7P M5x0.8P M8x1.26P M8x1.256P
C3 <12/<16 <19/<24 <35 <35 C3 <12/<16 <19/<24 <35 <35
C4 33 45 60 60 C4 33 45 60 60
C5 50 70 110 110 C5 50 70 110 110
Cc6 5 8 8 8 Cc6 5 8 8 8
c7 60 85 128 128 c7 60 85 128 128
c8 20 26 43 43 Cc8 20 26 43 43
Cc9 168.6 200.5 285 399.5 C9 178.3 240 317 408.7
C10 16 16 25 35 C10 16 16 25 35
Ci11 95.5 131.5 183 260.5 C11 95.5 131.5 183 260.5
Bl 5 6 8/10 12 Bl 5 6 8/10 12
B2 3 5 6 10 B2 3 5 6 10
H1 16/18 22.5/24.5 28/35 43 H1 16/18 22.5/24.5 28/35 43
H2 11.4 17.3 22.8 38.3 H2 11.4 17.3 22.8 38.3

119

120




BHiE3 / ZES 251 / A BHiE3E / ZES R5/

{8t ZES ZFI1EseS ¥k | ZES Series Performance Table

Z E S SERIES

? 5 IJ #14& Model B Unit T5# Stage IRIEEE Ratio ZES60 ZES80 ZES120 ZES160
s 3 20 50 140 310
4 35 90 240 605
) 5 32 70 240 605
7 - 50 100 320
8 20 50 90 300
10 15 35 90 250
9 25 50 140 340
12 25 50 140 340
15 25 50 140 340
16 40 100 260 680
2 20 40 100 260 680
25 35 80 260 680
32 40 100 260 680
40 35 80 260 680
64 20 41 - =
MERENE Nm 60 35 60 260 450
Rated output torqueT2N 64 41 110 260 680
80 44 110 260 680
100 44 110 260 680
120 25 60 260 450
125 30 90 260 680
160 m 110 260 680
200 40 90 260 680
3 250 - - 260 680
256 44 110 - -
280 - - 260 680
320 40 60 : :
350 - - 260 680
400 - - 260 680
500 - - 260 680
512 25 52 - -
1000 - - 100 275
aEmnE . .
- = (Z55
Emergency Stop torqueT g Nm 12,3 3-1000 ={EEEB E S14E / Triple rated output torque
T )\ LR
Ratfgﬁf&t)\fe% an 12,3 3-1000 4500 4000 3000 3000
abhd 5 e een—— rpm
Hb#"‘r"“ FUTURE BRBARKER 12,3 3-1000 6000 6000 6000 4000
Maximum input speed Nn;g
R 1 3-10 <12 <12 <12 <12
BE B PR .
Precision backlashP1 arcmin 2 609-160400 iig 22 iig ig
@ TREERMNE AR . = =
Torsional riidi Nm/arcmin 1,2,3 3-1000 1.7 4.2 8.7 25.4
® HANEZ o IEEISERAT AL ‘"S"’;a [E']gj'j ity
BYFRE
® iSRG Allowable radial force F,. N 1,2,3 3-1000 265 440 1240 3700
BiFHmE 5
® it SRR Allowable axial force .., N 1,2,3 3-1000 200 400 1000 3000
fERE®D
® WM SHE Sevice life hrs 123 8-1000 20000
1 3-10 297%
ey e
® RIS Eﬁ?ﬁi o % 2 9-64 294%
3 60-1000 >91%
1 3-10 0.95 2.3 7.6 20
1.For any mounting position Gross weight kg 2 9-64 12 2.9 9.7 26
. . . 3 60-1000 1.5 36 11.3 32
2.Individual adaptation of the input flange to the motor EREE
i . . . BErRmE °C 1,23 3-1000 -10°C~90° C
3.Lifetime lubrication for maintenance-free operation Working temperature
4 Equidirectional rotation Lub"ffﬁn . 123 3-1000 ERIZBMAS / Synthetic lubricating grease
5.Wide range of output shaft designs BiP SR 123 31000 65
IP Grade "
6.Precise gearing ey
REFE - o
Installation direction 1,23 3-1000 {EE 7516 / In any direction
12548 (n1=3000rpm, T )
Noise level (N1=3000rpm,off load) dB 1.2 Sy sz =60 <65 =68
121 122




Bik3 / ZES R / ERESEL B3 / ZES X3/ INMEE RS

= . - -
{or ®EIBEHE Straight Tooth with Moment of Inertia - .
ZES 4ME B Profile
#4& Model  B{y Unit T5% Stage IRiEEL Ratio ZES060 ZES080 ZES120 ZES160
Lé
3 0.135 0.77 2.63 12.14
4 0.093 0.52 1.79 7.78 L5
L4
5 0.078 0.45 153 6.07
1
7 - 0.40 1.32 4.63 |
8 0.065 0.39 1.32 4.63 P
10 0.065 0.39 1.32 4.63 — o o 9l o
9 0.131 0.74 2.62 12.14 J o 2
12 0.127 0.72 2.62 12.37
15 0.077 0.71 2.62 12.35 U
16 0.088 0.50 2,62 7.47
20 0.075 0.44 2.53 6.65
2 Bh?
25 0.075 0.44 1.50 5.81
32 0.064 0.39 1.50 5.81 N
40 0.064 0.39 1.30 5.28 ,
50 0.064 0.39 1.30 5.28 F: HERTS8E ZE &7
i 64 0.064 0.39 1.30 5.28
BHiRE J, kg.cm?
60 0.076 0.51 112 7.50
64 0.076 0.50 112 7.50
80 0.075 0.50 112 7.50
100 0.075 0.44 1.50 7.40 & R<%Esi
Size
120 0.064 0.70 1.50 7.30
125 0.064 0.65 1.50 7.20 ZES060 ZES080 ZES120 ZES160
160 0.064 0.39 1.30 6.50
2 2
200 0.064 0.39 1.30 6.20
3
250 - - 1.30 5.40
D2 20 20 20 30 30 30 40 40 40 50 40 40
280 - - 1.30 5.70
D3 40 40 40 60 60 60 80 80 80 130 80 80
320 0.064 0.39 1.30 5.40
D4 60 60 60 82 82 82 118 118 118 165 118 118
350 - - 1.30 5.40
D5 52 52 52 70 70 70 100 100 100 145 100 100
400 . = 1.30 5.20
L1 3 3 3 3 3 3 5 5 5 4 5 5
500 - - 1.30 5.10
L2 16 16 16 20 20 20 30 30 30 50 30 30
512 0.064 0.39 - -
L3 21 21 21 26 26 26 40 40 40 58 40 40
1000 - - 1.30 4.90
L4 3 3 3 3 3 3 4 4 4 5 4 4
L5 25 25 25 30 30 30 45 45 45 65 45 45
L6 129 146.5 164 156 17555 195 222 251 280 326 327.5 374.5
c 4-M5 4-M5 4-M5 4-M6 4-M6 4-M6 4-M10 4-M10 4-M10 4-M12 4-M10 4-M10
B 3 3 3 5 5 5 6 6 6 10 6 6
H 112 112 11.2 18 18 18 225 225 225 38 225 225
z M3x6 M3x6 M3x6 M6x16 | M6x15 | M6x15 | M6ex15 | Mex15 | M6x15 | M10x25 | Mex15 | Méxis

123 124



BHiE¥ / 2hi5r Assembly Guide

B5 B EEXE

2 B NFBAFNRIEA LR A Se i 25 FRA AN RIS AR

4. R TR A5

5. BEFF SRR AIREBIIMNT ML ERBERRE,
AR EBEEET M ESERRIEE SR R e 5.

6. S RIEN A= SEEE= R I RIE R E A

7. (ERATAGHIRFIGREATER e R E IR

B S Model 40

:

VA=A

B14 A HEXE

2 BRI AEBA AR R S SeiF 218 PR AL AR

&)

3. DR S MU R B R L2 A (R B SRR AL 7 rE FEATL AR

4T E =R E

5. e R RIREL AR N TRAFLEREERRE,
RIEEEEETTE R EE R SRR e 5.

6 ISR E =SB A=IERIF N AR E 8

g ol

7 EATAGE DR F ISR AR IER T iR

120/115

03

I1/1TB
series

LYy v £

R A,
5

HIL]

ZT-ZTB-L series
#7

ZT-L1/R1/ ZTB-L1/R1 series
#7

ZT-H [ ZTB-H series
#5

ZT-C | ZTB-C series
51

ZT-LM/RM [ ZTB-LM/RM series
#7

ZT-4M | ZTB-4M series
9]

ZT-FL | ZTB-FL series
25

ZT-FL1/FR1/ ZTB-FL1/FR1 series
#51

ZT-FH | ZTB-FH series
%51

ZT-FC | ZTB-FC series
51



IRAER S IRIENZE / ZT/2TB %75 / #IR IZIERISHRGEND / 2T/7TB 51 / 1T

ZT/ZTB s 315

]
 mENES e "
2 , v - . ZT065, ZT075, ZT090, ZT110, ZT140, B o Dk
>4 . '; 4 | ZT170, ZT210, ZT240, ZT280 . 1Stage:1,152,3,45 || DEHEBRES
> U2 a f 74 o | 2 . ZTB065, ZTBO75, ZTBO9O, ZTB110, ZTB140, R
A ‘ﬂ , .Q’ N | ZTB170, ZTB210, ZTB240, ZTB280
ZT-L-L1-Rl  ZT-FLI-FL1-FR1 ZT-H/-C ZT-FHI-FC ZT-4M/-LM/-RM 0
‘ AL - Wi R i 1 |
L/L1/H/C/R1/LM/RM/4M S1: FBEH

S2: MieEH

: ERES: ZT065-L-001.5-S1 / SIEMENS 1FK6 032-6AK71
ZTB-LI-L1-R1  ZTB-FL/-FL1/-FR1 ZTB-H/-C ZTB-FH/-FC ZTB-4M/-LM/-RM ZTB065-L-001.5-S1 / SIEMENS 1FK6 032-6AK71

G B oS A D

—————————————————————————————————————————————————————————————————————————————————————

RENES . 2
| ZT065, ZT075, ZT090, ZT110, ZT140, || 1stage:1,1523,4.5 0 BikE
| ZT170, ZT210, ZT240, ZT280 | 2Stage:7,10,15,20,25,35,50 | | | DXBIEHRES
® KA EI S | ZTBOB5, ZTBO7S, ZTBO9O, ZTB110, ZTB140, | | | O Stage: 75,100,125, 150,200, |
| . 250, 350, 500 B
oo | ZTB170, ZTB210, ZTB240, ZTB280
$EAS-ZT | 21810, 21Be1D, 21BAAD, £1Besy et e
% -ZTB | 1
[ %WE@H&’EE&?% E mﬁm
® 1N ] ] 60 o B 2 4 |
. 1 FL/FLM1/FLM2/FL1/FLIM1/FLIM2/ . )
® SE 1 P S1: ¥isEH
; FR1/FRIM1/FRIM2/FH/FHM1/FHM2 / o S2- HtEE
® EAEHK 3 - :

| FC / FCM1/ FCM2 e
o EEH A — T~ |

@ GH P

o SiEtmERY BEFEHI: ZT210-FL1-200-S1 / SIEMENS 1FK6 032-6AK71

ZTB210-FL1-200-S1 / SIEMENS 1FK6 032-6AK71

127 128



IZMERISHRGEND / Z7T/7TB 5 / 2L 510

ZT | ZTB R5IMkE 5 [

—
"
S e
(3]

RPN

ZT-L ZT-H ZT-C
ZT-FL ZT-FH ZT-FC

B
ZTB-L ZTB-H ZTB-C I

ZTB-FL ZTB-FH ZTB-FC

>

T
g-_a-_._-_

Ny

1
Lo
BEEE

ZT-4Mm
ZTB-4M

IZNERISHRGEND / Z7T/7T8 E7F) / HEEN5BE

MR A Bk A

H MR T
S5 S1
BREY: EGERE
YES ED<60% NO  x EiFH(]

t work<20mins
(Eq.1)

HERIEL | (Eq.2)

HERRL | (Eq.2)

HERE
1
Mo o] -6- 1 -9
~ Kol DT
Egtlu T ggxln__m
- ks H- -+
_eo : >e_ _¢.o~ : >_¢_
| |
| |
HEEN HEEN
ZT-L1 ZT-FL1 I ZT-LM I
ZTB-L1 ZTB-FL1 ZTB-LM
B
HERE
1
@ 6] & A1-L o
~ | Al >
A ___% i R
- -
o0&t 0 485t e
| |
| |
HEEN HEEN
ZT-R1 ZT-FR1 I ZT-RM I
ZTB-R1 ZTB-FR1 ZTB-RM
1 -,
) R R MMEFIEED
H2 C/FC &%l D1 D2 D3 H1 H2
o SSD-d16xdwl14 41 16 26 15 18.5
- SSD-d22xdw18 50 22 36 19.5 23
» SSD-d25xdw22 50 25 38 19.5 23
SSD-d44xdw32 80 44 61 25.5 29.5
al 8 N 3
sl s H © SSD-d50xdw40 90 50 70 27.5 31.5
E‘ SSD-d62xdw50 110 62 86 30.5 34.5
") SSD-d68xdw55 115 68 86 30.5 34.5
SSD-d75xdw60 138 75 100 32,5 38

129

| |
&R Bk ET B 13 &R RiRETE Y1
H%E T (Eq.3) %6 T,m (Eq.3)
|
T8 /N B iR R AN =R
?H%E T2max (Eq'4)
|
EARK NO  Tona<Ts T <. No ERRBK
IR Tam<Ton I TR,
YES
¥

BN AR FEEIDEE n,, YES
BR R ERE B HIEE n,y (Eq-5)

|

EARASAH NO < .
ERRAVREE T Tt T N (BSEBE4A)

YES
v
THERRNAELE EAZ 22N
F2rm mlﬁ']jj FZam (Eq's)
|

HERENEE A2 2FZa7
F2rB mrﬁ]jj FZaB H’ggiq:ﬁ

v
Frie N mEARE
YES
BEFENEERALERN
|
pe )
S5 MMER 2RISR
—BONBREATSUTAR:  BELNURREAFSHUTAR:
‘_J—; <4xJ, %EJM
S pRiRE
Jm gt‘lﬁi

Faos > Faus ( BEEE12@m )

W [N FAREThET
32}
8]
1
=
R
11
=
H
i
8]
1
=
1
®
1
=
Leyele
Bia
t+Ht+ty
1.ED = ==X 100%, tyon =ty + 1.+ 1y
cycle
TRIHE: a. 10X, c. FR,
d. @R, p. =1t (Eq.1)
n
2.i% nwr(?rk
Nm DXHERE
Nwork SEFRN FAIRE (Eq.2)

3 3 3
Mot XToa +Np Xt XToe +NpgXt X Toy
T2rn=

3 NaaXtat Ny Xtetn Xty
(Eq.3)
4. T2max :Tme ix ksx n
Ks RERH
Ks BHEAREL /NGt
1.0 0~1,000
1.1 1,000 ~ 1,500
1.3 1,500 ~ 2,000
1.6 2,000 ~ 3,000
1.8 3,000 ~ 5,000
2.0 5,000 ~ 9,000
2.05 9,000 ~ 10,000
not recommended above 10,000

Tos DERAKILELE

n RN EEBREER (Eq.4)
5. Mg =Ny =——X Ny
Naa X ta+ Ny Xty X ty
Mam = T Lttrt
n 2 a c d
n = AN Ea.5
2N i (Eq.5)

3 3 3
nZaXtax FZra +n20xtcx F2rc "'r'detdx F2rd

-Fom= J Naa Xty + Ny Xt + Ny Xty

o]

3 3 3
n2axtaxF2aa +n20xtchZac +n2dxtdx F2ad

NaaXta+ Ny Xt + Ny Xty (Eq.6)

F2am

130



2

TRES AN

IZAERISHRGENZE / ZT/ATB X751 / HHEN A IRAER S RGEN S / ZT/ATB 5751 /!

AR AL L S 2 101 R ) ZT | ZTB & ==

o EEESHE (zTB RAIMMEE, MBS ZT RHER)

L
X
I ZTOB5L ZTO75L ZT090L ZT110L ZT140L ZT170L ZT210L ZT240L ZT280L
ﬁ ZT065L1 ZTO75L1 ZT090L1l ZT110L1l ZT140L1 ZT170L1 ZT210L1 ZT240L1 ZT280L1
Far @ ZTO65H ZTO75H ZTO90H ZT110H ZT140H ZT170H ZT210H ZT240H ZT280H
R N . B % il ZT085C ZTO75C ZT090C ZT110C ZT140C ZT170C ZT210C ZT240C ZT280C
N RN HATRERS ZRARANREG, KRB E 2RI, i S?afe Igatio ZT0B5 R1 ZTO75R1 ZTO90 Rl ZT110R1 ZT140R1 ZT170R1 ZT210R1 ZT240R1 ZT280 R1
e SN Y3
BENEAARTHNHRERBABENRIT, HERSEANZAR
o —_-— A A ZT065LM ZTO75LM ZTOS0LM ZT110LM ZT140LM ZT170LM ZT210LM ZT240LM ZT280 LM
° ZT065 RM ZT075 RM ZT090 RM ZT110 RM ZT140 RM ZT170 RM ZT210 RM ZT240 RM ZT280 RM
ZTO065 4M ZTO75 4M ZT090 4M ZT110 4M ZT1404M ZT170 4M ZT2104M ZT240 4M ZT280 4M
1 25 45 78 150 360 585 1,300 2,150 3,200
15 25 45 78 150 360 585 1,300 2,150 3.2
F, BAah FER e - ) 2 24 42 68 150 330 544 1,220 2,010 3,050
F A Rated output torque T,y 3 18 33 54 120 270 450 1,020 1,650 2,850
22 #1110 4 13 28 48 100 224 376 860 1,410 2,300
5 12 25 40 85 196 320 740 1,210 2,000
RARNMEIIIE Ty Nm 1 1~5 1.5 EEER H 15E
BAIMEHNEE n 4, rom 1 1~5 7,500 6,500 5,500 4,500 3,500 3,000 2,200 2,000 1,700
B arcmin| 1 1~5 <8 <8 <8 <8 <8 <10 <10 <10 <10
o234 o P c
ZT/ZTB BAWBIFREN Fe ZT/ZTB BB RaN Fos ﬁ‘%&@? di“ﬂ N 1 1-5 700 950 1450 | 2,100 | 2,700 | 3,800 | 7,800 | 9,600 | 10,500
SRR D
1950 pogon —— e‘%ﬁggj dngﬂ N 1 1~5 900 1,100 1,700 2,700 4,800 6,600 | 11,500 | 16,000 | 18,000
16,500 28,500 w— ZT240
—_— — L\ — ZT210 [, c
Z W \ Z B 5o O — zmo BIFHEIN Frog N 1 1~5 350 425 725 1,050 1,350 1,900 3,900 4,800 5,250
. NN ZT140 i dl
= 10500 \\ 21’322‘500 z1110 = 5
AN w0 R e ﬁiﬁmﬂﬂ?dz?aﬂ N 1 1-5 450 550 850 1350 | 2400 | 3300 | 5750 | 8500 | 9,000
R 8" R 8 16500 |\ — ZzT065 Al
ﬁ E 8,500 @ E 14,500 1§m§$ £ hr 1 1~5 20,000
M o G BE N % | 1 | 1-5 204%
" 10,500
LR £ R o EREE e 1 1~5 -10°C~90°C
wa & . EREBE
' 2500 BE{E (n =1500rpm, EHEH ) [dB(A)| 1 1~5 68 | <0 | <74 st6 | <t7 | <8 <80 <82 <83
500 L L L n n T ——— L e—————
300 900 1500 2100 2700 3300 3900 4500 5100 5700 6300 6900 7500 500300 900 1500 2100 2700 3300 3900 4500 5100 5700 6300 6900 7300
MNBEEE n,g [rpm] I n, [rpm] o BRWETNES (218 RAlMta:, MBS ZT Z54ER)
ZTOB5L ZTO75L ZT090L ZT110L ZT140L ZT170L ZT210L ZT240L ZT280L
YR F, FAFHDOIEE X=1/2 xL K. ZT065L1 ZTO75L1 ZT090L1l ZT110L1l ZT140L1 ZT170L1 ZT210L1 ZT240L1 ZT280L1
e i Yo . ZTO65H ZTO75H ZT090H ZT110H ZT140H ZT170H ZT210H ZT240H ZT280H
KH&%Z@{ET&EKHE@&EEE%T, £ 20,000hr B¢, sy ¥ JEEH, ZT065C  ZTO75C  ZT090C ZT110C ZT140C ZT170C ZT210C ZT240C  ZT280C
FreeR2 2 BITRAN Fue, BSREBE, Unit Stage Ratio ZT085R1 ZTO75R1 ZTOSORL ZT110R1 ZT140R1 ZTI70R1 ZT210R1 ZT240R1 ZT280R1
ZT065 LM ZT075LM ZT090 LM ZT110LM ZT140LM ZT170LM ZT210LM ZT240LM ZT280 LM
ZT065 RM ZT075 RM ZT090 RM ZT110 RM ZT140 RM ZT170 RM ZT210 RM ZT240 RM ZT280 RM
--------------------------------------------------------------------------------------------------------------------------- ZTO065 4M ZTO754M ZT090 4M ZT110 4M ZT140 4M ZT170 4M ZT2104M ZT240 4M ZT280 4M
1 0.51 1.30 3.16 7.70 23.57 58.99 | 19540 | 369.34 | 799.12
15 0.64 1.16 2.82 6.74 19.37 49.28 15545 | 28358 | 595.78
ZT/ZTB RN ZT/ZTB HibH SR J weom| 1 2 0.44 111 2.70 6.31 17.75 45.35 14024 | 24974 | 511.76
s " S € 3 0.43 1.09 2.66 6.17 17.18 44.01 134.95 | 237.71 | 483.06
o 4 ke 4 0.43 1.09 2.65 6.13 17.06 4370 | 13358 | 23472 | 476.26
= "I\ a0 — o 5 0.43 1.09 2.65 6.12 17.02 43.60 133.14 | 23367 | 473.58
Y 2 \ Y 12 ZT140
ﬁ 11 \\ ﬁ 11 _ Z;;g -
[z 1.0 2 1.0 — ==3
1»1:@ AN % — e o B8
U:\’ 08 \§ U:\’ 08 N BT B ORGELE
\
[T SE AN W o = Ll ZT0B5  ZTO75 = ZT090  ZT110  ZT140
=) 06 N = e Unit Stage Ratio
0s AN 0s — L %73l 1~5 2.6 4.2 6.8 11.6 19.8 34.8 66.2 98.1 155.7
o4 o4 L1 &7 1~5 2.6 4.1 6.7 115 19.5 34.2 65.1 96.6 153.4
o 0 10 80 120 160 200 240 280 320 360 400 440 * 0 40 80 120 160 200 240 280 320 360 400 440 H 7%l 1~-6 2:5 3.9 6.4 11.0 18.1 31.6 60.0 89.4 143.4
C %5l 1~5 2.8 4.2 6.9 114 196 33.7 63.3 97.9 149.1
P; =] 3 4 =] \ k 1
EmNiEHME X [mm] EmNiEAME X [mm] ] g 1~5 26 41 6.7 11.5 19.5 34.2 65.1 96.6 153.4
LM %3 1 35 5.6 9.0 15.2 24.1 424 81.4 122.0 190.9
RM %5 1 35 5.6 9.0 15.2 24.1 u2.4 81.4 122.0 190.9
. o . — . 4M 5 1 35 5.6 9.1 15.4 24.8 42.6 825 123.5 193.3
WA F, EAREHPDINIEN , BETRENED X < 1/2 xL b, FrEERS 2FBIFRANEK, HHZEFIENEIX > 1/2 xL i,
FIEERS ZBFRANNEN, HBHEE, REENIMBREZAABAME X, SHABATEH Ko A 63 (i=N, [ Noy) © ZT-LM/RM/AM RER4L 1:1 L D. BANERUHIIE nis fEAFRARPOME,
B. BRERE 2% SUENE T2N BN TS, E. EZIEREMRF®A 10,000 /Y,
C. RAMEBMAFRR ng EAFRANHPOE, F REEESBRBERERESERENAS.

131 132



IRAEREIRIENE / Z7T/2TB 551 / INEE RS IRRER SR IRIENLE / 7T/2TB 551 / INEE RS
ZT-ZTB-L =° ZT-L1/R1/ZTB-L1/R1 4 S
- - E3 7 (875, BEL i=1~5) - - E3 7 (87, REL i=1~5)
L3 oLt L3, Bl 6, L5
L L /D‘ .n_i 5 @, ¥R DING8S5/1 Ff ZT_Ll ZT_Rl
| /1 @ EE@ ==
- L3 oLt L3 Bl L6_ L5
- o~ Do Wl 1 e o1 . IR DING8B5/1 At u_ L2
- B 7: | ST B W 1 D3 16 A, 2ieT) L10 l‘—>‘—-| - =t 5)
_ ;777: R 7—1 (i) - ] ] D6 Lo o} o]
3 ey 821 e _Lis i 5 - ’& a1 |20 wEXS2 o s ) ]V'«
P S, -®- . % DIN6885/1 47, H H
B e et E@ @ o 4@* L e e L =
o ~F 1 1 : o &S (==Y - & > 42, IR DINGBBS/1 HRfE 1% >
g ! ], >o]] § § R N J
b — —1 D16 ol | = A st () =
! WER s D136 st 201340 120 e - | D16 L19 | |
CRAR) — R 1 - D13 BEK s2 2013 L20 = —
ou = : (RA®) :
D9 D8 = L11 Lt
8 | ou
Do 208 < L11 L11
’f |
. N A 15 = O & <o ®
HE @ hEEE == (e
O 7,
® ® o)
L2 L4 L4 L2 L12 L14 " L . L2 Lia
L7 L7 L21 = L74>"7 L21
L8 L8 L22 Ls L22
*ZTB RIIMR 5 zT ZFHERE. (Bf1: mm) *ZTB RAIMR~S zT R5#E[ . (EfI: mm)
ZT065 L ZT075 L ZT090 L ZT1l1l0L ZT140 L ZT170 L ZT210L ZT240 L ZT280 L ZT065 L1/R1 ZTO075L1/R1 ZT090 L1/R1 ZT110L1l/R1 ZT140L1/R1 ZT170L1/R1 ZT210L1/R1 ZT240L1l/R1 ZT280 L1/R1
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16 D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 w6 13 16 18 22 32 40 50 55 60 D3 ks 13 16 18 22 32 40 50 55 60
D4 w7 63 73 88 108 135 165 205 235 275 D4 w7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144 D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20 D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110 D7 21 22 28 33 47 55 75 85 110
D8 53 62 76 95 92 114 142 160 176 D8 53 62 76 95 92 114 142 160 176
D9 4xMaxL7 4xM5xL8 4xM5xL8 6xM6xL10 6xM6xL10 6xM8xL12.5 6xM8xL12.5 6xM8xL12.5 6xM10xL15 D9 4xMaxL7 4xM5xL8 4xM5xL8 6xM6xL10 6xM6xL10 6xM8xL12.5 6xM8xL12.5 6xM8xL12.5 6xM10xL15
D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3 D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3
D11 es 62.9 72.9 87 107 103 127 158 178 198 D11 es 62.9 72.9 87 107 103 127 158 178 198
D12 62 72 86 106 104 128 160 180 200 D12 62 72 86 106 104 128 160 180 200
D13 ke 13 16 18 22 32 40 50 55 60 D13 ke 13 16 18 22 32 40 50 55 60
D14 w7 63 73 88 108 135 165 205 235 275 D14 w 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20 D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
L1 65 75 90 110 140 170 210 240 280 L1 65 75 90 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 75 85 110 L2 19.5 30 35 40 50 60 75 85 110
L3 13 14.5 15 15 15 15 20 25 25 L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2 L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100 L5 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 25 5 25 25 5 L6 2 25 35 4 25 5 25 25 5
L7 47.5 54 62 72 87 102 127 147 167 L7 47.5 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277 L8 67 84 97 112 137 162 202 232 277
L9 45 4.8 4.8 7.2 10 12 12 12 15 L9 45 4.8 4.8 7.2 10 12 12 12 15
L10 10 12.5 12.5 19 28 36 36 36 42 L10 10 12.5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110 L11 27 30 36 44 55 67 85 95 110
L12 195 30 35 40 50 60 75 85 110 L12 195 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25 L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2 L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100 L15 16 25 28 32 45 50 70 80 100
L16 2 25 3.5 4 25 5 2.5 25 5 L16 2 2.5 3.5 4 25 5 2.5 2.5 5
L17 6 8 8 8 10 10 10 10 10 L17 6 8 8 8 10 10 10 10 10
L18 43 52.5 55 60 60 70 90 105 120 L18 43 52.5 55 60 60 70 90 105 120
L19 45 4.8 4.8 7.2 10 12 12 12 15 L19 45 4.8 4.8 7.2 10 12 12 12 15
L20 10 12.5 12.5 19 28 36 36 36 42 L20 10 12.5 12.5 19 28 36 36 36 42
L21 75.5 90 100 115 130 155 195 225 260 L21 75.5 90 100 115 130 155 195 225 260
L22 95 120 135 155 180 215 270 310 370 L22 95 120 135 155 180 215 270 310 370
B1 he 5 5 6 6 10 12 14 16 18 B1 ne 5 5 6 6 10 12 14 16 18
B2 ne 5 5 6 6 10 12 14 16 18 B2 ne 5 5 6 6 10 12 14 16 18
H1 15! 18 20.5 24.5 35 43 53.5 59 64 H1 15! 18 20.5 245 35 43 53.5 59 64
H2 15 18 20.5 24.5 35 43 53.5 59 64 H2 15 18 20.5 24.5 35 43 53.5 59 64
134

133



IREREIRGENY / 7T/72TB K3 / /MEERF IBERERIRGENY / 7T/72TB KF / SMEER~F

Z Z B i Z C Z B C e
- - - . - - - .
I I I I I I #5 (8%, BiE i=1~5) I I #5 (875, BEL i=1~5)
L3 [=[%) L3
L3 [=I%; 13 py
L11 L11 D1
z L26 L L L26
] — L25 L25
: >|_|.&"3 L6, LIS _ - i D ({ B2 1o L16 L15
= [ - <] | . K68 DING885/1 it z e | — | | &, (X9 DINGBSS/1 Hrtk
] o FE=r). r =21 1 R 2if | o o
1 = =24 5N S élé N7 3 AR =
il 8 pi6 Ll | S| 8§ ® =~ —1 D16 L9
: RN S 2013 1 RN s2 2013 120 T O <} W 51 @D13 46 R 20131 120
& =
o 5t CaAm) o 5 | | oA
b 2
517 ';! [ 1
! hoj
| |l
oLt oLt
» L1 L1
D9 2D8 g I D9 208 :z L11 L1 D1
g [t g /

@D4 w7

D5

@D4 n7

@D11 g5

@D10

@D12

L14

L22

42, KPR DING885/1 ATt

*ZTB RIIMR S zT Z5IHEE .

(Bfi: mm)

@D4 n7
@D3 rs

D2 r

@D2+s|
@D3 re

@D4 ny

L2

@D12

D10

@D11 g6

L2

oLt

*ZTB RIIMRT S ZT R5IHEE.

(Bf7: mm)

135

ZT065 H ZT075 H ZT090 H ZT110H ZT140H ZT170 H ZT210 H ZT240 H ZT280 H ZT065 C ZT075C ZT090 C ZT110C ZT140C ZT170C ZT210C ZT240 C ZT280 C
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16 D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D2 w7 13 14 18 22 32 40 50 55 60 D2 +e 13 14 18 22 32 40 50 55 60
D4 n7 63 73 88 108 135 165 205 235 275 D3 e 16 16 22 25 44 50 62 68 75
D5 31 35 43 53 68 83 104 124 144 D4 n7 63 73 88 108 135 165 205 235 275
D7 21 22 28 33 47 55 75 85 110 D8 53 62 76 95 92 114 142 160 176
D8 53 62 76 95 92 114 142 160 176 D9 AXMA4XLT 4xM5xL8 4XM5XL8 6xM6xL10 6xM6xL10 6xM8xL12.5 6xM8xL12.5 6xM8xL12.5 6xM10xL15
D9 4xM4xL7 4xM5xL8 4xMb5xL8 6xM6xL10 6xM6xL10 6xM8xL12.5 6xM8xL12.5 6xM8xL12.5 6xM10xL15 D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3
D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3 D1l es 62.9 72.9 87 107 103 127 158 178 198
D11 es 62.9 72.9 87 107 103 127 158 178 198 D12 62 72 86 106 104 128 160 180 200
D12 62 72 86 106 104 128 160 180 200 D13 ke 13 16 18 22 32 40 50 55 60
D13 ke 13 16 18 22 32 40 50 55 60 D14 w7 63 73 88 108 135 165 205 235 275
D14 7 63 73 88 108 135 165 205 235 275 D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20 D17 26 26 36 38 61 70 86 86 100
L1 65 75 90 110 140 170 210 240 280 D18 41 41 50 50 80 90 110 115 138
L3 13 14.5 15 15 15 15 20 25 25 L1 65 75 90 110 140 170 210 240 280
L4 2 2 2 2 2 2 2 2 2 L2 14 14 18 18 24 26 29 29 30.5
L7 47.5 54 62 72 87 102 127 147 167 L3 13 14.5 15 15 15 15 20 25 25
L11 27 30 36 44 55 67 85 95 110 L4 2 2 2 2 2 2 2 2 2
L12 19.5 30 35 40 50 60 75 85 110 L7 47.5 54 62 72 87 102 127 147 167
L13 13 15 15 15 15 15 20 25 25 L8 66 72.5 85 95 116.5 133.5 161.5 181.5 205
L14 2 2 2 2 2 2 2 2 2 L11 27 30 36 44 55 67 85 95 110
L15 16 25 28 32 45 50 70 80 100 L12 19.5 30 35 40 50 60 75 85 110
L16 2 25 3.5 4 25 5 25 2.5 5 L13 13 15 15 15 15 15 20 25 25
L17 6 8 8 8 10 10 10 10 10 L14 2 2 2 2 2 2 2 2 2
L18 43 52.5 55 60 60 70 90 105 120 L15 16 25 28 32 45 50 70 80 100
L19 4.5 4.8 4.8 7.2 10 12 12 12 15 L16 2 25 3.5 4 25 5 25 25 5
L20 10 125 125 19 28 36 36 36 42 L17 6 8 8 8 10 10 10 10 10
L21 75.5 90 100 115 130 155 195 225 260 L18 43 52.5 55 60 60 70 90 105 120
L22 95 120 135 155 180 215 270 310 370 L19 4.5 4.8 4.8 7.2 10 12 12 12 15
L23 40 47 52 53 70 80 95 115 115 L20 10 12.5 12.5 19 28 36 36 36 42
L24 30 32 35 35 50 55 65 80 80 L21 75.5 90 100 115 130 155 195 225 260
B2 no 5 5 6 6 10 12 14 16 18 L22 95 120 135 155 180 215 270 310 370
B3 po 5 5 6 6 10 12 14 16 18 L23 15 15 20 20 26 28 31 31 32.5
H2 15 18 20.5 24.5 35 43 53.5 59 64 L24 15 15 20 20 26 28 31 31 325
H3 15.3 16.3 20.8 24.8 35.3 43.3 53.8 59.3 64.4 L25 15 15 19.5 19.5 25.5 27.5 30.5 30.5 32.5
L26 18.5 18.5 23 23 29.5 315 34.5 34.5 38
B2 no 5 5 6 6 10 12 14 16 18
H2 15 18 20.5 24.5 35 43 53.5 59 64

136




IRRERSHIRGENY / ZT/2TB 25 / SMEE R~ IERERGIRFENE / 7T/2TB Z5 / INE SR
ZT-LM/RM | ZTB-LM/RM £5°° s, muwen ZT-4M | ZTB-4M 5°° s, ane
ZTLM o e ZT-RM T e =Ty

=
®

)
\QJ’

5 | 3 52, {0 DINGBB5/1 7t Si [ 1 = 2.
B S f ] ﬁ @ iE% I —|| L4 L2 3 g: ﬁ s o1 2031 BEK S D3 46 Lio
=1 D6 L9 ¥ A [€-1::D]
! Ho . -] 2 203 W S2 203 Lio o] - > B2 Lie, _L1s
5 I d —— (mm"; i e s d . = —— ‘n‘i 5, X0 DINGBBS/1 Fte
@, {XFB DING8S5/1 Ff == B — 4@, %E%k =,
= B N =4
E s @ SR = 24 T "ol | ot ol |
8; = = D13 D:ms - = 120 = @ E’! RN S1 20131 AR S D13 e £20
: ; ! 1 e e (EAH) ! | B gi I | (AAE)
B i I o
D9 208 < LnnL1 L1 Do 208 E: L SAN -
5 ‘ g | g
V7 = R S o iy \ o = o o e
7 \ Aw— 1 ZZBN a | l= o | - HERS SE g e 8 S of 2 -
EEl= (&) :EEE = &) i HRE EE! LEE 't LERE
N 7 = pur -
NS =z ® ® £
L2 La La L12 L14 L14 L2 L2 L4 L4 L2 L12 Li4 L14 L2
L7 L7 I L21 L21 L7 L7 L21 L21
L8 L22 L22 L8 L8 L22 122
*ZTB RIIMR~T5 ZT Z5#E[ . (841: mm) *ZTB RIIWR~TS ZT Z5IHEE. (841: mm)
ZT065LM/RM ZTO75LM/RM ZTO90LM/RM ZT110LM/RM ZT140LM/RM ZT170LM/RM ZT210LM/RM ZT240LM/RM ZT280LM/RM ZT065 4M ZT075 4M ZT090 4M ZT110 4M ZT140 4M ZT170 4M ZT210 4M ZT240 4M ZT280 4M
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16 D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3« 13 16 18 22 32 40 50 55 60 D3« 13 16 18 22 32 40 50 55 60
D4 w7 63 73 88 108 135 165 205 235 275 D4 w7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144 D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20 D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110 D7 21 22 28 33 47 55 75 85 110
D8 53 62 76 95 92 114 142 160 176 D8 53 62 76 95 92 114 142 160 176
D9 4xMaxL7 4xM5xL8 4xM5xL8 6xM6xL10 6xM6xL10 6xM8xL12.5 6xM8xL12.5 6xM8xL12.5 6xM10xL15 D9 4xMaxL7 4xM5xL8 4xM5xL8 6xM6xL10 6xM6xL10 6xM8xL12.5 6xM8xL12.5 6xM8xL12.5 6xM10xL15
D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3 D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3
D11 es 62.9 72.9 87 107 103 127 158 178 198 D11l es 62.9 72.9 87 107 1083 127 158 178 198
D12 62 72 86 106 104 128 160 180 200 D12 62 72 86 106 104 128 160 180 200
D13 ks 13 16 18 22 32 40 50 55 60 D13 ks 13 16 18 22 32 40 50 55 60
D14 7 63 73 88 108 135 165 205 235 275 D14 n7 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20 D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
L1 65 75! 90 110 140 170 210 240 280 L1 65 75 90 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 75 85 110 L2 19.5 30 35 40 50 60 75 85 110
L3 13 14.5 15 15 15 15 20 25 25 L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2 L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100 L5 16 25 28 32 45 50 70 80 100
L6 2 2.5 35 4 25 5 25 25 5 L6 2 25 3.5 4 2.5 5 2.5 25 5
L7 47.5 54 62 72 87 102 127 147 167 L7 47.5 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277 L8 67 84 97 112 137 162 202 232 277
|e] 4.5 4.8 4.8 7.2 10 12 12 12 15 L9 4.5 4.8 4.8 7.2 10 12 12 12 15
L10 10 12.5 12.5 19 28 36 36 36 42 L10 10 12,5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110 L11 27 30 36 44 556 67 85 95 110
L12 19.5 30 35 40 50 60 75 85 110 L12 19.5 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25 L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2 L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100 L15 16 25 28 32 45 50 70 80 100
L16 2 25 35 4 25 5 25 25 5 L16 2 2.5 35 4 2.5 5 25 25 5
L17 6 8 8 8 10 10 10 10 10 L17 6 8 8 8 10 10 10 10 10
L18 43 52.5 55 60 60 70 90 105 120 L18 43 52.5 55 60 60 70 90 105 120
L19 4.5 4.8 4.8 7.2 10 12 12 12 15 L19 4.5 4.8 4.8 7.2 10 12 12 12 15
L20 10 12.5 12.5 19 28 36 36 36 42 L20 10 12,5 12.5 19 28 36 36 36 42
L21 75.5 90 100 115 130 155 195 225 260 L21 75.5 90 100 115 130 155 195 225 260
L22 95 120 135 155 180 215 270 310 370 L22 95 120 135 155 180 215 270 310 370
B1 ne 5 5 6 6 10 12 14 16 18 B1 no 5 5 6 6 10 12 14 16 18
B2 e 5 5 6 6 10 12 14 16 18 B2 no 5 5 6 6 10 12 14 16 18
H1 15 18 20.5 24.5 85! 43 5315 59 64 H1 15 18 20.5 24.5 35 43 5815 59 64
H2 15 18 20.5 245 35 43 53.5 59 64 H2 15 18 20.5 24.5 35 43 53.5 59 64
138

137



\

IZMERIGEHRIEND / 7T/7T8 ¥ / S IZNERISHRGEND / 7T/71B ZF / eSS

ZT/ZTB E=8 =~ ZT/ZTB jEZ B ==

o MERESEE (278 RolmteE, MBS ZT RFIERE) & ROENETIIES (218 RAMME, MBS ZT RVER)
ZT065FL ZTO75FL ZTOSOFL ZT110FL ZT140FL ZT170FL ZT210FL ZT240FL ZT280FL ZTOB5FL ZTO75FL ZTOSOFL ZT110FL ZT140FL ZT170FL ZT210FL ZT240FL ZT280 FL
@y %% Rsgb, 27065 FLL ZTO75FL1 ZT090FL1 ZT110FL1 ZT140FL1 ZT170FL1 ZT210FL1 ZT240 FL1 ZT280 FL1 @ %% Rt Z7065FLL ZTO75FL1 ZT090 FL1 ZT110FL1 ZT140FL1 ZT170FL1 ZT210FL1 ZT240 FL1 ZT280 FL1
Uir o ’R tio ZTOBSFH ZTO75FH ZTO90FH ZT1I0FH ZTI40FH ZTI70FH ZT210FH ZT240FH ZT280 FH U | ’R tio ZT0B5FH ZTO75FH ZTO90FH ZT1IOFH ZTI40FH ZTI70FH ZT210FH ZT240FH ZT280 FH
i age Rallo  zyoe5Fc zTO75FC ZTO9OFC ZT110FC ZT140FC ZT170FC ZT210FC ZT240FC  ZT280 FC AL age Rallo  zype5Fc zTO75FC ZTO90FC ZT110FC ZT140FC ZT170FC ZT210FC ZT240FC  ZT280 FC
ZT065 FR1 ZT075 FR1 ZT090 FR1 ZT110 FR1 ZT140 FR1 ZT170 FR1 ZT210 FR1 ZT240 FR1 ZT280 FR1 ZT065 FR1 ZT075 FR1 ZT090 FR1 ZT110 FR1 ZT140 FR1 ZT170 FR1 ZT210 FR1 ZT240 FR1 ZT280 FR1
1 25 45 78 150 360 585 1,300 2,150 3,200 1 0.51 1.30 3.14 7.62 23.54 50.09 | 19596 | 365.38 | 787.63
15 25 45 78 150 360 585 1,300 2,150 3,200 15 0.46 1.15 2.80 6.65 19.34 4938 | 156.02 | 279.62 | 584.28
2 24 42 68 150 330 544 1,220 2,010 3,050 2 0.44 1.10 2.68 6.23 17.72 4544 | 14080 | 245.78 | 500.26
1 1
3 18 33 54 120 270 450 1,020 1,650 2,850 3 0.43 1.09 2.64 6.08 17.16 4411 | 13551 | 23375 | 47156
4 13 28 48 100 204 376 860 1,410 2,300 4 0.43 1.08 2.63 6.05 17.03 4379 | 13414 | 23077 | 464.76
5 12 25 40 85 196 320 740 1,210 2,000 5 0.43 1.08 2.63 6.04 16.99 4369 | 13371 | 22071 | 462.08
7 25 30 70 165 196 220 450 960 1050 7 0.15 0.15 0.50 2.79 2.79 2.79 9.91 29.26 29.26
10 24 28 68 150 208 208 430 846 846 10 0.15 0.15 0.50 2.80 2.80 2.80 9.96 29.43 29.43
15 18 33 54 120 270 312 645 1,269 1,269 15 0.15 0.15 0.50 2.80 2.80 2.80 9.96 29.43 29.43
2 20 13 28 48 100 224 376 860 1,410 1,692 2 20 0.15 0.15 0.50 2.80 2.80 2.80 9.96 29.43 29.43
L NIE Nm 25 12 25 40 85 196 320 740 1,210 2,000 HEIREJ kg.cm? 25 0.15 0.15 0.50 2.80 2.80 2.80 9.96 29.43 29.43
Rated output torque T, ! ! = ’ ) ) | ) ) i ) | )
35 12 25 40 85 196 320 740 1,210 1,790 35 0.15 0.15 0.50 2.79 2.79 2.79 9.91 29.26 29.26
50 12 25 40 85 196 320 740 1,210 1,465 50 0.15 0.15 0.50 2.79 2.79 2.79 9.89 29.20 29.20
75 - 45 78 120 210 312 585 1,269 1,269 75 - - - 0.15 0.15 0.50 0.50 2.80 2.80
100 5 45 78 100 224 376 780 1,410 1,692 100 . . 5 0.15 0.15 0.50 0.50 2.80 2.80
125 - 45 78 85 196 320 740 1,210 2,000 125 - - - 0.15 0.15 0.50 0.50 2.80 2.80
150 5 45 78 120 135 312 390 975 975 150 . = 5 0.15 0.15 0.50 0.50 2.79 2.79
3 3
200 - 45 78 100 180 376 520 1,300 1,300 200 - - - 0.15 0.15 0.50 0.50 2.79 2.79
250 = 45 78 85 196 320 650 1,210 1,625 250 = = . 0.15 0.15 0.50 0.50 2.79 2.79
350 - 45 78 85 196 320 740 1,210 1,790 350 - - - 0.15 0.15 0.50 0.50 2.79 2.79
500 . 45 78 85 196 320 740 1,210 1,465 500 5 . . 0.15 0.15 0.50 0.50 2.79 2.79
WANMRAET 5 Nm | 1,2,3 | 1~500 15 EHEHEHE
1 1~5 7,500 6,500 5,500 4,500 3,500 3,000 2,200 2,000 1,700
ION-"}-;
BANMEBAEE n pm | 2 7~50 | 8,000 8,000 6,000 6,000 6,000 6,000 4,800 3,600 3,600 =21
3 | 75~500 5 = = 8,000 8,000 6,000 6,000 6,000 6,000 T
RENBS . ZT090 ZT110 ZT140 ZT170
1 1-5 <6 <6 <6 <6 <6 <6 <6 <6 <6 Unit Stage
e i e 0 o 0 0 0 o o o e 1 1~5 2.8 44 7.1 12.1 20.9 36.1 69.4 101.2 158.3
B aremin - = = = = = = = = = FL X5 2 7~50 3.2 4.8 8.1 14.3 242 385 74.1 112.4 171.0
3 75~500 - - - <15 <15 <18 <18 <25 <25 3 75~500 - - - 13.9 23.7 38.8 73.4 110.2 168.7
1 1~5 2.7 4.3 7.1 11.9 20.3 355 68.3 99.6 156.0
CRIMT 4R Cc '~
BHEET Fa N | 123 | 1~500 | 900 1,00 | 1700 | 2700 | 4800 | 6600 | 11,500 | 16,000 | 18,000 FL1 %5 2 |ieoy S ezt LY i R Sl L LIS L e
Hidis d2 3 | 75~500 - - - 13.8 23.4 38.2 72.3 108.6 166.4
- 1 1~5 26 41 6.7 114 18.9 32.9 63.2 92,5 146.0
elq;‘g'ﬁﬂ?.iéjd':;aa N 12,3 | 1~500 450 550 850 1,350 2,400 3,300 5,750 8,500 9,000 FH &7 kg 2 7~50 3.1 4.6 7.7 13.6 22.4 36.3 67.9 103.7 158.7
! 3 | 75~500 5 5 - 13.3 21.9 35.6 67.2 101.5 156.5
RS ° e | 123 | 1500 D 1 1~5 2.9 44 7.2 11.8 20.4 35.0 66.5 96.0 151.7
"~ ' FC &5 2 7~50 3.3 4.9 8.2 14.1 24.1 37.4 71.2 107.2 164.4
. 1 1~5 >94% 3 | 75~500 - - - 137 235 375 705 105.0 162.2
HMEn % 23 | 72500 o0 1 1~5 27 4.3 7.1 11.9 20.3 355 68.3 99.6 156.0
' = FR1 %5 2 7~50 3.2 4.8 8.0 14.2 23.9 37.9 73.0 110.8 168.6
EEEE °c | 123 | 1~500 -100C ~ 900C 3 | 75~500 5 - 5 13.8 23.4 38.2 723 108.6 166.4
RENeY N =D A. Lb# (i=Nin / Nout) D. EL&IZEFERE A 10,000 NG,
S papTa B. HIERTE 2% FUENE T2N A TNE. E. BEEBSBERELLESHENFHS.
= ~ < < < < < < < < < o s -
2 &8 (n =1500pm, ETHEH)° |dB(A)| 1,23 | 1~500 <71 ‘ <72 ‘ <76 ‘ <77 ‘ <78 <79 ‘ <81 ‘ <83 ‘ <84 C. BANES N 1B EFFH b E

139 140



BAERERIRIENZ / 27/2TB 55 / INE SRS BAERERIRIENZ / 27/2TB 25 / INE SR
ZT-FL /| ZTB-FL =" ZT-FL | ZTB-FL =~
- - #5 (875, REL i=1~5) - - EX7] (5, RELE i=7~50)
L3 gLt L3 L3 oLt L3
L11 L11 D1 L11 L11 D1
L~ L~
1 } 17 b 1 4 -
B1ne L6 L5 - IS B1re L6 L5
5 [ 52, X0 DINGBBS/1 47t =T —— [ 5, X9 DINGBES/1 Ftt
_ \IJ/ EE%V I ) -  — ,, . — T SH/ D
= D6 CAN j H ¢ “ "4}_ D6 ol
o ELEE £8e mmms: o0 2 & RS 23 gmsts: 203 s 512
- € F:D) (@)
Lt in 2D15
c4
- <C—6 5 _0_47 oL
é cel z
: é
LIS .
HEEIS sl gl 2 s sr 8 . . o
S Q| 8 Q S IS 1St ‘S— ;L H é § lg‘ é é g é ’ (S J
L2 L4 L4 L2 C8! L21 L2 L4 L4 L2 cs| L21
L7 L7 L22 L7 L7 T L22
L8 L8 c9 L8 L8 C9
*ZTB RIIMR S zT £5IHEE . (BfI: mm) *ZTB RIINRT S zT £5IHEME . (BfI: mm)
ZT065 FL ZT075 FL ZT090 FL ZT110 FL ZT140 FL ZT170 FL ZT210 FL ZT240 FL ZT280 FL ZT065 FL ZT075 FL ZT090 FL ZT110 FL ZT140 FL ZT170 FL ZT210 FL ZT240 FL ZT280 FL
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16 D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 ke 13 16 18 22 32 40 50 55 60 D3 ke 13 16 18 22 32 40 50 55 60
D4 n7 63 73 88 108 135 165 205 235 275 D4 7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144 D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20 D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110 D7 21 22 28 33 47 55 75 85 110
D12 62 72 86 106 104 128 160 180 200 D12 62 72 86 106 104 128 160 180 200
D14 w7 63 73 88 108 135 165 205 235 275 D14 w7 63 73 88 108 135 165 205 235 275
D15 62.9 72.9 87 107 105 130 158 178 198 D15 62.9 72.9 87 107 106 130 158 178 198
L1 65 75 920 110 140 170 210 240 280 L1 65 75 90 110 140 170 210 240 280
L2 19.5 30 85 40 50 60 75 85 110 L2 19.5 30 35 40 50 60 75 85 110
L3 13 145 15 15 15 15 20 25 25 L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2 L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100 L5 16 25 28 32 45 50 70 80 100
L6 2 2.5 815 4 2.5 5 2.5 2.5 5 L6 2 2.5 3.5 4 2.5 5 2.5 2.5 5
L7 47.5 54 62 72 87 102 127 147 167 L7 47.5 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277 L8 67 84 97 112 137 162 202 232 277
L9 4.5 4.8 4.8 7.2 10 12 12 12 15 L9 4.5 4.8 4.8 7.2 10 12 12 12 15
L10 10 12.5 12.5 19 28 36 36 36 42 L10 10 12.5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110 L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25 L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 85.5 95 130 1445 135 L21 75 84.5 99 122 144.5 157.5 206.5 239 248
L22 81.5 98 108 124.5 558 180 235 264.5 275 L22 107.5 122 144 177 214.5 2425 311.5 359 388
c1t 46 70 100 100 130 165 215 215 235 c1® 46 46 70 100 100 100 130 165 165
c2! M4 M5 M6 M6 M8 M10 M12 M12 M12 @23 M4 M4 M5 M6 M6 M6 M8 M10 M10
c3' <8/<14? <14/ <15.875 [ <19° <19 <24 <35 <38 <42 <48 <55 c3® <12 <12 <16 <24 <24 <24 <32 <38 <38
cat 30 34 40 40 50 60 85 85 116 c4® 30 30 34 40 40 40 50 60 60
(ol 30 50 80 80 110 130 180 180 200 c5® 30 30 50 80 80 80 110 130 130
ce' 815 8 4 4 5 6 6 6 6 ce’ 285 &5 8 4 4 4 5 6 6
c7t 42 60 90 90 115 142 190 190 220 c7® 42 42 60 92 92 92 115 142 142
cs! 19.5 19 17 17 19.5 22.5 29 29 63 cs® 215 21.5 215 20 20 20 24 31 31
co' 133.5 154.5 170 196.5 245 287.5 369 413.5 478 co® 161.5 181 210.5 252 304.5 347.5 440.5 510 559
c10* 13.25 125 10.75 10.75 13 15 20.75 20.75 53156! c10® 145 145 15.5 13 13 13 16 21 21
B1 ne 5 5 6 6 10 12 14 16 18 B1 ne 5 5 6 6 10 12 14 16 18
H1 15 18 20.5 24.5 25 43 585! 59 64 H1 15 18 20.5 24.5 25 43 B5E5! 59 64
1.C1~C10 AAHBEMER T, 3.C1~C10 AAH BEMERT .

2.ZT065 FLM1 $24f C3 < 12 ##%; ZT075 FLM1 324 C3 < 12 #%#%; ZT075 FLM2 324 C3 < 15.875 i&#%,
141 142



IREREIRGENY / 7T/72TB K3 / /MEERF

ZT-FL | ZTB-FL 5= =+ nstirsso
1 I—L<&.| _ﬁ
@\
e B —‘E — ©
) _0'«,3 o | ~

D15

W S1 g3

C6

@D14

@D12

B, X9 DIN6885/1 hife

Y

{
T
|

{y
>

@C5
2C3 m
L

act c2
©,
N — ®
sl 8l &8
8| 8| §
®
®
Lo} ®
L2 | L4 L4
L7 L7
L8 L8

|

L1

oLt

L1

*ZTB RIIMR S zT Z5IHEE .

(Bfi: mm)

ZT110 FL ZT140 FL ZT170 FL ZT210 FL ZT240 FL ZT280 FL
D1 M8 M10 M12 M16 M16 M16
D3 ks 22 32 40 50 55 60
D4 7 108 135 165 205 235 275
D5 53 68 83 104 124 144
D6 M8 M12 M16 M16 M16 M20
D7 33 47 55 75 85 110
D12 106 104 128 160 180 200
D14 108 135 165 205 235 275
D15 107 106 130 158 178 198
L1 110 140 170 210 240 280
L2 40 50 60 75 85 110
L3 15 15 15 20 25 25
L4 2 2 2 2 2 2
L5 32 45 50 70 80 100
L6 4 2.5 5 2.5 25 5
L7 72 87 102 127 147 167
L8 112 137 162 202 232 277
L9 7.2 10 12 12 12 15
L10 19 28 36 36 36 42
L11 4y 55 67 85 95 110
L13 15 15 15 20 25 25
L21 136.5 159.5 183.5 226 269 278
L22 191.5 229.5 268.5 331 389 418
c1’ 46 46 70 70 100 100
c2* M4 M4 M5 M5 M6 M6
c3* <12 <12 <16 <16 <24 <24
c4" 30 30 34 34 40 40
cs" 30 30 50 50 80 80
ce" 35 35 8 8 4 4
c7' 42 42 60 60 92 92
cs* 21.5 215 215 21.5 20 20
co* 268 321 375 457.5 529 578
c10" 14.5 14.5 15.5 15.5 13 13
B1he 6 10 12 14 16 18
H1 24.5 35 43 53.5 59 64

4.C1~C10 ARHBXMERT,

143

IZFEREIRIENE / 7T/2TB R4 / SMEE R~

ZT-FL1/FR1/ ZTB-FL1/FR1

SERIES

7 (875, MEb i=1~5)

ZT-FL1/ZTB-FL1

L11

L11

L13

c10

2c1

r_l
1
[
]

— HE s1

2D4
@D5
2D7

L2

2D4 7

| 2D3 s

ZT-FR1/ ZTB-FR1

C4
C6

@C5
2C3

D12

c8

LU L2
) o]
Biw A~
€0y i
D6 b s
203 O i o
[
(HdBH)
T e
oLt
< L11 L11
a
S
Q, Q
a 1 N
o—.
\__//
==
10}
\[ot
L22
co

*ZTB RIIMRT S ZT R5IHEE.

(Bf: mm)

R~ ZT065 FL1/FR1  ZTO075 FL1/FR1  ZT090 FL1/FR1 ZT110 FL1/FR1 ZT140 FL1/FR1 ZT170 FL1/FR1 ZT210 FL1/FR1 ZT240 FL1/FR1 ZT280 FL1/FR1
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 «6 13 16 18 22 32 40 50 55 60
D4 7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D12 62 72 86 106 104 128 160 180 200

D14 n 63 73 88 108 135 165 205 235 275
D15 62.9 72.9 87 107 105 130 158 178 198
L1 65 75 90 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 75 85 110
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 2.5 5 2.5 2.5 5
L7 475 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 45 48 48 7.2 10 12 12 12 15
L10 10 125 125 19 28 36 36 36 42
L11 27 30 36 4y 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 85.5 95 130 1445 135
L22 81.5 98 108 124.5 155.5 180 235 264.5 275
c1° 46 70 100 100 130 165 215 215 235
c2° M4 M5 M6 M6 M8 M10 M12 M12 M12
c3® <8/<14° <14/<15.875/<19° <19 <24 <35 <38 <42 <48 <55
c4® 30 34 40 40 50 60 85 85 116
c5° 30 50 80 80 110 130 180 180 200
ce° 285 8 4 4 5 6 6 6 6
c7° 42 60 90 90 115 142 190 190 220
cs® 195 19 17 17 19.5 225 29 29 63
co® 133.5 154.5 170 196.5 245 287.5 369 413.5 478
c10° 13.25 135 10.75 10.75 13 15 20.75 20.75 53.5
B1 no 5 5 6 6 10 12 14 16 18
H1l 15 18 20.5 24.5 25 43 53.5 59 64

5.C1~C10 AAH DEMERT .
6.ZT065 FL1/FR1M1 $24f C3 < 12 #%#%; ZT075 FL1/FRIM1 i2f# C3 <12 i&#¥; ZT075 FL1/FRIM2 i2fft C3 < 15.875 &%,
144




IREREIRGENY / 7T/72TB K3 / /MEERF

ZT-FL1/FR1/ ZTB-FL1/FR1

SERIES

] (35, mEL i=7~50)

ZT-FL1/ZTB-FL1 ZT-FR1/ ZTB-FR1

IZFEREIRIENE / 7T/2TB R4 / SMEE R~

L3 oLt L3
L11 L11 D1 L L2
o1
Heo B © o]
= I ™
B = i
- =1 7‘5 Biw 1
5 i N
7 o - o | i 4 - o |
'! D6
W st -0 TR 203
(M)
i i
! == o
o v ROl
© oLt
oc7
2Cc1 c2_ | G4 : L11 L11
ce_| 8
% e . 9
o =
il gl s o sl il sls 8 717
g8 & ) gl 8| g| &8l P
o) 7 N o) L
L2 | La cs L21 101
L7 L7 L22
Ls co
*ZTB RIIMR~T5 ZT Z5#E[ . (841: mm)

R~ ZT065 FL1/FR1 ZT075 FL1/FR1 ZT090 FL1/FR1 ZT110FL1/FR1 ZT140 FL1/FR1 ZT170 FL1/FR1 ZT210 FL1/FR1 ZT240 FL1/FR1 ZT280 FL1/FR1
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 ks 13 16 18 22 32 40 50 55 60
D4 n7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D12 62 72 86 106 104 128 160 180 200
D14 w7 63 73 88 108 135 165 205 235 275
D15 62.9 72.9 87 107 106 130 158 178 198
L1 65 75 90 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 75 85 110
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 2.5 5 25 25 5
L7 47.5 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 4.5 4.8 4.8 7.2 10 12 12 12 15
L10 10 12,5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 75 84.5 99 122 144.5 157.5 206.5 239 248
L22 107.5 122 144 177 214.5 2425 3115 359 388
c1’ 46 46 70 100 100 100 130 165 165
c2’ M4 M4 M5 M6 M6 M6 M8 M10 M10
c3’ <12 <12 <16 <24 <24 <24 <32 <38 <38
cy’ 30 30 34 40 40 40 50 60 60
cs5’ 30 30 50 80 80 80 110 130 130
c6’ 3.5 3.5 8 4 4 4 5 6 6
c7’ 42 42 60 92 92 92 115 142 142
cg’ 21.5 21.5 21.5 20 20 20 24 31 31
co’ 161.5 181 210.5 252 304.5 347.5 440.5 510 559
Cc10’ 14.55 14.5 15.5 13 13 13 16 21 21
B1ne 5 5 6 6 10 12 14 16 18
H1 15 18 20.5 24.5 35 43 53.5 59 64

7.C1~C10 ALNFIBEMBER T,

145

ZT-FL1/FR1/ ZTB-FL1/FR1l =°
- = 75l (%5, it i=75~500)
ZT-FL1/ZTB-FL1 ZT-FR1/ ZTB-FR1
L3 oLt L3
L11 L11 D1 L4 L2
He ] ° o]
5 T V o @, {XIB DING8S5/1 FfE 1 p = _
i Lo © o | E]Fﬁ, ol o]
V! D6
W S1 1203 wmws2 203 4
(L)
j
° acr oLt
@c1 c2 =z L11 L11
o -
&) /\\g, LI
=1l = an o 2
z 8| & 5] 8| = 8 8l f l__
gl 8| & o s} 8| 8 &‘ ] J = Y/
| 8 [ d ==
) %
L2 L4 Cc8 L21
L7 L7 L22
L8 co !

*ZTB RIIMRT S ZT R5IHEE.

(Bfi:

mm)

ZT110 FL1/FR1 ZT140 FL1/FR1 ZT170 FL1/FR1 ZT210 FL1/FR1 ZT240 FL1/FR1 ZT280 FL1/FR1
D1 M8 M10 M12 M16 M16 M16
D3 ks 22 32 40 50 55 60
D4 7 108 135 165 205 235 275
D5 53 68 83 104 124 144
D6 M8 M12 M16 M16 M16 M20
D7 33 47 55 75 85 110
D12 106 104 128 160 180 200
D14 108 135 165 205 235 275
D15 107 106 130 158 178 198
L1 110 140 170 210 240 280
L2 40 50 60 75 85 110
L3 15 15 15 20 25 25
L4 2 2 2 2 2 2
L5 32 45 50 70 80 100
L6 4 25 5 2.5 25 5
L7 72 87 102 127 147 167
L8 112 137 162 202 232 277
L9 7.2 10 12 12 12 15
L10 19 28 36 36 36 42
L11 44 55 67 85 95 110
L13 15 15 15 20 25 25
L21 136.5 159.5 183.5 226 269 278
L22 191.5 229.5 268.5 331 389 418
c1® 46 46 70 70 100 100
c2° M4 M4 M5 M5 M6 M6
c3? <12 <12 <16 <16 <24 <24
c4® 30 30 34 34 40 40
cs® 30 30 50 50 80 80
ce® 35 35 8 8 4 4
c7® 42 42 60 60 92 92
cs® 215 215 21.5 215 20 20
co® 268 321 375 457.5 529 578
c10° 14.5 14.5 15.5 15.5 13 13
B1no 6 10 12 14 16 18
H1 24.5 35 43 53.5 59 64

8.C1~C10 ANFIBXMER T,

146




IREREIRGENY / 7T/72TB K3 / /MEERF

IBERERIRGENY / 7T/72TB KF / SMEER~F

Z I I I I Z I B I H = Z I FH ZTB FH SERIES
- - 4 b : - - 4 ey f
#75 (835, BEL i=1~5) =5 (RE . L i27-50)
L3 ou L3 L3 oL L3
L11 L11 D1
L11 L11 D1
VT >
1o u P 2
= Lo =9 é - L33 A | I L24 H
5 - | | 8 bt ]
5l g % > 18 P b
® ‘o .- ol
— B ol
ol [}
[}
H H D15
ﬁ:i%:'_
&.
"E* D15
5
Oiﬁ
oo7 ou oL
c4 . L11 L11 aor o
201 ez z | .
\ (o] a H3 . 2 o s
= 8 = - =
10 g
1% \,,
! o B \
}{ o 5 \Zv
38l 8 5l gl 3 sl s 8 5 F ) .
8 e R S to 2l el w el 2 w0 [S]
& Q 5 g s %] &8 8 g &l
5
| S % : |
- Ll cgl Lt
< S . cy L21
L7 L7 —,
| &, #0R DINGBSS/1 7tk
N / - = L | 5. 40 DINeBss/1 17
co

*ZTB RAMR TS zT Z5IHERE ., (Bfi: mm) *ZTB RIINR TS zT Z5IHEE ., (BfA: mm)
ZT065FH ZT075FH ZTO090FH ZT110FH ZT140FH ZT170FH ZT210FH ZT240FH ZT280FH ZT065FH ZT075FH ZT090FH ZT110FH ZT140FH ZT170FH ZT210FH ZT240FH ZT280FH
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16 D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D2 wr 13 14 18 22 32 40 50 55 60 D2 wr 13 14 18 22 32 40 50 55 60
D4 7 63 73 88 108 135 165 205 235 275 D4 7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144 D5 31 35 43 53 68 83 104 124 144
D7 21 22 28 33 47 55 75 85 110 D7 21 22 28 33 47 55 75 85 110
D12 62 72 86 106 104 128 160 180 200 D12 62 72 86 106 104 128 160 180 200
D14 h7 63 73 88 108 135 165 205 235 275 D14 w7 63 73 88 108 135 165 205 235 275
D15 62.9 72.9 87 107 105 130 158 178 198 D15 62.9 72.9 87 107 106 130 158 178 198
L1 65 75 90 110 140 170 210 240 280 L1 65 75 90 110 140 170 210 240 280
L3 13 14.5 15 15 15 15 20 25 25 L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2 L4 2 2 2 2 2 2 2 2 2
L7 475 54 62 72 87 102 127 147 167 L7 475 54 62 72 87 102 127 147 167
L11 27 30 36 44 55 67 85 95 110 L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25 L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 85.5 95 130 1445 135 L21 75 84.5 99 122 1445 157.5 206.5 239 248
L22 81.5 98 108 124.5 155.5 180 235 264.5 275 L22 107.5 122 144 177 2145 2425 3115 359 388
L23 40 47 52 53 70 80 95 115 115 L23 40 47 52 53 70 80 95 115 115
L24 30 32 35 35 50 55 65 80 80 L24 30 32 35 35 50 55 65 80 80
c1° 46 70 100 100 130 165 215 215 235 ™ 46 46 70 100 100 100 130 165 165
c2° M4 M5 M6 M6 M8 M10 M12 M12 M12 c2" M4 M4 M5 M6 M6 M6 M8 M10 M10
c3? <11/<12"° <14/ <15.875 [ <16™ <19 <24 <32 <38 <42 <48 <55 c3" <12 <12 <16 <24 <24 <24 <32 <38 <38
c4° 30 34 40 40 50 60 85 85 116 cut 30 30 34 40 40 40 50 60 60
cs’ 30 50 80 80 110 130 180 180 200 cs™ 30 30 50 80 80 80 110 130 130
ce’ 35 8 4 4 5 6 6 6 6 ce' 35 35 8 4 4 4 5 6 6
c7’ 42 60 90 90 115 142 190 190 220 Cra 42 42 60 92 92 92 115 142 142
cs’ 19.5 19 17 17 19.5 22,5 29 29 63 cs" 215 21.5 215 20 20 20 24 31 31
co’ 133.5 154.5 170 196.5 245 287.5 369 4135 478 cot 161.5 181 210.5 252 304.5 3475 440.5 510 559
c10° 13.25 135 10.75 10.75 13 15 20.75 20.75 53.5 cio* 145 14.5 155 13 13 13 16 21 21
B3 po 5 5 6 6 10 12 14 16 18 B3 po 5 5 6 6 10 12 14 16 18
H3 15.3 16.3 20.8 24.8 35.3 43.3 53.8 59.3 64.4 H3 15.3 16.3 20.8 24.8 35.3 433 53.8 59.3 64.4

9.C1~C10 AAFIZEMBR Y.
10.ZTOB5FHM1 244 C3 < 12 3&#%; ZTO75FHM1 124t C3 < 16 3E#¥; ZT075FHM2 12{# C3 < 15.875 3E#%,

147

9.C1~C10 AAFIBIXMERT

148




IREREIRGENY / 7T/72TB K3 / /MEERF

- - — .
Z I Z I I #75 (=75, IR&ELE i=75~500)
L3 oLt L3
L11 L11 D1
L~
1.6 .
L2§ }LZA (\Il
5 -1 1 | 8
=
R
“18 R D,
i Q ©
©
°t
@D15
°lﬁ e
S
oc7 C4 L11 N L1
2c1 e ce 3 L |— 6, KPR DINGSSS/1 4ot
=]
S|
&, \%
o
= T ® = a
HERS 5l 8 & sisl 8 !
a8 & ° |l 8| § [SYAS]
N @ . o
Q & >
[of:] L21
e Wl
L22
L7 L7

c9

*ZTB RIIMR S zT Z5IHEE .

(Bfi: mm)

ZT110FH ZT140FH ZT170FH ZT210FH ZT240FH ZT280FH
D1 M8 M10 M12 M16 M16 M16
D2 wr 22 32 40 50 55 60
D4 7 108 135 165 205 235 275
D5 53 68 83 104 124 144
D7 33 47 55 75 85 110
D12 106 104 128 160 180 200
D14 n7 108 135 165 205 235 275
D15 107 106 130 158 178 198
L1 110 140 170 210 240 280
L3 15 15 15 20 25 25
L4 2 2 2 2 2 2
L7 72 87 102 127 147 167
L11 44 55 67 85 95 110
L13 15 15 15 20 25 25
L21 136.5 159.5 183.5 226 269 278
L22 191.5 229.5 268.5 331 389 418
L23 53 70 80 95 115 115
L24 35 50 55 65 80 80
c1* 46 46 70 70 100 100
c2* M4 M4 M5 M5 M6 M6
Cc3* <12 <12 <16 <16 <24 <24
cu*? 30 30 34 34 40 40
Cc5* 30 30 50 50 80 80
Cc6" 35 35 8 8 4 4
c7* 42 42 60 60 92 92
cs*” 21.5 215 21.5 21.5 20 20
[elha 268 321 375 457.5 529 578
c10* 14.5 145 15.5 15.5 13 13
B3 po 6 10 12 14 16 18
H3 24.8 35.3 433 53.8 59.3 64.4

12.C1~C10 ANFIZEFERT .

149

IBERERIRGENY / 7T/72TB KF / SMEER~F

ZT-FC | ZTB-FC &~

]

(&

15, RGEL i=1~5)

L

L

DD4 r7

L3 D1

L26
L25

24

D17

@D18

202 16

D3 rs
D2

@D3 re

DD4 r7

L4 L2

2C5

*ZTB RIIMRT S ZT R5IHEE.

(Bf: mm)

ZT0B65FC ZTO75FC ZT090FC ZT110FC ZT140FC ZT170FC ZT210FC ZT240FC ZT280FC
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D2 s 13 14 18 22 32 40 50 55 60
D3 s 16 16 22 25 44 50 62 68 75
D4 7 63 73 88 108 135 165 205 235 275
D12 62 72 86 106 104 128 160 180 200
D14 63 73 88 108 135 165 205 235 275
D15 62.9 72.9 87 107 105 130 158 178 198
D17 26 26 36 38 61 70 86 86 100
D18 41 41 50 50 80 90 110 115 138
L1 65 75 90 110 140 170 210 240 280
L2 14 14 18 18 24 26 29 29 30.5
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L7 475 54 62 72 87 102 127 147 167
L8 66 725 85 95 116.5 133.5 161.5 181.5 205
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 85.5 95 130 1445 135
L22 81.5 98 108 124.5 155.5 180 235 264.5 275
L23 15 15 20 20 26 28 31 31 325
L24 15 15 20 20 26 28 31 31 325
L25 15 15 195 195 25.5 27.5 30.5 30.5 325
L26 18.5 18.5 23 23 29.5 315 345 345 38
c1® 46 70 100 100 130 165 215 215 235
c2* M4 M5 M6 M6 M8 M10 M12 M12 M12
c3*® <11/<12* <14/<15.875/<16™ <19 <24 <32 <38 <42 <48 <55
cu® 30 34 40 40 50 60 85 85 116
c5* 30 50 80 80 110 130 180 180 200
c6® 35 8 4 4 5 6 6 6 6
c7® 42 60 90 90 115 142 190 190 220
cs* 195 19 17 17 195 22,5 29 29 63
co* 133.5 154.5 170 196.5 245 287.5 369 4135 478
c10® 13.25 13.5 10.75 10.75 13 15 20.75 20.75 53.5

13.C1~C10 AAHBIEMERT .

14.ZTO65FCM1 24t C3 < 12 i%&4¥; ZTO76FCM1 #2fit C3 < 16 i%£4¥; ZTO75FCM2 #2fit C3 < 15.875 i&#%,

150




IREREIRGENY / 7T/72TB K3 / /MEERF

ZT-FC /| ZTB-FC

SERIES

#5 (3R¥5, REL i=7~50)

L3 oLt L3 D1

L11

Li1

2D18|

2D17|

AL

L13

taiu 2D15

@D4 n7

D3 s

D2+,

2D18

(@D2 14|

D3 s
D4 7

C4
C6

D14 17

2D12

@C5
2C3

Cs|

v T e

L1

oLt

c9

IBERERIRGENY / 7T/72TB KF / SMEER~F

*ZTB RIIMR S zT Z5IHEE .

(B :

mm)

ZT0B65FC ZTO75FC ZT090FC ZT110FC ZT140FC ZT170FC ZT210FC ZT240FC ZT280FC
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D2 e 13 14 18 22 32 40 50 55 60
D3 e 16 16 22 25 44 50 62 68 75
D4 w7 63 73 88 108 135 165 205 235 275
D12 62 72 86 106 104 128 160 180 200
D14 7 63 73 88 108 135 165 205 235 275
D15 62.9 72.9 87 107 106 130 158 178 198
D17 26 26 36 38 61 70 86 86 100
D18 41 41 50 50 80 90 110 115 138
L1 65 75 90 110 140 170 210 240 280
L2 14 14 18 18 24 26 29 29 30.5
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L7 475 54 62 72 87 102 127 147 167
L8 66 725 85 95 116.5 133.5 161.5 181.5 205
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 75 84.5 99 122 1445 157.5 206.5 239 248
L22 107.5 122 144 177 2145 2425 3115 359 388
L23 15 15 20 20 26 28 31 31 325
L24 15 15 20 20 26 28 31 31 325
L25 15 15 195 195 25.5 27.5 30.5 30.5 325
L26 18.5 18.5 23 23 29.5 315 34.5 345 38
c1® 46 46 70 100 100 100 130 165 165
c2* M4 M4 M5 M6 M6 M6 M8 M10 M10
c3® <12 <12 <16 <24 <24 <24 <32 <38 <38
cyu'® 30 30 34 40 40 40 50 60 60
C5" 30 30 50 80 80 80 110 130 130
c6* 35 35 8 4 4 4 5 6 6
c7® 42 42 60 92 92 92 115 142 142
c8* 21.5 215 21.5 20 20 20 24 31 31
co* 161.5 181 210.5 252 304.5 347.5 440.5 510 559
c10® 14.5 145 15.5 13 13 13 16 21 21

15.C1~C10 ANFIZEMERT .

151

ZT'FC / ZTB'FC %IE?ITIES (=%, RE i=75~500)
e I — 4 vy
| &

L11

L11

D18

D4 n7

@D3 s

FDZ He

@D15

D17 ‘
@D18

D2 i
@D3 s

@D4 n7

@D14wm

@D12

@C5
Z{i

C8

*ZTB RIIMRT S ZT #5148

1|

°

(Bf: mm)

ZT110FC ZT140FC ZT170FC ZT210FC ZT240FC ZT280FC
D1 M8 M10 M12 M16 M16 M16
D2 s 22 32 40 50 55 60
D3 s 25 44 50 62 68 75
D4 7 108 135 165 205 235 275
D12 106 104 128 160 180 200
D14 7 108 135 165 205 235 275
D15 107 106 130 158 178 198
D17 38 61 70 86 86 100
D18 50 80 90 110 115 138
L1 110 140 170 210 240 280
L2 18 24 26 29 29 30.5
L3 15 15 15 20 25 25
L4 2 2 2 2 2 2
L7 72 87 102 127 147 167
L8 95 116.5 133.5 161.5 181.5 205
L11 44 55 67 85 95 110
L13 15 15 15 20 25 25
L21 136.5 159.5 183.5 226 269 278
L22 191.5 229.5 268.5 331 389 418
L23 20 26 28 31 31 325
L24 20 26 28 31 31 325
L25 195 25.5 27.5 30.5 30.5 325
L26 23 29.5 315 34.5 34.5 38
c1® 46 46 70 70 100 100
c2'® M4 M4 M5 M5 M6 M6
c3*® <12 <12 <16 <16 <24 <24
cu® 30 30 34 34 40 40
C5" 30 30 50 50 80 80
c6™ 35 35 8 8 4 4
c7® 42 42 60 60 92 92
cs*® 215 215 21.5 215 20 20
co' 268 321 375 457.5 529 578
c10* 145 14.5 15.5 155 13 13

16.C1~C10 AAHBIXIER T,

152




AL

EHlARSS




